Z2Syooooooono
sinisininlnlnlin

20120 20

0000 000 00000
00 MO 00 MO
(DO 0D 08380112) (0D OO 08380554)



010

020
2.1

2.2

030
3.1
3.2

040
4.1
4.2
4.3
4.4
4.5
4.6

0s50
5.1
5.2
5.3
5.4
5.5

Uel

g

000000000000
OO0 © o oo e e
211 000000 .ot
212 00000000 .« . oot v e
213 000000 . . oot e,
OO0O00 .« .ot e
221 00000000 .« o oot v,
222 OO0 . .0t
223 OO . o0,
224 ~NOO . oo
225 BO0 . o

gboobbooboboooboob

100000000 ..o e
UODO0OOOO0O0 .. e
321 0O00O0O1000000DOODOOOOOnD @000,
322 0O0O00DOO0OODOO ... o oo

ooooooo
000000000 A,000000 ...
00000000 . . o e,
00000000000 .« .« o oo
B nOO000 . o oo
C, OOOO0 .ot
n 0000000 .« o 0 oo o

g
O0o0&UboOOooopooobOoobboboobooooobooo
¥UOooOoUoOooOo pUb00O0OO0OO0OoOoOOoOoOooOooOGg. .. ..
UOO0D000000 .00
I
gobbbooooobbooooobobooooooboooog .. ...

goo

© oo oo o @

10
10
11
14
14
14

16
16
16
17
18

20
20
21
21
22
22
22

24
25
26
27
29
31

33



gooo
00
000 Mobbopg0o0oogoon

02 Moooboooood

34

35

36

72



0oooo
010 00

020 00

030 00

040 00

050 00

060 00

0o

00000 (719<A<109) 00

00000 (126 < A<154) MO
0000000D0000000 o000



10 o

20110 30 11ugbbuogbbuoobouooabboobooboooboobon
obobbooboboobooogooobobooboobobobooboon
ggobboboooobobooogooobon

obobooooboooobobbooobobobobooboboooobbobon
gigbooboboboboobooobboboboouooobbooobobbobbonon
godoboboobobooobboboobobooobooobooooobonn
gobobbougogbobbbobbooooboboobobboboobboboob
goobbooooooboobbooobobboobbobobooobobbon
gooobuobbobodboobdabooobbbbobobobogbbooboogao
0000000000000000000000000000000 B10 ¥ Cson
gboobuogoobbouoggobooodobobbiouogaooogn

00000000000 000000000000000D00DoDDODOD%Uu0O000
gbdodbogooobboobboboobboobbuoobbobibbub «000
0000000200000 00000000DOO00DODOOOOODDODODOO
gboboboogoouoobobboobboodboooooboboobobbobooo
goooboobbooooooobboboobobooobboboobobon
OO0000o0O0o0oooOooOO DNADODOOUODODOOOOOODDOODDOOO
O0OO0DO0O0O0ODNADOOODODODOODODDOODOOOODOooOoODOoOOoobboOobDDbOoo
gboodgbbbbobuooouooboboobobbbbbooobbbobboogn
gbhogooboooobooooboboooooobooooooooooobbn

gogbgoobbbboboobobobobobboubooobobooboobo
000000 (0000000000000 o0oooO00oooDooOoooD)ooDO0
gobbobbbbooboduoooououobbooouobboobob oooooaon
guogbobooboogboobbbbooobooobobbooboboooobo
00000000000 (DODO0O0000D00oooooooO0oOOooooODoOOgo
00 000000000000 000)00000mOo0o0o0o0oooooooo
gobobdobuboobobbobbooobobbbobuoooobbbbboooo
gogbogbbbbobboboooobbobbbdoooooouoboooobo
gogouggbbboougboobbobobobbooubobbbbboboboo
bbb ooooooobobbobbboobooouobobobobboooobbobobo
gogbbouoguboboomugoobbooobobboooouoboobn
goboboobobooooobobo o0 kmboooooooboboobooboboboon
gboodbubbobboodoouboobbooboooooobbbbboooga
Ooobooobbobooboboboboobbo D kmdbooobo0ObOO0OO0DOOoOoOong



gobbooboubodobobbbbbbooooboboobbbboooobooon
gobogogbboguobobooboobbobbboooooboobobooon
gboobobbbdooooobobuoboboboboouoooobooooboboobo
godbbbooobooogooboooboubbboobaobooboaan
gogoodoobbbbbbodooooobobbbbbouooobobobbbooadgao
gobbobobobgogbgooboobouoboobooobbboooooooobg
gbobbboguoogbooboobuoobbbbobdobooooobbobboon
000000 U000000000000000000000000000000
gbbotodbbodbuodoouobooobodobuooboobobbooobon
gboboouoooobbobboobbobbbooubobbooouooboooboon
gbobobbboooboooobobouoobbobbodgoooboobobg
000000000000000000 ¥CsOOOoooooooooooooooa
gbooboobboobbooobobuoobooboobboooooobobbo
gbobgobbbboboooobooboboobbouobooboobbbuoboooon
obgobogobbobboobobboobbooboobboobobobbon
gobbboobibooobobououbooooboboobbbooobobobobd
obooggg
gobgooobbboouoooooooboboboouboooboobboon
0000000000000000%U00000000000000000000
gobobboobobooboboooooboboboboobobooobbooobbooboob
oboooooooboboooobopb0ob0oooooooboboobOoooonDo
gobboobooooogbobobuoooobbbouoobobobooobobooobobo
ooogoobobbbobbobooobooboobobobbooobobbon
gobbbobbboobbobbooooboboobooboboooobooboboon
gobbbbobooooboobbbobooobobobobobboboooooon
goboboobobooogbbobbbboooouobobbooooobobbbo
gobobooboooooooooboooobboobobobobooooobobobon
gbooboooooon
O0000000000000000 (becquerel, [Bq)ODOOODODDOOOOODDOODO
g 1l1obog1l1bobboobbboduooboooonoobobbouooon
gobobobobbbodoobooboobobbooooooobbooboobooon
gbobbooboooobboobobdooouooooboooobouobooboboob
00000000000 000000000D00O0O0O0D00O O, gray, [Gy|]DOOOO
O00000000000000,sievert, [SV|0 0000000000 O0OO00OOOO00OO
gbogogoobbbobooboobbobboooubooooboboobon
gboboobboubbobuobbobobbouoobbobobobooooboboob
goobbbooobo
gbobbobobuoboogboobbouoooboobbobouooobooboo
goboobbbododoboobobboodoobooboobobobooboboon
gobbbobouboboobooboboboogoobbobboooobobbo
00000 ORunge-Kuttal [1]0 0000000000000 OOOOOOOOOO



godd

l. ogobobuboobbboobobobbooobb
gobbobobboobooobobooboboobouoobobobobooon
gobobogoboobbboobboobbbdubbbdobogoubbobobobo
goooo

2.00000bbbobboobbbOoo
gobbobbubdgbuouobooobboooboobboouobobob
gog

. 0b00ooboooogon
gobdodbuodugbbooobooouoobobuoouoboobobobon
gogoboogoooooboobouboboooboobobobbbobn
guoboogbooodn

gogodgobbobbogbobobobboboubogbobbobbooooann
gotobuugoooouobbbobuooooboobobbbouoobooobn
gbhbooogugogobobbbooabbooobbbobbouoooobonon
gbobgbobbbbooduboobbboobobooobbbobbbooooaon
gbogbooouooboogoobooobboobobboboooobbbbood
guogbbbbbdbbobooboobboooobooobbbobbboadao
gbobobobboogbobbbboobobboobbouoobbooboon
gogguodgbgoobobboooobbbbbobooobooboobbboobob
guogogbbobuooouboobooobbouoddgoooooobboouogogon
gbbbuodoobbobodobobbobbbbboooboboooon
O0D0Runge-Kutta OO DODOUOODODOOOOOOOOOOOODOOODOOOOO
gbobbbobooobbuooooobbobbbobbbbobouoboboobbo
gbdbguouooboobbouoouoooobooboobooobbobboon
gogodboboodano
gobboboduooboobobbuobbooooouoobbooooabboon
OOooooO0owEBOOODODOODODOOOOODOOOoDOOoOOoOOooOOooooDOoO
ooo0bOooobooooboooobboooboboooobooocCcoboobooo
Dobooobobooouooboboobbbobooogoooobboobbogy
gbbobooobogobbboooboobboooobbobboobobbon

1. 3U000000000000000000000000O
OpoO000boobooboOobobobOoDO

2.p0000000ODOODbObObDObOObDODD

000000000000 O0 National Nuclear Data Center (NNDC)O OO OO OO
000 2000000000000 NNDCOOOOO nuclear chart0 0O [3] 0000
0oo0ooooooboboooooooooDoobooopoU0ooOoobOooOoo
0000000000000 000000000000000D0oDooOOO0 (Dooo

6



D0000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000NNDCOO0000000000000000
00000000000000000000000000000000000000
0000000 JENDL/FPD-20000 0000000 122000000000) 400
0o0oooo

0000000000000000000000000000000000000
0000000000000000000000000000 FAQOOOOOOO
0 tokai-nde-FAQ@jaca.go.jp0 000000 00000000000000000O0
000000000000000000 JENDL/FPD-20000 00000000000
00000000000000000000000000000000000000
00000000000

000000000000000000000000000000000000 00
00000000000000000000000000000000000000
0000000000000 0000000000000000000000000
000000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
0000000000000 0000000000000000000000000
00000000000000000000000000000000000000
D0000000000000000000000000000000000000
0oooo0o0oo

0000000000000000020000000000000000000
000300040000000000000000000000000000050
000000000000000600000000000000000000000
0D000RO0O000000000O0000000N0MO000O0NON0ONNN000O
000000000000000000000000000000000000 CO
000000000000000000



20 0ODU0doddodtdtgn

000000000000000000 [5),6,[71]0000000

2.1 0O0OO

211 0O0O0ogd

911o0dgoobabbobbobbuobdbbboobobobobooboubbobn
bbb «0bboooogbbobobobobogooonoooobooboobn
goobbbbbobbdoouoboooobboboouooobobboboodao
gobboobouoouuboooboboooubogobooboobob 100
gilgbubdodggbbuooobobouoooobobubobobooon

gboogbobobbodgobugbboboobobuogolibooboooooon
0000000000000000 1.602176565x107" Y 0000000000000
000000000000 OOO0bLObObOoOobOoOobOobOD zobooobooooo
b0 zZoobooooooobooboooboboooo

212 00O00O0O0O0OO

v2000bb00oooobobbobbbbboooobbooobbooonon
gboboubbbobbboobbbbuobobobooobbobbobooobombn
gboobogbdbobooobboobuobboooobboboobbboboaon
gb19320b000bugubobbobboubobouooooobbobbobbon
goobobobboobogboobooooobogobbobuoobooboobbooogo
gogbobbobbuouoogobbbbobbbuoobodgoobbobooboogn
0000 mp, ~1.0073u0 0000000 m, ~1.0085ul0 000000 vOOO0OO0O0O
O0000wOO2CoO0000 100000 %DDDDDDDDDDDDDDDD
1u=1.660538921x10"2"kg 0 0 O O

gboboboobbobbobdobuouobooooobuoobboboobbobobaobo
goooooboobooobooooboooobooooo b zooogbooog N
O0bOoOOo0o0oobo0o0ooOo0o0obO0oO0bOOobD ADoOooboOoooooboboOoooo
OOo0O0o0obobO0obOObOobOoobzOoNUDAOOUO20000000O0DODOOOOO
goodabbboouogboobbbbbobobodoooboobobbobboban
goooogubdbdgboooboobuobbuobbodooobouoobboboon
gbboooobooboobobboboboobboabobd



21.3 0OO0O0O0OOO

gbooodguoogobogbbbuobbooboobobboooobuooooooo
Oooboooooobobobooooboob o000 o PO0DO0 MODODOOD
OO0 c¢cO000 (21)00000000000ODODOOO0OO

E = Mc (2.1)

00c00000000000000000000000000000000000
000000000000
0000000000000000(00000000)000000000000
00000000000000000000000000000000000000
000000000000000000000000000000000000000
0(0000000000000000000)000000000000000000
00000000000000000000000000000000000000
D000000000000000000000200000000000000000
0o [9)0

gbooodgbboobood

gobobobbodooobbooouoboooobbbodaboboboboooo
gbobobbdobuogobobuoboogboobuobbooboobboboobo
gobboudbobooobbbdboooobobbbooooooboooan
goobobobbuouogbogoubooooooboooboboooooonobon
gboogbobbbooobooobbbobuobouodoobbooboooobod
guodbogobbobbbobbbodogobooobbobbobooooboago
gbobobbbdgbutouoooooobbboooouooooobboooobn
000000000 (000)OOoOoooooooooooUooooooooooo
gobobbbodooooououbooobbobbobboooooobooobobo
gobdboboooobogbogbobadeobnobbbobboobobadsen
gobbooobobbouobbobbooobboobuoboooooon
gogboboogbobbooboouooooboobooooboboboboobbood
goo

M(Z,N) = Zmy + Nm, — B(Z,N)c* (2.2)
B(Z,N) = a,A — a,A% — a,Z°A™5 —a;(N — Z)?A" + 6(Z, N) (2.3)

(22)000 M(N,Z)000000000000my0 Z0000000 m,0 NO
0000000000000000000000000000000 B(Z N)O0OO
00000000000(3)0000000000000000000000000
00000000000000000000000000000000000000
0O 6000000



(23)000000D0O000DODOUO0O0 {DODUDOLUODUODDUODDOUODODOOD
gboobobogogouoboboboobodobooboobbboouobbon

a, = 15.835, a5 = 18.33,a, = 0.714, a; = 23.20
112472 : Z, NOOODOOODO
§(Z,N)={ 0: ADD0O0D00O (2.4)
~1124":: Z, NOOODOOODO

gboooooobooouoobobobobooobbobobbooooobbo
oobobobooooooooboboobboooboooooooboobbDbOo 2
00000 NOOOODODOOOOOODOODODOODDOOODOOOO (boooooo)o
ooooooooooobuoooogoooooooboboobooboboooboobo
0000000000000 00000oo looooon

goo

goboobboooooobbobbboobbobbooooooboooobobg
gogdggbobbobbdooobbobbobobbuoooooooboboooooann
gogoobodbooboooooooobobooobboobobboboooaon
gobbobooooououoobobbouoobbobboboboooboobon
D0bO00bgboon 20802002805008201260 000000 2080000000
gbbouboduobooooobbooobboobbobobboobobbon

gooboobodgbbgbbooboobbleouoog948ubugogognod
OooooooooooboooooobooooooMoGhhooobonoooo
(0000000 |00000000000000000O0O000ooUoooooDoo
guoboboboooboboobbboboobobboobobbobobbooboaan
gobbbbdoogooboobbobbooooboboboobooobboboobo
Ooooooooooooooooooboboboboooboooobobboobopeod
OUO0O0O00O0000ODOO000000oOoobooObobbobooUUObOOon
gooobbobbbbboouobibbobbbboodbobooboobobn
000000 OboOo0ooobo0o0oooUooobooob00ooUooboboooooo
gbobbuooobobbouoobobbodogo

22 0O00O0OOO

221 00O0OO0OO0OOOO
oboooboon

godbobbboobogbgbbobboboouoobobobboooooon
0(00)00OoOO00O000o0o000000o0D 00 XO0OOOO0oOoooooooo

10



00000000000000000000000000000000000000
00000000000 700000000 (0000 (p)000 (e7)0000 (e7)00
0 (y)0aDO (¢)0000000 (vp)000000000000000000000
00000000000000000000000000000000000000
00000000000000000000 «000400040000000000
000000000

00000000000000000000000 40000000040000
00000000000000000000000000000a00 (HeOOO)O
D000000000000000 «0000000He0000 200000200
000000000000000000000000000000038000a000
D0000000000000000000000(000)00000+400000
00000000000000000000000000000000000000
00y00000048000«00000000000 1000000 2000000
00000000000000«000 40000000000000000000
000000000000000000000000000000000400000
000000000000400000000000000000

222 000
googdd

gobobobopolesubdoooogbogooogo 200d0g0booboobooogn
gboubogogbooo20bgobbobboobboboboboobobaobboaon
gbboboboboodobooobboooboobobboobboobuooooon
goboobogbuogogbbuoooobbooooboooboobobobbboobon
gopoboboobboooooobboboboooboobboobooboboobn
00 250,2pu2Pu,200000000000000000000000O0000O00O
0000000000000 0O0®U,22Th0000000

gbooogao

gobgbobododooboo20000oooboobbobboodoooobon
gbouobbbogbbooobbbuobuooooboogao

goooboboobbooooobboboboobooboobooooboaon
obooboboooobooboboboobbesioooob 4o 2000000
guogogbbobobbobioobobiboboobodoooboobbobooao
godbbbboodooooobuoobbooobbboobbbooooooon
00000000000000 210 20,1000000000000000000
00000000000000000O0 2000000

11



1 T T T T T
Attt St
0.01 | 55 T i il
ﬁ*tﬁ i i $ lﬂ# et
AT P =+ T
+ ++H \ + g*f +43+j+* +
0.000 T et
c n + _
g omop AT el LT
3 T T e BT o
35 ol M j+ﬁﬁim* o ey
< +
S 1e06 | %M*ﬁ**fi et L 4
e e, o Ty
%f SRR o . + oy s #
# o+ e A o+ L+ + o+
++t T H + B+ +re e
18-08 B N ++ i + + +++ + . . . N -
;ﬁﬁ+ﬁ tt + 7 N H g
4+ R N * ﬁ
¢++i T n N * ++f++H+
le-10 + M I R i i I g )
60 80 100 120 140 160 180

mass number

021:0000000%U0U10000000000000000

g 21go0boobobbobodooooboobobboboooooboobobon
gogoboo

3000000000000 00000000000 1.570000000000
gobobb2000000000000000000DOO0OOLODOOODLDDOOO
go0ooO0o0obo0ooooboobo0ooboobbobobooOopoobUoobbobDOoo
0000000000 %U,1000000 (D000D0)000000OoDOooOOooOo
gbogbbobbobbouboooobouoboboooooobooboboooooon
gogbdgobbodbodooouoooobbobouobooooobbobaoo
gopogobooo 220000

12



Commom logarithm of yields of fission products of 235U by thermal neutron

70 | | | | Tt
+ 4
65 Tk -2
60 - i .
- T - -3
25 F ++1J.+.+f" 7]
£ s0 _r:-l' —~F -4
c
L 45 T1E4H -
= 5
S 40 .
© -6
35 -
30 ¢ . ol M
o5 L | | | stable nuclei ~ + | 8

40 50 60 70 80 90 100
neutron number

022 0000000%U0U10000000000000000

U 22000000000000000000000000000000O0O00OO0
0000000000000 00 10000000000 10'000o00ooono 2.2
gobobbbobboogobobbboboouoboobobbobooogoann
goobobobuoobobbododboobuoobobooboobooa

gbooodgbn

0000000000000 000000000000000® 0000000
000000 U000000000000%®#0U0000000000000000
000000000000000000000000000O0®uo000o0ooon
gubdbbbboooooobobbbbbobouooobobobbuoooonbo
goobobboooobboobbbobbdooobbuoobboobooooboobobo
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDZfD
oboboboooobooobozZboboobooooobobooboboobobooobooboo

gbooboobbuogbbobbduouooobbbooboooboboobooon
goggoboobogdgboobobbbodooobooboboboobobboon
goduooboobbobboobbobobobobobbobobooboooao
0000002 U000000000065MeVOO0OO0OOOOOOODOO 6.8MeV
0000000000000000000000000000000 »U000o0o0

13



gbogdgobbdgbdgo

223 o000

0000000000 o000 (HeOOO)ODOOOOOODOOOOODOOODOOO
UooobobobodbHeODOO 200000 2000000000000000
Oooboo XgoboboooyYoouobtoebobOobbooooooobOoo

éX — f:;Y + 3He(a) (2.5)

cUbD00O000OO0OOODODDODOOOOODODOODOOOOOOoLObDObODbObbODn
cU0bOooboobobbobObbOOob0bOo0booboooboooobuoooboooa
Oobobooooboobboboooobboobouuooooooobooobobob «obo
guoooodobouoobbbboodooobooobobobobbuoooouoobuoobo
goooboouboougooooon

2.2.4 ~0O0

000000000000 0O000O0ODO0DO0OO0ODO0O00ODODOO0OO (vO)
gutbogouobodguygooobbbbbbobbouoooouboobood
Oogooboobooboooobooboooobobbooboboboobboon
gbobobobbouoogoobbobbouobuooboobobobboobooooaoo
ooboodn

~OOoooboooogbboobooobboobooooobboboobobbobn
gogobobboogbobbbooooouooobboobbboooooooboobooon
0000000000000 0ooo0o0oooooooooooO)ODo0oogo
gboooobbbobooooooooobbooooobobboobooooobo
godogboboubobboobbbbboboooobooboobbouboogn
goooobbooboboboooobobbbooooo

2.2.5 £00

g-O000pt000(00)00000000000000000000000000
OoDOoOoooopgooooDooon

3000

gO00000 pO0OOO0DOO0OOOO0OOOOOOOOOOODODOOODDOODOOO
ooboboboobobbobooboooboboooooboobobooobooobobon
Oo0O000o0zZO0oOoooOoDOOoOooOoooDbOooobO 20000000 ADDOO
Oo000ooOOo00ooooOoOOo0o0o0oooobOb0Ad0 ZO0OoOooooooooog zo

14



ooooooooooOoOOO0oOoooboOopoObOObOO0OoOoOoOoOobObOoDbDDOD
ON=7Z)000000000000000000000000000O00OooDOO
ggd

000 NODOOO zZOOOODOOOOOOOO (nuclear chart) 00 gO000O00O0O
OO0o0O00o0oooOOoOoooboboOoog p-OobOOooopOobobODOObDODDpOO
O00000000000000000000 gf0000000o0ooooo goon
ODOoooopOOoO0b0COoDOOOOOOOOOOODOOOOpOODOODOODOOO
gboogboooboooboobdobooon

OoOO000 pgoOO000oOoOoOoDOOoOoOooooDboOobobOOoOooDD p-O0O0O0O0O0
gbogboggo

gO0000O0O0

OOoooooboobogoobD p-oboobop-ooboboobobobooooboobooo
oddbe O0OO0OD0OO0OOOO0ODOvODODOODOODODODODODODOOOODLDDOOOOO
O000000000000000000000000000 gftooooopgtrood
0000e"00000000000D00O0ODOOOOOOOBTODUOUODOOO
00000000« 000000000 vODOOOATO00000O0OO0OOOOOO
0000000000000000000000000000O000oOooDoOOptO
gbobobobouobooobobbobbboubooobbbobuobooobobboon
gogboobooobgboooboobuooobdyooboboDbOoOobObObOObOOD
gbogdbooobuogbbooguboobbuooobboobbboobbobbn
Doobobboooogog

4-00 O Z) — (A, Z0 1)+e +v

n — p+e +v
groo (A Z)— (A Z —1)+et+v
p — n+et+v
0000 (A Z) +e- — (A, Z—-1)+ v
pU e— n+v

00000000000 00000000000000000gptoooon
2m A0 000000000000000000000 gfOo000O0O0O0oo0oOn
2m A0 000000000000000000 2m 200700000000 10
gobobobooobbuoobobob1oooobuoooooo

000000000 QO (CO0OOD)DoDpOODOO0DODOODOOO0OOODOO
obooooobOp-000bO0O0O00000bOO00ODODOOOoOOobOoOoOoooo
00 0000000000000000000D00O0000000O000

OO0b0o0o0o0oboOooOOooboooobOobboOoboboOobOp-obobboooobOobboo
gobubogbbgouooubbobboooooobooouoobbbboabn
gboogbboboobbbobobodoououooooobooobobobobobbboood
gbobuooobobobouoooououobbboon

15



30 oo tdbtubn

gogbobobuodgooboboooobuoooooobboobobbboaon

obogbobbboobobboboboooooobboobboboobbo
gbobobobooobobbdoooobbobobbbobooboooooboobogan
gogboboboobbobbooouooooon

3.1 100000000

gbobobouboobbbooobbbboobobbon
oo 4abboboooobooboooboboobobooobooboooboon

N = —\N dt (3.1)

A00000 (decay constant) 0 000 00(3.1)0000000000O¢t=00000
Ooobod NOOOogd

N = Nye™™ (3.2)
00000007, 00000000000000000

N, _
5 = Noe My (3.3)

000000000000000000000
2 = AT} (3.4)
0000000000AIO007, 000000000

_In2 _ 0.693

)\—7/'\/
T, T,
2 2

(3.5)

3.2 UOOOOooon

OOobOO000o0oobo 1b0b0oo0oooob AObOo0obOoOoNOOOoDOO
oooooiabDOobOooooooboooboboobooooboobooobobooo

16



3.2.1 00O 100000bObOoobOooboon

gobbobbouoooboboooboobuooooobobbobobboobdd
gbodgooboodao
goobobobobuooobobbobboooooobuogbbbooogooooobo
gobodadad

(A)ODODOO0DO0OOoDOOoooooooo

dl . .

o =04a) | (3.6)
nn nn
O0000000ADDDOO (—A,---,-Ay)00000000000D0000OO0

oooo
P11 PN
: AR : (3.7)
Pin PNN
D000 N#)N (1<i<ji<N)DDOOO0OOO
ny N Di1
=YC| ¢ e (cO0o0o0o0ooooa) (3.8)
nn = bin

gggdg

(B)0O0O0O0O000D000

00000boboobboobooboooboobbboooob 1bbbobo
oooobooooboooooobooboo0 - AOboooooooboboooog
goooon

{nl—cmf”+{uk+%a+kﬂlﬁ€” (3.9)

ng = Coe™ + {cC) + (a + \)Cy}te ™M

gbobbobboboooobuoobuoooboooooooooooooboobo
oodboobbooboooboobobooobobooooooooooooobobooobooboD
0000 ANOO0OODODODODODODODOO 1%00000000000

17
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ST(CiA + D NiCrjle™ = 0 (1<i<N,1<j<q)

J=1 k=j

Ciihi + S AixCij = 0
k=j
i—1

CiiAj + > AikCrj + XiCyy = 0 (2<i< N, 1<j<i)
k=j
i—1
(N = X)Ci = > AikCj (3.15)
k=j
O0O0O000ooco
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0010000 000000

0000000000000 DO00000000D0 AOODODOODOoOOoOooOoag
O0000ZOODODOONOOUOODOUOE(eve)DOOOODDO0OOOJrOODOODOOA
DDDDDDDT%DDDDDDecayModeSDDDDDDDDD

gobobbooobooobobboobooboobbooobobobon
OO0 100%00000000000000000000000000D0O000 100
OO0O000ooO0obOO0obooooo10obobooooobobobOoDbDOoOoOg A=190
00 ™AsO [Decay modes| D000 [SelO 97.90%00 |00000 ™Sed 5 OO0
000 97.90%00000 (210 210%0 0000000000000

ooogoooon

A=179
Z | N | E(level)(MeV) Jm A(MeV) Ty /s Decay Modes
Abundance

™Cu | 29 | 50 0.0 —41.8990 Syst | 188 ms (25) B~ : 100.00 %

B~ : 55.00 %

™7n | 30 | 49 0.0 (9/2+) —53.4322 0.995 s (19) B~ : 100.00 %

B n:1.30%
aEEEEEEE

MCGa | 31|48 0.0 3/2- —62.5476 2.847 s (3) 4~ : 100.00 %
B n: 0.09 %0O0)

MGe | 32 | 47 0.0 (1/2)- —69.5266 18.98 s (3) £~ : 100.00 %

0.1859 (7/24) —69.7125 39.0 s (10) £~ : 96.00 %

IT : 4.00 %

MAs | 33 ] 46 0.0 3/2- —73.6364 9.01 m (15) B~ : 100.00 %
(Sel D 97.90 %0 0)

™Se | 34 | 45 0.0 7/2+ —75.9173 2.95%x10° y (38) B~ : 100.00 %

0.0958 1/2- —76.0131 3.92m (1) IT : 99.94 %

B~ :0.06 %

MBr | 35 | 44 0.0 3/2- —76.0684 STABLE
(50.69 % (7))
0.2076 9/2+ —76.2760 515 (4) IT : 100.00 %
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A =380

Z | N | E(level)(MeV) | Jr A(MeV) iy Decay Modes
Abundance
SONi | 28 | 52 £~ 1 100.00 %(00)
80Cu | 29 | 51 0.0 —36.4310 Syst | 0.17 s (+11-5) | = : 100.00 %(0 0 )
80Zn | 30 | 50 0.0 0+ —51.6486 0.54 s (2) £~ : 100.00 %
Bn: 1.00 %
80Ga | 31 | 49 0.0 3 —59.2236 1.676 s (14) B~ : 100.00 %
B n: 0.86 %
OoO0000000
80Ge | 32 | 48 0.0 0+ —69.5353 29.5 s (4) £~ : 100.00 %
80As | 33 | 47 0.0 1+ —72.1715 15.2 s (2) £~ : 100.00 %
80Se | 34 | 46 0.0 0+ —77.7598 STABLE 23-(00)
(49.61 % (41))
80Br | 35 | 45 0.0 1+ —75.8894 17.68 m (2) B~ : 91.70 %
€: 830 %
0.0858 5- —75.9751 4.4205 h (8) IT : 100.00 %
80Kr | 36 | 44 0.0 0+ —77.8925 STABLE
(2.286 % (10))
A =281
Z | N | E(level)(MeV) Jm A(MeV) T Decay Modes
Abundance
817n | 30 | 51 0.0 (5/2+) | —46.1996 304 ms (13) B~ : 100.00 %
B n: 7.50 %
81Ga | 31 | 50 0.0 5/2- | —57.6279 1.217 s (5) B~ : 100.00 %
f7n: 11.90 %
000000000
81Ge | 32 | 49 0.0 (9/2+) | —66.2916 7.6 s (6) £~ : 100.00 %
0.6791 (1/2+) | —66.9707 7.6 s (6) B~ : 100.00 %
(761s000) O
81As | 33 | 48 0.0 3/2- | —72.5333 33.3 s (8) B~ : 100.00 %
(Seld 8.90 %0 O)
81Se | 34 | 47 0.0 1/2- | —76.3894 18.45 m (12) B~ : 100.00 %
0.1030 7/2+ | —76.4924 57.28 m (2) IT : 99.95 %
87 :0.06 %
81Br | 35 | 46 0.0 3/2- | —77.9755 STABLE
(49.31 % (7))
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A =282
Z | N | E(level)(MeV) | Jnm A(MeV) iy Decay Modes
Abundance
82Cu | 29 | 53 0.0 >636 ns B~ :100.00 %(00)
827Zn | 30 | 52 0.0 0+ | —42.6070 Syst >150 ns £~ : 100.00 %(00)
82Ga | 31 | 51 0.0 (1,2,3) —52.9307 0.599 s (2) B~ : 100.00 %
G n: 19.80 %
EEEEEEEEE
82Ge | 32 | 50 0.0 0+ —65.4150 4.56 s (26) B~ 1 100.00 %
82As | 33 | 49 0.0 (2-) —70.1030 19.1 s (5) S~ 1 100.00 %
0.1470 (5-) —70.2500 13.6 s (4) B~ : 100.00 %
82Se | 34 | 48 0.0 0+ —77.5940 STABLE
(8.73 % (22))
S2Br | 35 | 45 0.0 5- —77.4972 35.282 h (7) B~ 1 100.00 %
0.0459 2- —77.5431 6.13 m (5) IT : 97.60 %
B~ 2.40 %
82Ky | 36 | 46 0.0 0+ —80.5902 STABLE
(11.593 % (31))
A =283
Z | N | E(level)(MeV) Jm A(MeV) T2 Decay Modes
Abundance
837n | 30 | 53 0.0 —36.7380 Syst >300 ns £~ 100.00 %(00)
8Ga | 31 | 52 0.0 —49.2571 308.1 ms (10) £~ : 100.00 %
f7n : 62.80 %
000000000
8Ge | 32 | 51 0.0 (5/2)+ —60.9764 1.85 s (6) 5~ : 100.00 %
8As | 33 | 50 0.0 (5/2-,3/2-) —69.6693 13.4 s (3) 5~ : 100.00 %
(Seld 63.40 %0 0)
8Se | 34 | 49 0.0 9/2+ —175.3406 22.3 m (3) B~ : 100.00 %
0.2285 1/2- —75.5691 70.1 s (4) 4~ : 100.00 %
8Br | 35 | 48 0.0 3/2- —79.0064 2.40 h (2) B~ : 100.00 %
(Kr1 O 99.98 %0 0)
8Kr | 36 | 47 0.0 9/2+ —179.9900 STABLE
(11.500 % (19))
0.0416 1/2- —80.0316 1.85 h (3) IT : 100.00 %
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A=284

Z | N | E(level)(MeV) | Jr A(MeV) T Decay Modes
Abundance
817n | 30 | 54 0.0 0+ >633 ns £~ : 100.00 %(00)
81Ga | 31 | 53 0.0 (0-) | —42.2830 Syst | 0.085 s (10) £~ : 100.00 %
B n: 74.00 %
81Ge | 32 | 52 0.0 0+ —58.1484 0.954 s (14) £~ : 100.00 %
f7n: 10.20 %
000000000
84As | 33 | 51 0.0 (3-) —65.8535 4.2 s (5) £~ : 100.00 %
fn: 0.18 %(00O)
81Se | 34 | 50 0.0 0+ —75.9476 3.26 m (10) £~ : 100.00 %
81Br | 35 | 49 0.0 2- —77.7893 31.76 m (8) £~ : 100.00 %
0.3200 (6)- —78.1093 6.0 m (2) £~ 100.00 %
81Ky | 36 | 48 0.0 0+ —82.4393 STABLE
(56.987 % (15))
A =285
Z | N | E(level)(MeV) Jm A(MeV) iy Decay Modes
Abundance
8Ga | 31 | 54 0.0 (1/2-,3/2-) | —40.2310 Syst | <100 ms £~ 100.00 %(00)
B0 > 35.0 %(00)
8Ge | 32 | 53 0.0 (1/2+,5/2+) —53.1234 0.56 s (5) B~ : 100.00 %
f7n: 14.00 %
85As | 33 | 52 0.0 (3/2-) —63.1891 2.021 s (10) B~ : 100.00 %
G n: 59.40 %
8Se | 34 | 51 0.0 (5/2+) —72.4136 32.9 s (3) B~ : 100.00 %
£~ : 100.00 %(00)
f7n: 23.00 %(00O)
000000000
8Br | 35 | 50 0.0 3/2- —178.5754 2.90 m (6) B~ : 100.00 %
(KrlO 0.18 %0 0)
8Kr | 36 | 49 0.0 9/2+ —81.4803 10.752 y (25) B~ : 100.00 %
0.3050 1/2- —81.7853 4.480 h (8) B~ 78.60 %
IT : 21.40 %
(IT : 100.00 % 00 0O)
8Rb | 37 | 48 0.0 5/2- —82.1673 STABLE
(72.17 % (2))
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A =386

Z | N | E(level)(MeV) | Jr A(MeV) oy Decay Modes
Abundance
87n | 30 | 56 £~ : 100.00 %(00O)
86Ga | 31 | 55 0.0 —34.4560 Syst >150 ns £~ : 100.00 %(00)
86Ge | 32 | 54 0.0 0+ | —49.7600 Syst >150 ns B~ : 100.00 %(0 0O)
86As | 33 | 53 0.0 —58.9621 0.945 s (8) £~ : 100.00 %
f7n : 26.00 %
80Se | 34 | 52 0.0 0+ —70.5031 14.3 s (3) B~ 1 100.00 %
B~ : 100.00 %(00)
B n: 12.00 %(00O)
ahEEEEEEE
8Br | 35 | 51 0.0 (1-) —175.6322 55.1's (4) B~ : 100.00 %
80Kr | 36 | 50 0.0 0+ —83.2656 STABLE
(17.279 % (41))
S6Rb | 37 | 49 0.0 2- —82.7470 18.642 d (18) B~ :99.99 %
€:52x1073 %(00O)
0.5561 6- —83.3031 1.017 m (3) IT : 100.00 %
B~ < 0.30 %(00)
86Sr | 38 | 48 0.0 0+ —84.5232 STABLE
(9.86 % (1))
A =387
Z | N | E(level)(MeV) Jm A(MeV) Iy Decay Modes
Abundance
87Ge | 32 | 55 0.0 (5/2+) | —44.2370 Syst ~0.14 s £~ : 100.00 %(00)
8TAs | 33 | 54 0.0 (3/2-) —55.6179 0.56 s (8) £~ : 100.00 %
f7n : 15.40 %
87Se | 34 | 53 0.0 (5/2+) —66.4261 5.50 s (12) 5~ : 100.00 %
B n:0.20 %
8Br | 35 | 52 0.0 3/2- —73.8916 55.65 s (13) 5~ : 100.00 %
B n: 2.60 %
O00000000
8TKr | 36 | 51 0.0 5/2+ —80.7095 76.3 m (5) B~ : 100.00 %
8TRb | 37 | 50 0.0 3/2- —84.5977 4.81x10' y (9) £~ : 100.00 %
(27.83 % (2))
87Sr | 38 | 49 0.0 9/2+ —84.8800 STABLE
(7.00 % (1))
0.3885 1/2- —85.2685 2.815 h (12) IT : 99.70 %
€: 030%
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A =88

Z | N | E(level)(MeV) | Jr A(MeV) ny Decay Modes
Abundance
8Ge | 32 | 56 0.0 0+ | —40.2410 Syst >300 ns B~ : 100.00 %
8As | 33 ] 55 0.0 —50.8880 Syst >300 ns £~ : 100.00 %
8Se | 34 | 54 0.0 0+ —63.8841 1.53 s (6) B~ : 100.00 %
B n: 0.67%
8Br | 35 | 53 0.0 (2-) —170.7159 16.29 s (6) B~ : 100.00 %
B n: 6.58 %
OoO0000000
88Kr | 36 | 52 0.0 0+ —179.6912 2.84 h (3) £~ : 100.00 %
8Rb | 37 | 51 0.0 2- —82.6089 17.773 m (11) £~ : 100.00 %
88Sr | 38 | 50 0.0 0+ —87.9213 STABLE
(82.58 % (1))
A =89
Z | N | E(level)(MeV) Jm A(MeV) Ty )9 Decay Modes
Abundance
89As | 33 | 56 0.0 —46.9380 Syst >300 ns £~ :100.00 %(00O)
89Se | 34 | 55 0.0 (5/2+) —58.9923 0.41 s (4) £~ : 100.00 %
B n: 7.80 %
89Br | 35 | 54 0.0 (3/2-,5/2-) —68.2742 4.40 s (3) 5~ : 100.00 %
B n: 13.80 %
EhEEEEEEE
89Kr | 36 | 53 0.0 3/2(+) —76.5357 3.15m (4) £~ : 100.00 %
89Rb | 37 | 52 0.0 3/2- —81.7122 15.15 m (12) B~ : 100.00 %
89Sr | 38 | 51 0.0 5/2+ —86.2087 50.53 d (7) B~ : 100.00 %
(Y1O 0.015 %00)
Y | 39 | 50 0.0 1/2- —87.7096 STABLE
(100 %)
0.9090 9/2+ —88.6186 15.663 s (5) IT : 100.00 %
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A =90

Z | N | E(level)(MeV) | Jr A(MeV) T/ Decay Modes
Abundance
DSe | 34 | 56 0.0 0+ | —55.9270 Syst >300 ns B~ :100.00 %(00)
OBr | 35 | 55 0.0 —64.0003 1.91 s (1) £~ : 100.00 %
G n: 25.20 %
000000000
OKr | 36 | 54 0.0 0+ —74.9592 32.32 5 (9) B~ : 100.00 %
(Rb10O 12.20 %0 0)
ORb | 37 | 53 0.0 0- —79.3649 158 s (5) £~ : 100.00 %
0.1069 3- —79.4718 258 s (4) B~ 97.40 %
IT : 2.60 %
0gr | 38 | 52 0.0 0+ —85.9493 28.90 y (3) £~ : 100.00 %
NPy 39|51 0.0 2- —86.4953 64.053 h (20) B~ : 100.00 %
0.6817 7+ —87.1770 3.19 h (6) IT : 100.00 %
B~ 1.8x1073 %(00)
D7y |40 | 50 0.0 0+ —88.7742 STABLE
(51.45 % (40))
2.3190 5- —91.0932 809.2 ms (20) IT : 100.00 %
A=91
NSe [ 34 | 57| 0.0 —50.3380 Syst | 0.27 s (5) £~ : 100.00 %
f7n : 21.00 %
9Br [ 35 [ 56 | 0.0 —61.1072 0.541 s (5) £~ : 100.00 %
f7n : 20.00 %
O00000000
MKr [ 36 55| 00 |5/2(+) —70.9739 8.57 s (4) £~ : 100.00 %
9IRb | 37 | 54 | 0.0 |3/2(-) —77.7464 58.4 s (4) B~ : 100.00 %
Sr 138 53| 0.0 5/2+ —83.6528 9.63 h (5) £~ : 100.00 %
(Y1DO 89.00 %0 0)
Ty [39[52] 00 1/2- —86.3529 58.51 d (6) £~ : 100.00 %
0.5556 | 9/2+ —86.9085 49.71 m (4) IT : 100.00 %
B~ < 1.50 %0 0)
NZr [40 | 51| 0.0 5/2+ —87.8973 STABLE
(11.22 % (5))
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A=92

Z | N | E(level)(MeV) | Jr A(MeV) iy Decay Modes
Abundance
928e | 34 | 58 0.0 0+ | —46.7240 Syst B~ : 100.00 %
2Br | 35 | 57 0.0 (2-) —56.2328 0.343 s (15) B~ : 100.00 %
B n: 33.10 %
shEEEEEEE
92Kr | 36 | 56 0.0 0+ —68.7693 1.840 s (8) B~ : 100.00 %
B n:0.03%0O0)
92Rb | 37 | 55 0.0 0- —T4.7726 4.492 s (20) £~ : 100.00 %
f7n: 0.01 %(O0O)
92Gr | 38 | 54 0.0 0+ —82.8674 2.66 h (4) 4~ : 100.00 %
2Y 3953 0.0 2- —84.8179 3.54 h (1) B~ : 100.00 %
927r | 40 | 52 0.0 0+ —88.4607 STABLE
(17.15 % (8))
A=93
Z | N | E(level)(MeV) Jm A(MeV) T Decay Modes
Abundance
9%Br | 35 | 58 0.0 (5/2-) | —52.8530 Syst | 102 ms (10) B~ : 100.00 %
B n: 68.00 %
BKr | 36 | 57 0.0 1/2+ —64.1359 1.286 s (10) B~ : 100.00 %
B n:1.95%
9%Rb | 37 | 56 0.0 5/2- —172.6200 5.84 s (2) B~ : 100.00 %
B n:1.39%
EhEEEEEEEE
98r | 38 | 55 0.0 5/2+ —80.0860 7.43 m (3) B~ : 100.00 %
BY [ 39| 54 0.0 1/2- —84.2285 10.18 h (8) £~ : 100.00 %
0.7587 (9/2)+ —84.9872 0.82 s (4) IT : 100.00 %
9B7zr | 40 | 53 0.0 5/2+ —87.1238 1.61x10°% y (5) £~ : 100.00 %
(Nb10O 95.00 %0 0)
9Nb | 41 | 52 0.0 9/2+ —87.2142 STABLE
(100 %)
0.0308 1/2- —87.2450 16.12 y (12) IT : 100.00 %
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A=94

Z | N | E(level)(MeV) | Jrm A(MeV) T/ Decay Modes
Abundance
91Se | 34 | 60 0.0 0+ | —36.8030 Syst >150 ns 4~ : 100.00 %
%Br | 35 | 59 0.0 —47.5990 Syst 70 ms (20) 5~ : 100.00 %
B~ n : 68.00 %
9Kr | 36 | 58 0.0 0+ —61.3477 212 ms (5) 4~ : 100.00 %
fn: 1.11 %
9Rb | 37 | 57 0.0 3(-) —68.5619 2.702 s (5) B~ : 100.00 %
f7n : 10.50 %
shEEEEEEE
91Gr | 38 | 56 0.0 0+ —78.8431 75.3 s (2) 4~ : 100.00 %
%y [39] 55 0.0 2- —82.3529 18.7m (1) 4~ : 100.00 %
97r | 40 | 54 0.0 0+ —87.2725 STABLE
(17.38 % (28))
9ND | 41 | 53 0.0 6+ —86.3704 2.03x10* y (16) £~ : 100.00 %
0.0409 3+ —86.4113 6.263 m (4) IT : 99.50 %
B~ 0.50 %
%Mo | 42 | 52 0.0 0+ —88.4141 STABLE
(9.15 % (9))
A=95
Z | N | E(level)(MeV) Jm A(MeV) T2 Decay Modes
Abundance
BKr | 36 | 59 0.0 1/2(+) | —56.1589 | 0.114 s (3) B~ 1 100.00 %
B n:287%
9Rb | 37 | 58 0.0 5/2- | —65.8944 | 377.7 ms (8) B~ : 100.00%
B n: 870 %
Oo0000000
9%Sr | 38 | 57 0.0 1/2+ | —75.1238 | 23.90 s (14) £~ : 100.00 %
Y |39 | 56 0.0 1/2- | —81.2131 | 10.3 m (1) B~ : 100.00 %
BZr 140 | 55 0.0 5/24+ | —85.6633 | 64.032 d (6) 4~ : 100.00 %
(Nb10O 0.90 %00)
PNb | 41 | 54 0.0 9/2+ | —86.7863 | 34.991 d (6) 5~ : 100.00 %
0.2357 1/2- | —87.0220 | 3.61d (3) IT : 94.40 %
B~ : 5.60 %
%Mo | 42 | 53 0.0 5/2+ | —87.7119 STABLE
(15.84 % (11))
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A =96

Z | N | E(level)(MeV) | Jrm A(MeV) T Decay Modes
Abundance
%Se | 34 | 62 £~ :100.00 %(00O)
%Br | 35 | 61 0.0 —38.3500 Syst >150 ns 5~ : 100.00 %
B n: 27.60 %
9%Kr | 36 | 60 0.0 0+ —53.0796 80 ms (6) B~ : 100.00 %
fn: 3.70 %
9%Rb | 37 | 59 0.0 2(—-) —61.3543 203 ms (3) £~ : 100.00 %
f7n: 13.30 %
aEEEEEEEE
%Sr | 38 | 58 0.0 0+ —72.9329 1.07s (1) 4~ : 100.00 %
%y | 39|57 0.0 0- —78.3447 5.34 s (5) S~ 1 100.00 %
1.1400 8+ —79.4847 9.6 s (2) 4~ : 100.00 %
%7r |40 | 56 0.0 0+ —85.4477 2.35x10% y (21) 26-(00)
(2.80 % (9))
%Nb | 41 | 55 0.0 6+ —85.6081 23.35 h (5) 4~ : 100.00 %
9Mo | 42 | 54 0.0 0+ —88.7949 STABLE
(16.67 % (15))
A =97
Z | N | E(level)(MeV) Jm A(MeV) Iy Decay Modes
Abundance
IKr | 36 | 61 0.0 (3/2+4) | —47.4234 | 63 ms (4) £~ : 100.00 %
B n: 6.70 %
9Rb | 37 | 60 0.0 3/2+ | —58.5182 | 169.1 ms (6) £~ : 100.00 %
f7n: 25.50 %
hEEEEEEE]E
97Sr | 38 | 59 0.0 1/2+ | —68.5916 | 429 ms (5) B~ 100.00 %
fn < 0.05 %(00)
7y | 39 | 58 0.0 (1/2-) | —76.1303 | 3.75s (3) £~ : 100.00 %
B7n: 0.06 %(00)
0.6675 (9/2)+ | —76.7978 | 1.17s (3) B~ > 99.30 %
IT < 0.70 %(0 0)
S0 < 0.08 %(00)
3.5226 (27/2-) | —79.6529 | 142 ms (8) IT : 98.40 %
87 :1.60 %
7r | 40 | 57 0.0 1/2+ | —82.9515 | 16.749 h (8) £~ : 100.00 %
(Nb10O 95.00 %0 0)
9Nb | 41 | 55 0.0 9/2+ | —85.6103 | 72.1m (7) £~ : 100.00 %
0.7434 1/2- | —86.3537 | 58.7s (18) IT : 100.00 %
Mo | 42 | 55 0.0 5/2+ | —87.5448 | STABLE
(9.60 % (14))
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A =098

Z | N | E(level)(MeV) | Jrm A(MeV) T/ Decay Modes
Abundance
BKr | 36 | 62 0.0 0+ | —44.4600 Syst 46 ms (8) B~ : 100.00 %
B n: 7.00%
%Rb | 37 | 61 0.0 (0,1) —54.0309 102 ms (4) £~ : 100.00 %
f7n: 13.80 %
B 2n: 0.05 %(00O)
0.2700 (3,4) —54.3009 96 ms (3) 4~ : 100.00 %
%BSr | 38 | 60 0.0 0+ —66.4366 0.653 s (2) B~ : 100.00 %
B n:0.25%
By |39 |59 0.0 (0)- —72.3037 0.548 s (2) £~ : 100.00 %
G n: 0.33 %
0.4100 (4,5) —72.7137 2.0s (2) B~ > 80.00 %
IT < 20.00 %(00)
G n: 3.40 %
shEEEEEEEE
BZr | 40 | 58 0.0 0+ —81.2956 30.7 s (4) B~ : 100.00 %
%BNb | 41 | 57 0.0 1+ —83.5334 2.86 s (6) B~ : 100.00 %
0.0840 (5+) —83.6174 51.3 m (4) B~ 99.90 %
(8~ : 100.00 % 000)
IT < 0.20 %(00O)
%Mo | 42 | 56 0.0 0+ —88.1161 STABLE
(24.39 % (37))
BT | 43 | 55 0.0 (6)+ —86.4318 4.2x10°% y (3) B~ : 100.00 %
%BRu | 44 | 54 0.0 0+ —88.2248 STABLE
(1.87 % (3))
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A =99

Z | N | E(level)(MeV) Jm A(MeV) Iy Decay Modes
Abundance
9Rb | 37 | 62 0.0 (5/2+) | —51.2203 54 ms (4) B~ : 100.00 %
Bn: 15.80 %
9¢r | 38 | 61 0.0 3/2+ | —62.5295 0.269 s (1) £~ : 100.00 %
G n:0.10%
Py | 39|60 0.0 (5/2+) | —70.6589 1.484 s (7) £~ 100.00 %
B n: 1.70 %
EEEEEEEEE
97r | 40 | 59 0.0 (1/2+) | —77.6265 2.1s (1) £~ : 100.00 %
(Nb10O 36.00 %0 0)
9Nb | 41 | 58 0.0 9/2+ | —82.3301 15.0 s (2) £~ : 100.00 %
0.3653 1/2- | —82.6954 2.5 m (2) B~ > 96.20 %
IT < 3.80 %
(3~ :100.00 % 000)
Mo | 42 | 57 0.0 1/2+ | —85.9702 | 65.976 h (24) B~ : 100.00 %
(TclO 87.00% O 0O)
POTc | 43 | 56 0.0 9/2+ | —87.3271 | 2.111x10° y (12) B~ : 100.00 %
0.1427 1/2- | —87.4698 6.0067 y (5) IT : 100.00 %
B~ 3.7x1073 %(00)
“Ru | 44 | 55 0.0 5/24+ | —87.6202 STABLE
(12.76 % (14))
A =100
Z | N | E(level)(MeV) Jm A(MeV) Tz Decay Modes
Abundance
100Ky | 36 | 64 0.0 0+ —35.1640 Syst | 7 ms (+11-3) B~ : 100.00 %
67 n
10RDL | 37 | 63 0.0 (3+,4-) | —46.5470 Syst 51 ms (8) 5~ : 100.00 %
B n: 6.00%
f72n: 0.16 %
1005y | 38 | 62 0.0 0+ —59.8333 202 ms (3) 4~ : 100.00 %
B n:0.78%
100y 139 | 61 0.0 1-,2- —67.3365 735 ms (7) 4~ : 100.00 %
B n:092%
0.1450 (3,4,5) —67.4815 0.94 s (3) 5~ : 100.00 %
EhEEEEEEE
1007y | 40 | 60 0.0 0+ —176.3844 7.1s (4) B~ : 100.00 %
(Nb10O 2.00 %00)
100NDb | 41 | 59 0.0 1+ —79.8065 1.5s (2) B~ : 100.00 %
0.3140 (5+) —80.1205 2.99 s (11) 5~ : 100.00 %
100Mo | 42 | 58 0.0 0+ —86.1878 7.3x10'% y (4) | 28~ : 100.00 %(0 O)
(9.82 % (31))
100e | 43 | 57 0.0 1+ —86.0202 15.46 s (19 B~ : 100.00 %
€:2.6x1073 %O 0O)
100Ru | 44 | 56 0.0 0+ —89.2222 STABLE
(12.60 % (7))
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A =101
Z | N | E(level)(MeV) Jm A(MeV) iy Decay Modes
Abundance
10IRb | 37 | 64 0.0 (3/2+) | —42.9750 Syst | 32 ms (5) B~ : 100.00 %
B7n: 28.00 %
101Gy | 38 | 63 0.0 (5/2-) —55.5652 118 ms (3) £~ : 100.00 %
B n:237T%
Oy 139 ] 62 0.0 (5/2+) —65.0702 0.45 s (2) 5~ : 100.00 %
B n:1.94%
shEEEEEEE
W0lzy | 40 | 61 0.0 (3/2+) —73.1733 2.3 s (1) 4~ = 100.00 %
T0IND | 41 | 60 0.0 (5/2+) —78.8863 7.1s (3) B~ : 100.00 %
0IMo | 42 | 59 0.0 1/2+ —83.5147 14.61 m (3) B~ 1 100.00 %
10lTe | 43 | 58 0.0 9/2+ —86.3390 14.02 m (1) B~ : 100.00 %
0lRu | 44 | 57 0.0 5/2+ —87.9529 STABLE
(17.06 % (2))
0IRh | 45 | 56 0.0 1/2- —87.4117 3.3y (3) € : 100.00 %
0.1573 9/2+ —87.5690 4.34 d (1) €: 9280 %
IT : 7.20 %
A =102
Z | N | E(level)(MeV) Jm A(MeV) Ty /o Decay Modes
Abundance
102RbL | 37 | 65 0.0 —37.8930 Syst 37 ms (3) £~ : 100.00 %
f7n: 18.00 %
1028y | 38 | 64 0.0 0+ | —52.4000 Syst 69 ms (6) B~ : 100.00 %
B n: 550 %
102y 139 | 63 0.0 HighJ | —61.2150 Syst 0.36 s (4) B~ : 100.00 %
B n: 4.90 %
0.0 LowJ | —61.2150 Syst | 0.298 s (9) 3~ : 100.00 %
B n: 490 %
ooo0oo0o0o0o0o
1027y | 40 | 62 0.0 0+ —71.5954 2.95 (2) B~ : 100.00 %
12ND | 41 | 61 0.0 (4+) —76.3139 4.3s (4) £~ : 100.00 %
0.0 1+ —76.3139 1.3 (2) B~ : 100.00 %
102Mo | 42 | 60 0.0 0+ —83.5729 11.3 m (2) B~ : 100.00 %
1027c | 43 | 59 0.0 1+ —84.5691 5.28 s (15) £~ : 100.00 %
0.0 (4,5) —84.5691 4.35 m (7) B~ 98.00 %
IT : 2.00 %
102Ru | 44 | 58 0.0 0+ —89.1012 STABLE
(31.55 % (14))
102Rh | 45 | 57 0.0 (1-,2-) —86.7783 207.3 d (17) €: 78.00 %
B~ 22.00 %
0.1407 6(+) —86.9190 3.742 y (10) €:99.77 %
IT:0.23 %
102pq | 46 | 56 0.0 0+ —87.9286 STABLE

(1.02 % (1))
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A =103

Z | N | E(level)(MeV) Jm A(MeV) oy Decay Modes
Abundance
103y 139 | 64 0.0 (5/2+) | —58.5006 | 0.23 s (2) £~ : 100.00 %
B n: 800 %
shEEEEEEEE
1037y 1 40 | 63 0.0 (5/2-) | —67.8247 | 1.32s (11) £~ : 100.00 %
f7n < 1.00 %(00)
103NDb | 41 | 62 0.0 (5/2+) | —75.0234 1.5s (2) £~ : 100.00 %
103Mo | 42 | 61 0.0 (3/2+) | —80.9700 | 67.5s (15) B~ 1 100.00 %
103Tc | 43 | 60 0.0 5/2+ | —84.6004 | 54.2's (8) £~ : 100.00 %
103Ru | 44 | 59 0.0 3/2+ | —87.2620 | 39.247 d (13) £~ : 100.00 %
(Rh10O 99.75 % 00O)
103Rh | 45 | 58 0.0 1/2- | —88.0256 | STABLE
(100 %)
0.0398 7/24+ | —88.0654 | 56.114 m (9) IT : 100.00 %
A =104
Z | N | E(level)(MeV) | Jrm A(MeV) iy Decay Modes
Abundance
1045y | 38 | 66 0.0 0+ | —43.9200 Syst | 43 ms (+9-7) | 8~ : 100.00 %(00)
0y 139 ] 65 0.0 —54.0640 Syst | 197 ms (4) £~ 1 100.00 %
67 n

EEEEEEEEE
1047y 140 | 64 0.0 0+ —65.7335 0.87 s (6) £~ : 100.00 %

A0 < 1.00 %(00O)
14NDb | 41 | 63 0.0 (1+) —71.8285 4.9 s (3) B~ 1 100.00 %

f7n: 0.06 %(00)

0.2150 —72.0435 0.94 s (4) £~ 100.00 %

B n: 0.05%0O0)
104Mo | 42 | 62 0.0 0+ —80.3591 60 s (2) B~ : 100.00 %
14T | 43 | 61 0.0 (3+) —82.5091 18.3 m (3) B~ : 100.00 %
104Ru | 44 | 60 0.0 0+ —88.0923 STABLE

(18.62 % (27))
104Rh | 45 | 59 0.0 1+ —86.9532 42.3 s (4) B~ 1 99.55 %
€: 045 %
0.1290 5+ —87.0822 4.34 m (3) IT : 99.87 %
B~ :0.13%
104pq | 46 | 58 0.0 0+ —89.3932 STABLE
(11.14 % (8))
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A =105

Z | N | E(level)(MeV) Jm A(MeV) iy Decay Modes
Abundance
1057Zr 1 40 | 65 0.0 —61.4743 | 0.66 s (7) B~ : 100.00 %
Bn < 2.00%
105NDb | 41 | 64 0.0 (5/2+) | —69.9102 | 2.95 s (6) 5~ : 100.00 %
B n: 1.70 %
000000000
105Mo | 42 | 63 0.0 (5/2-) | —77.3465 | 35.6 s (16) B~ 1 100.00 %
105T¢ | 43 | 62 0.0 (3/2-) | —82.2943 | 7.6 m (1) B~ 1 100.00 %
195Ru | 44 | 60 0.0 3/2+ | —85.9311 | 4.44h (2) B~ : 100.00 %
15Rh | 45 | 59 0.0 7/2+ | —87.8489 | 35.36 h (6) £~ : 100.00 %
(Rh1O 28.50 % 0O 0O)
0.1298 1/2- | —87.9787 | 4295 (3) IT : 100.00 %
105pd | 46 | 59 0.0 5/2+ | —88.4160 | STABLE
(22.33 % (8))
A =106
Z | N | E(level)(MeV) | Jrm A(MeV) T Decay Modes
Abundance
1067y | 40 | 66 0.0 0+ | —59.0380 Syst | 191 ms (19) B~ : 100.00 %
fn < 7.00 %
106Nb | 41 | 65 0.0 —66.1979 0.93 s (4) £~ : 100.00 %
70 : 4.50 %
ooo0000000
106Mo | 42 | 64 0.0 0+ —76.1441 8.73 s (12) B~ : 100.00 %
106Tc | 43 | 63 0.0 (2+) —79.7737 35.6 s (6) B~ : 100.00 %
106Ru | 44 | 62 0.0 0+ —86.3207 371.8 d (18) B~ : 100.00 %
106Rh | 45 | 61 0.0 1+ —86.3601 30.07 s (35) B~ : 100.00 %
0.1370 (6)+ —86.4971 131 m (2) B~ : 100.00 %
106pd | 46 | 60 0.0 0+ —89.9056 STABLE
(27.33 % (3))
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A =107

Z | N | E(level)(MeV) Jm A(MeV) T/ Decay Modes
Abundance
T07ND | 41 | 66 0.0 —63.7183 | 300 ms (9) 4~ : 100.00 %
B n: 800 %
EEEElEiEEEE
07TMo | 42 | 65 0.0 (5/2+) | —72.5613 3.5 (5) 4~ : 100.00 %
0T | 43 | 64 0.0 (3/2-) | —78.7464 21.2 s (2) B~ 1 100.00 %
10TRu | 44 | 63 0.0 (5/2)+ | —83.8590 | 3.75 m (5) B~ 1 100.00 %
107Rh | 45 | 62 0.0 7/2+ | —86.8606 | 21.7 m (4) B~ : 100.00 %
107pd | 46 | 61 0.0 5/2+ | —88.3708 | 6.5x10° y (3) B~ : 100.00 %
0.2146 11/2- | —88.5854 21.3 s (5) IT : 100.00 %
WTAg | 47 | 60 0.0 1/2- | —88.4055 STABLE
(51.839 % (8))
0.0931 7/2+ | —88.4986 44.3 5 (2) IT : 100.00 %
A =108
Z | N | E(level)(MeV) | Jrm A(MeV) T2 Decay Modes
Abundance
1087r | 40 | 68 0.0 0+ | —51.3530 Syst | 73 ms (4) B~ : 100.00 %
67 n
108Nb | 41 | 67 0.0 (2+) —59.5643 220 ms (18) £~ : 100.00 %
B n: 800 %
Oo0000000
108Mo | 42 | 66 0.0 0+ —70.7657 1.09 s (2) £~ : 100.00 %
fn < 0.50 %(00)
18Tc | 43 | 65 0.0 (2)+ —75.9193 517 s (7) B~ : 100.00 %
108Ru | 44 | 64 0.0 0+ —83.6578 4.55 m (5) £~ : 100.00 %
108Rh | 45 | 63 0.0 1+ —85.0315 16.8 s (5) £~ : 100.00 %
0.0 (5+) —85.0315 6.0 m (3) 4~ : 100.00 %
IT
108pd | 46 | 62 0.0 0+ —89.5211 STABLE
(26.46 % (9))
108Ag | 47 | 61 0.0 1+ —87.6056 2.382 m (11) B~ :97.15 %
€: 285 %
0.1095 6+ —87.7151 438 y (9) €:91.30 %
IT : 8.70 %
108Cd | 48 | 60 0.0 0+ —89.2524 > 1.9x101% y 2¢(00)
(0.89 % (3))
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A =109
Z | N | E(level)(MeV) Jm A(MeV) T/ Decay Modes
Abundance
109NDb | 41 | 68 0.0 (5/2) | —56.7840 Syst | 106 ms (9) £~ : 100.00 %
f~n < 15.00 %(00)
109Mo | 42 | 67 0.0 (7/2-) —66.6759 660 ms (45) B~ : 100.00 %
G n: 130 %
000000000
19T¢ | 43 | 66 0.0 (5/2+) —74.2792 0.86 s (4) B~ : 100.00 %
f7n: 0.08 %(0O0)
199Ru | 44 | 65 0.0 (5/2+) —80.7348 34.5 s (10) £~ : 100.00 %
19Rh | 45 | 64 0.0 7/2+ —85.0106 80 s (2) £~ : 100.00 %
(IT : 100.00 % OO 0O)
109pqd | 46 | 63 0.0 5/2+ —87.6034 13.7012 h (24) B~ : 100.00 %
(AglO 99.95 % O 0)
0.1890 11/2- —87.7924 4.696 m (3) IT : 100.00 %
19Ag | 47 | 62 0.0 1/2- —88.7195 STABLE
(48.161 % (8))
0.0880 7/2+ —88.8075 39.6 s (2) IT : 100.00 %
A =126
Z | N | E(level) | Jrm A Ty /o Decay Modes
(MeV) (MeV)
126Ag | 47 | 79 0.0 —60.8550Syst | 107 ms (12) B~ : 100.00 %
126Cd | 48 | 78 0.0 0+ —72.2564 0.515 s (17) B~ : 100.00 %
—100% 3(+) O
261 [49 [ 77| 0.0 3(+) | —77.8137 1.53 s (1) B~ : 100.00 %
0.1020 | (8—) | —77.9157 1.64 s (5) 4~ : 100.00 %
1268n | 50 | 76 0.0 0+ —86.0207 | 2.30E+5 y(14) | S~ : 100.00 %
—100% (8—) O
1268b | 51 | 75 0.0 (8—) | —86.3987 12.35 d (6) B~ : 100.00 %
0.0177 | (5+) | —86.4164 19.15 m (8) B~ : 86.00 %
IT : 14.00 %
0.0404 | (3—) | —86.4391 ~11 s IT : 100.00 %
—(0O0)
126Te | 52 | 74 0.0 0+ —90.0666 Abundance
18.84 % (25)
1267 153 |73 0.0 2— —87.9122 12.93 d (5) e:52.70 %
B~ :47.30 %
126Xe | 54 | 72 0.0 0+ —89.1462 Abundance
0.0890 % (2)
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A =127

Z | N | E(level) Jr A Ty /o Decay Modes
(MeV) (MeV)
2TAg | 47 | 80 0.0 —58.7680Syst | 109 ms (25) B~ : 100.00 %
27Cd [ 48 [ 79 0.0 (3/2+) —68.4354 0.37 s (7) 4~ : 100.00 %
—100% (9/2+) O
2TIn [ 49 [ 78 | 0.0 (9/2+4) —76.8920 1.09 s (1) 4~ 100.00 %
—50% (11/2—) 0 (00O)
—50% 3/2+ [ (O0O)
B n<0.03%
0.4620 | (1/2—) —77.3540 3.67 s (4) 4~ : 100.00 %
—48% (11/2—) 0 (0 0O)
—52% (3/2+) 0 (O O)
B n: 0.69 %
1.8630 | (21/2—) | —78.7550 1.04 s (10) 4~ : 100.00 %
—100% (11/2—) 0 (0 0O)
27gn |50 [ 77| 0.0 (11/2-) —83.4699 2.10 h (4) £~ : 100.00 %
0.0047 | (3/2+) —83.4746 4.13 m (3) £~ : 100.00 %
127Sb | 51 | 76 0.0 7/2+ —86.7007 3.85d (5) £~ : 100.00 %
—98% 3/2+ 0
—2% 11/2— 0O
2TTe | 52 | 75 0.0 3/2+ —88.2830 9.35 h (7) £~ : 100.00 %
0.0883 | 11/2— —88.3713 106.1 d (7) IT : 97.60 %
B~ :2.40 %
2 15374 00 5/2+ —88.9847 | Abundance
100.00 %
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A =128

Z | N | E(level) | Jrm A 0y Decay Modes
(MeV) (MeV)
28py | 46 | 82 0.0 0+ >394 ns £ n:100%(0 0)
5
128Ag | 47 | 81 0.0 —54.9400 Syst 58 ms (5) B~ : 100.00 %
67 n
128Cd | 48 | 80 0.0 0+ —67.2503 0.28 s (4) B~ : 100.00 %
—100% (3)+ O
128n | 49 | 79 0.0 (3)+ —74.3606 0.84 s (6) B~ : 100.00 %
—100% 0+ O
f7n < 0.05 %
0.3400 | (8—) —74.7006 0.72 s (10) (B~ :100.00 %
—68% 0+ [0 (00O)
—32% (7—) M (0 0O)
f7n < 0.05 %
128Gn | 50 | 78 0.0 0+ —83.3362 59.07 m (14) B~ : 100.00 %
—100% 8— O
2.0915 | (7-) —85.4277 6.5s (5) IT : 100.00 %
128Gh | 51 | 77 0.0 8— —84.6101 9.01 h (4) B~ : 100.00 %
0.0 5+ —84.6101 10.4 m (2) £~ 96.40 %
IT : 3.60 %
128Te | 52 | 76 0.0 0+ —88.9937 2.41E+24 y (39) 2/~ : 100.00 %
(31.74 % (8)) stop
1281 | 53|75 0.0 1+ —87.7395 24.99 m (2) B~ :93.10 %
€:6.90 %
128Xe | 54 | 74 0.0 0+ —89.8602 Abundance

1.9102 % (8)

o4




A =129

Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
290 147182 0.0 (9/2+) | —50.5640Syst | 46 ms +5-9 £~ : 100.00 %
— 0000000
67 n
0.0 (1/2—) —52.5640 ~ 160 ms £~ n
5
— 00
129¢d | 48 | 81 0.0 (3/2+) | —63.3140 Syst 0.27 s (4) B~ 100%(00)
129 [ 49 |80 | 0.0 (9/2+) —72.8138 0.61s (1) B~ : 100.00 %
—97% (3/2+) O
—3% (11/2—) O
B n:0.25%
0.3700 | (1/2-) —73.1837 1.23 s (3) B~ > 99.70 %
—97.5% (3/24) O
B n: 250 %
—00000000
IT < 0.30 %
1.6300 | (23/2—) —74.4437 0.67 s (10) 4~ : 100.00 %
1296n | 50 | 79 0.0 (3/2+) —80.5937 2.23 m (4) B~ : 100.00 %
—100% 7/2+ O
0.0352 | (11/2-) —80.6289 6.9 m (1) £~ : 100.00 %
—95% 7/2+ [
—5% (19/2—) M
JENDL FP Decay Data
IT < 2.0E-3 %
I296b | 51 [ 78| 0.0 7/2+ —84.6293 4.40 h (1) £~ : 100.00 %
—89.4% 3/2+ O
—10.6% 11/2— O
1.8511 | (19/2—) —86.4804 17.7m (1) B~ : 85.00 %
IT : 15.00 %
29T | 52 | 77| 0.0 3/2+ —87.0048 69.6 m (3) B~ 1 100.00 %
0.1055 | 11/2— —87.1103 33.6 d (1) IT : 63.00 %
B~ 37.00 %
1297 15376 0.0 7/2+ —88.5071 1.57E+7 y (4) £~ : 100.00 %
—100% 1/2+ O
129%e | 54 | 75 0.0 1/24+ —88.6960 Abundance
26.4006 % (82)
0.2361 | 11/2— —88.9321 8.88 d (2) IT : 100.00 %
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A =130

Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
130pq | 46 | 84 71 :100%(0 0)
—00o0ooog
130Ag | 47 | 83 0.0 —46.2970 Syst ~ 50 ms 71 :100%(0 0)
—00o0oog
5
130Cd | 48 | 82 0.0 0+ —61.5382 162 ms (7) £~ : 100.00 %
—96.5%1(—) O
B n: 3.50 %
—00o0ooo
130 | 49 | 81 0.0 1(-) —69.8882 0.29 s (2) B~ :100.00 %
—99.07%0+ O
B n:093%
—00o0ooog
0.0500 | (10—) —69.9382 0.54 s (1) 5~ : 100.00 %
—98.35%0+ [
B n :1.65 %
—00o0ooo
0.4000 | (5+) —70.2882 0.54 s (1) 4~ : 100.00 %
—98.35%0+ O
67 n :1.65 %
—00o0ooog
130Sn | 50 | 80 0.0 0+ —80.1372 3.72 m (7) £~ : 100.00 %
—100% (8—) M
1.9469 | (7-) —82.0841 1.7m (1) 5~ : 100.00 %
—50% 8— [ (0 0O)
—50% (4,5)— [ (O0O)
1308h [ 51|79 0.0 (8-) —82.2902 39.5 m (8) B~ : 100.00 %
0.0048 | (4,5)+ —82.2950 6.3 m (2) £~ = 100.00 %
130Te | 52 | 78 0.0 0+ —87.3529 > 3.0E+24 y 23~ : 100.00 %
(34.08 % (62)) stop
B0 | 53 | 77 0.0 5+ —86.9361 12.36 h (1) B~ : 100.00 %
0.0400 2+ —86.9761 8.84 m (6) IT : 84.00 %
B~ :16.00 %
130Xe | 54 | 76 0.0 0+ —89.8804 Abundance

4.0710 % (13)
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A =131

Z | N | E(level) Jr A iy Decay Modes
(MeV) (MeV)
131Cd | 48 | 83 0.0 (7/2—) | —55.3770 Syst | 68 ms (3) B~ : 100.00 %
—96.5% (9/2+) O
B n: 3.50 %
—0ooooo
Bl | 49 | 82 0.0 (9/2+) —68.0497 0.28 s (3) B~ 1 100.00 %
—98% (3/2+) O
Bn <200 %
—00oo0ooog
0.3020 | (1/2-) —68.3517 0.35s (5) B~ >99.98 %
B™n <200 %
IT <0.02 %
—>(|] [l )
131Gn | 50 | 81 0.0 (3/2+) —77.2717 56.0 s (5) £~ : 100.00 %
0.0 (11/2—-) —77.2717 58.4 s (5) 5~ : 100.00 %
IT
—(00)
131Gh | 51 | 80 0.0 (7/2+) —81.9760 23.03 m (4) £~ : 100.00 %
—93.5% 3/2+ O
—6.5% 11/2— 0
BlTe | 52 | 79 0.0 3/2+ —85.2110 25.0 m (1) £~ : 100.00 %
0.1823 | 11/2— —85.3933 33.25 h (25) B~ 7410 %
IT : 25.90 %
1.9400 | (23/2+) —87.1510 93 ms (12) IT : 100.00 %
—~(O0)
1317 153 | 78 0.0 7/2+ —87.4427 8.0252 d (6) B~ 1 100.00 %
—100% 3/2+ O
131Xe | 54 | 77 0.0 3/2+ —88.4136 Abundance
21.232 % (30)
0.1639 | 11/2— —88.5775 11.84 d (4) IT : 100.00 %
—(@0)
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A =132
Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
132In 49 [83] 0.0 (7—) | —62.4135 | 0.207 s (6) B~ 93.7 %
B n: 6.30 %
132Gn | 50 | 82 0.0 0+ | —76.5485 39.7 s (8) £~ : 100.00 %
—100% (4)+ O
1328h | 51 | 81 0.0 (4)+ | —79.6687 | 2.79 m (7) B~ : 100.00 %
0.0 (8—) | —79.6687 | 4.10 m (5) B~ : 100.00 %
132Te | 52 | 80 0.0 0+ | —85.1803 | 3.204 d (13) B~ : 100.00 %
—100% 4+ O
321 [53[79] 00 44+ | —85.6981 | 2.295h (13) | B~ : 100.00 %
—100% 0+ O
0.1200 | (8—) | —85.8181 | 1.387 h (15) IT : 86.00 %
B~ :14.00 %
32Xe | 54 | 78 0.0 0+ —89.2789 Abundance
26.9086 % (33)
2.7522 | (10+) | —92.0311 | 8.39 ms (11) IT : 100.00 %
132Cs | 55 | 77 0.0 2+ | —87.1557 | 6.480 d (6) e: 9813 %
—98.13% 0+ O
B8 :1.87T%
—1.87% 0+ O
132Ba [ 56 | 76 | 0.0 0+ | —88.4349 | > 3.0E+21y stop
0.101 % (1)
A =133
Z | N | E(level) Jm A 0y Decay Modes
(MeV) (MeV)
133In |49 [ 84| 0.0 (9/2+) | —57.7620 Syst | 165 ms (3) 4~ : 100.00 %
—15% 7/2— O
f7n: 85.00 %
—00oooo
133Gn | 50 | 83 0.0 7/2— —70.8469 1.46 s (3) £~ : 100.00 %
B n:0.03%
133Sh [ 51 [ 82| 0.0 (7/2+) —78.9425 2.34 m (5) 5~ : 100.00 %
—100% (3/2+) O
133Te | 52 | 81 0.0 (3/2+) —82.9445 12.5 m (3) B~ 1 100.00 %
—100% 7/2+ O
0.3343 | (11/2-) —83.2788 55.4 m (4) B~ : 83.50 %
IT : 16.50 %
1331 153 | 80 0.0 7/2+ —85.8865 20.83 h (8) B~ : 100.00 %
—98.92% 3/2+ O
—1.08% 11/2— O
1.6341 | (19/2) —87.5206 95 (2) IT : 100.00 %
—>(|:| 0 )
133Xe | 54 | 79 0.0 3/2+ —87.6435 5.2475d (5) | B~ : 100.00 %
0.2332 | 11/2— —87.8767 | 2.198d (13) | IT :100.00 %
133Cs | 55 | 78 0.0 7/2+ —88.0709 Abundance
100.00 %
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A=134

Z | N | E(level) Jr A T2 Decay Modes
(MeV) (MeV)
134Cd | 48 | 86 f7n: 100.00 % (00)
—0oooog
B4 (49 (85| 0.0 (4 — to7—) | —52.0240 Syst 140 ms (4) 4~ : 100.00 %
—35% 0+ O
B n: 65.00 %
—0ooood
134Gn | 50 | 84 0.0 0+ —66.3234 1.050 s (11) B~ : 100.00 %
—83% (0—) O
£~ :17.00 %
—0ooood
134Gh | 51 | 83 0.0 (0—) —74.1657 0.78 s (6) £~ : 100.00 %
0.2790 (7-) —74.4447 10.07 s (5) £~ : 100.00 %
—(00)
B n: 0.09 %
BiTe [ 5282 ] 0.0 0+ —82.5595 41.8 m (8) £~ : 100.00 %
—100% (4)+ O
47 153 | 81 0.0 (4)+ —84.0725 52.5 m (2) £~ : 100.00 %
—100% 0+ O
0.3165 (8)— —84.3890 3.52 m (4) IT : 97.70 %
B~ 230 %
— 7—0
BiXe | 54 [ 80| 0.0 0+ —88.1245 > 5.8B+22 y 206~
(10.4357 % (21))
1.9655 7 —90.0899 290 ms (17) IT : 100.00 %
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A=135

Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
135Gn [ 50 | 85 0.0 (7/2—) | —60.6120 Syst | 530 ms (20) | B~ : 100.00 %
—79% (7/2+) O
f7n: 21.00 %
—00oooo
135Sh | 51 | 84 0.0 (7/2+) —69.7872 1.679 s (15) | B~ : 100.00 %
—78% (7/2—) O
B7n: 22.00 %
—-000ooo
135Te | 52 | 83 0.0 (7/2-) —77.9035 19.0 s (2) B~ : 100.00 %
1351 15382 0.0 7/24 —83.7913 6.58 h (3) B~ : 100.00 %
—98.1% 3/2+ O
—1.9% 11/2— 0
135Xe | 54 | 81 0.0 3/2+ —86.4176 9.14 h (2) B~ : 100.00 %
—100% 7/2+ O
0.5266 | 11/2— —86.9442 15.29 m (5) IT > 99.40 %
B~ < 0.60 %
— 7/24+ 0
135Cs | 55 | 80 0.0 7/2+ —87.5818 23E+6y (3) | B~ : 100.00 %
—100% 3/2+ O
1.6329 | 19/2— —89.2147 53 m (2) IT : 100.00 %
—(@0)
13°Ba | 56 | 79 0.0 3/2+ —87.8508 Abundance
6.592 % (12)
0.2682 | 11/2— —88.1190 28.7 h (2) IT : 100.00 %
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A =136
Z | N | E(level) | Jrm A Iy Decay Modes
(MeV) (MeV)
13610 | 49 | 87 B~ :50.00% (00)
—50% 04 O
70 : 50.00 % (0 0O)
—00ooooo
1365n | 50 | 86 0.0 0+ | —56.2990 Syst 0.25 s (3) £~ : 100.00 %
—70% 1— O
B7n : 30.00 %
—00ooooog
136Sp | 51 [ 85 0.0 1— | —64.5250 Syst | 0.923 s (14) £~ : 100.00 %
—83.7% 0+ O
f7n: 16.30 %
—000ooo
136Te | 52 | 84 0.0 0+ —74.4790 17.63 s (8) £~ : 100.00 %
—98.69% (1—) O
Bn:131%
—00o0ooo
361 153183 00 |(1-) —79.5721 83.4 s (10) B~ : 100.00 %
0.6400 | (6—) —80.2120 46.9 s (10) 4~ : 100.00 %
136Xe | 54 | 82 0.0 0+ —86.4291 > 2.4E+21 y 26~
(8.8573 % (44)) stop
136Cs | 55 | 81 0.0 5+ —86.3390 13.04 d (3) B~ : 100.00 %
—100% 0+ O
0.5179 | 8— —86.8569 1755 (2) IT > 0.00 %
5
—(0O0)
136Ba [ 56 | 80 | 0.0 0+ —88.8872 Abundance
7.854 % (24)
2.0305 | 7— —90.9177 0.3084 s (19) IT : 100.00 %
—(O0)
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A =137

Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
137Sn | 50 [ 87 | 0.0 —50.3100 Syst | 190 ms (60) B~ : 100.00 %
—42% (7/2+) O
f7n: 58.00 %
—0000oo
B7Sh [ 51 [ 86| 0.0 (7/2+) | —60.3980 Syst | 492 ms (25) £~ : 100.00 %
—51% (7/2—) O
B n: 49.00 %
—0ooooog
BTTe [ 52 [ 85| 0.0 (7/2-) —69.2901 2.49 s (5) £~ 100.00 %
—97.01% (7/2+) O
G n:299%
—-00000o
3 153 | 84 0.0 (7/2+) —76.5068 24.5 s (2) B~ 1 100.00 %
—92.86% 7/2— O
B n: 714 %
—0ooooog
137Xe | 54 | 83 0.0 7/2— —82.3833 3.818 m (13) £~ : 100.00 %
137Cs | 55 | 82 0.0 7/2+ —86.5459 30.08 y (9) B~ : 100.00 %
—5.3% 3/24 O
—94.7% 11/2— O
137Ba | 56 | 81 0.0 3/2+ —87.7215 Abundance
11.232 % (24)
0.6617 | 11/2— —88.3832 2.552 m (1) IT : 100.00 %

62




A =138

Z | N | E(level) | Jrm A Ty /o Decay Modes
(MeV) (MeV)
138Sn | 50 | 88 0.0 0+ >408 ns S7n : 100.00 %(0 0)
—0ooooo
5
138Sb [ 51 [ 87 | 0.0 —54.8460Syst | 350 ms (15) B~ : 100.00 %
—28% 04 0O
f7n: 72.00 %
—0ooooo
138Te | 52 | 86 0.0 0+ —65.7551 1.4 s (4) B~ : 100.00 %
—93.7% (2—) O
B n: 6.30 %
—00o0ooo
1381 | 53| 85 0.0 (2—) | =71.9050 Syst 6.23 s (3) B~ 1 100.00 %
—94.44% 0+ O
B n: 556 %
—00o0ooo
138Xe | 54 | 84 0.0 0+ —179.9750 14.08 m (8) B~ : 100.00 %
—100% 3— O
138Cs | 55 | 83 0.0 3— —82.8870 33.41 m (18) B~ : 100.00 %
0.0799 | 6— —82.9669 2.91 m (8) IT : 81.00 %
B~ 19.00 %
138Ba | 56 | 82 0.0 0+ —88.2619 Abundance
71.698 % (42)
138La | 57 | 81 0.0 5+ —86.5215 1.02E+11 y (1) e : 65.60 %
67 34.40 %
— 0+ 0
138Ce | 58 [ 80 | 0.0 0+ —87.5643 >0.9E+14 y 2¢ : 100.00 %
(0.251 % (2) )
21292 | 7— —89.6935 8.65 ms (20) IT : 100.00 %
—(O0)
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A =139

Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
139Sh | 51 | 88 0.0 —50.3190Syst | 93 ms +14-3 8~ : 100.00 %
—10% (7/2—) O
70 : 90.00 %
—00o0ooo
139Te [ 52 [ 87 0.0 (7/2—) | —60.3890Syst > 150 ns fn: 100.00 % (0 0O)
—00o0ooog
5
91 15386 | 0.0 (7/2+) | —68.5272 2.280 s (11) £~ : 100.00 %
—90% 3/2— 0
B n: 10.00 %
—000ooo
139Xe | 54 | 85 0.0 3/2— —75.6445 39.68 s (14) B~ : 100.00 %
139Cs | 55 | 84 0.0 7/2+ —80.7012 9.27 m (5) B~ : 100.00 %
139Ba | 56 | 83 0.0 7/2— —84.9140 83.06 m (28) B~ : 100.00 %
138Te | 52 | 86 0.0 0+ —65.7551 1.4 s (4) £~ : 100.00 %
—93.7% (2—) O
B7n: 6.30 %
—0ooooo
139La | 57 | 82 0.0 7/2+ —87.2282 Abundance
99.9119 % (71)
139Ce | 58 | 81 0.0 3/2+ —86.9498 137.641 d (20) e : 100.00 %
0.7542 | 11/2— —87.7040 54.8 s (10) IT : 10.00 %
A =140
Z | N | E(level) | Jm A T2 Decay Modes
(MeV) (MeV)
140Te | 52 | 88 0.0 0+ | —56.5980Syst > 300 ns B7n : 100.00 %(0 0)
—0000oo
5
Hor [53 187 ] 0.0 4(—) | —63.5958 0.86 s (4) B~ : 100.00 %
—90.7% 0(+) O
G n: 930 %
—000o0oo
140Xe | 54 | 86 0.0 0(+) | —72.9864 13.60 s (10) £~ : 100.00 %
140Cs | 55 | 85 0.0 1(-) | —77.0503 63.7 s (3) £~ : 100.00 %
1490Ba | 56 | 84 0.0 0(+) | —83.2703 | 12.7527 d (23) £~ : 100.00 %
40La | 57 | 83 0.0 3(—) —83.3179 | 1.67855 d (12) B~ : 100.00 %
140Ce | 58 | 82 0.0 0(+) | —88.0786 Abundance
88.450 % (51)
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A =141
Z | N | E(level) Jr A Ty /o Decay Modes
(MeV) (MeV)
BT 15318 ] 0.0 —60.3011 | 0.43 s (2) £~ 100.00 %
—78.8% 5/2(—) O
f7n: 21.20 %
—0ooooo
WiXe |54 [ 87| 0.0 [5/2(—) | —68.1973 | 1.73s (1) £~ : 100.00 %
G n:0.04 %
Mics | 55 | 86 0.0 7/2+ | —74.4803 | 24.84 s (16) B~ : 100.00 %
G n:0.04 %
141Ba | 56 | 85 0.0 3/2— | —79.7331 | 18.27 m (7) B~ : 100.00 %
Wla | 57 | 84 0.0 (7/2+) | —82.9341 | 3.92h (3) B~ : 100.00 %
Hlce [ 58 [ 83| 0.0 7/2— | —85.4354 | 32.508 d (13) | 5~ : 100.00 %
Hipr [ 59 | 82 0.0 5/2— | —86.0158 | Abundance
100 %
A =142
Z | N | E(level) | Jm A Ty /o Decay Modes
(MeV) (MeV)
M2Te | 5290 | 0.0 |0+ | —46.9010Syst 4~ :100.00 % (O O)
—000ooo
421 15389 0.0 —55.0230Syst | 2.22 ms (12) £~ : 100.00 %
6 n?
M2Xe [ 54188 ] 00 |0+| —65.2296 1.23 s (2) £~ : 100.00 %
B n:021%
2Cs |55 [ 87| 0.0 0— | —70.5253 1.684 s (14) £~ : 100.00 %
B n: 0.09 %
142Ba | 56 | 86 0.0 0+ —77.8450 10.6 m (2) B~ : 100.00 %
W1a | 578 | 00 |2-] —80.0220 91.1 m (5) 4~ : 100.00 %
42Ce [ 58 | 84| 0.0 |0+ | —84.5320 >5E+16 y 203~
(11.114 % ) stop
142py [ 59 | 83 0.0 2— | —83.7877 19.12 h (4) B~ : 99.98 %
e:0.02%
0.0037 | 5— | —83.7914 14.6 m (5) IT : 100.00 %
—~(00)
T2Nd | 60 | 82 0.0 0+ | —85.9493 Abundance
27.152 % (40)

65




A =143
Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
143%e | 54 | 89 0.0 5/2— | —60.2028 | 0.511 s (6) B~ : 100.00 %
—99% 3/2+ O
B n: 1.00 %
—0ooooog
43Cs | 55 | 88 0.0 3/2+ | —67.6749 | 1.791s (7) £~ : 100.00 %
—98.36% 5/2— O
B n: 1.64%
—~0ooooog
143Ba [ 56 [ 87 | 0.0 5/2— | —73.9371 14.5 s (3) B~ 1 100.00 %
4378 | 57 | 86 0.0 (7/2)+ | —78.1713 | 14.2m (1) B~ 1 100.00 %
43Ce | 58 [ 85| 0.0 3/2— | —81.6055 | 33.039 h (6) 3~ : 100.00 %
43pr | 59 | 84 0.0 7/2+ | —83.0674 | 13.57d (2) B~ : 100.00 %
143Nd | 60 | 83 0.0 7/2+ | —84.0015 | Abundance
12.174 % (26)
A =144
Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
H1Xe | 54 | 90 0.0 0+ | —56.8722 0.388 s (7) £~ : 100.00 %
—97% 1— 0
B : 3.00 %
—0ooood
4Cs [ 5589 0.0 1- | —63.2712 0.994 s (6) £~ : 100.00 %
—96.97% 0+ O
B n: 3.03%
—0ooood
0.0 (GE4) | —63.2712 <l1s B~
—(O0)
144Ba | 56 | 88 0.0 0+ | —71.7671 11.5 s (2) £~ : 100.00 %
—96.4% (3—) O
B n: 3.60 %
—0ooood
Wia | 57187 0.0 (3—) | —74.8335 40.8 s (4) B~ : 100.00 %
144Ce | 58 | 86 0.0 0+ | —80.4312 | 284.91d (5) £~ : 100.00 %
—100% 0— O
HWipy [ 5985 0.0 0— | —80.7498 | 17.28 m (5) B~ : 100.00 %
0.0590 | 3— | —80.8088 7.2 m (3) IT : 99.93 %
B~ :0.07 %
144Nd | 60 | 84 0.0 0+ | —83.7473 | 2.29E+15y (16) | « : 100.00 %
(23.798 % (19)) stop
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A =145

Z | N | E(level) Jr A Ty /o Decay Modes
(MeV) (MeV)
145Xe | 54 | 91 0.0 —51.4933 | 188 ms (4) £~ : 100.00 %
—95% 3/2+ O
B8 n: 5.00 %
—00ooooo
45Cs | 55 | 90 0.0 3/2+ | —60.0557 | 0.587 s (5) £~ : 100.00 %
—85.3% 5/2— O
B n: 14.70 %
—00ooog
145Ba | 56 | 89 0.0 5/2— | —67.5161 | 4.31 s (16) B~ : 100.00 %
457a | 57 | 88 0.0 (5/2+) | —72.8324 | 24.8 s (20) B~ 1 100.00 %
5Ce [ 58 [ 87 | 0.0 (5/2—) | =77.0929 | 3.01 m (6) £~ : 100.00 %
Wpr |59 (86| 0.0 7/24+ | —79.6260 | 5.984 h (10) | B~ : 100.00 %
145Nd | 60 | 85 0.0 7/2+ | —81.4312 | Abundance
8.293 % (12)
A =146
Z | N | E(level) | Jrm A Iy Decay Modes
(MeV) (MeV)
16Xe | 54 | 92 0.0 0+ | —47.9547 | 146 ms (6) £~ : 100.00 %
—93.1% 1- 0
A0 : 6.90 %
—0ooooo
14605 | 55 | 91 0.0 1— | —55.5691 | 0.321s (2) B~ : 100.00 %
—85.8% 0+ O
B n: 14.20 %
—000000
H6Ba [ 56 [ 90 | 0.0 0+ | —64.9407 | 2.22s(7) £~ : 100.00 %
—100% 2— O
1613 | 57 | 89 0.0 2— | —69.0490 | 6.27 s (10) B~ 1 100.00 %
0.0 (6—) | —69.0490 10.0 s (1) £~ : 100.00 %
16Ce [ 58 [ 88 | 0.0 0+ | —75.6409 | 13.52 m (13) | B~ : 100.00 %
H6pr [ 59 |87 0.0 (2)— | —76.6852 | 24.15m (18) | B~ : 100.00 %
H6Nd [ 60 |86 | 0.0 0+ | —80.9252 | Abundance
17.189 % (32)
146pm | 61 | 85 0.0 3— | —79.4539 | 5.53y (5) €: 66.00 %
B~ & 34.00 %
146Sm | 62 | 84 0.0 0+ | —80.9959 | 10.3E+7 y (5) | o« : 100.00 %
stop
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A =147

Z | N | E(level) Jr A Ty /o Decay Modes
(MeV) (MeV)
Wios [ 55192 0.0 (3/2+) | —52.0179 0.230 s (1) £~ : 100.00 %
—71.5% (3/2—) O
f7n: 28.50 %
—00ooooo
4TBa | 56 | 91 0.0 (3/2—) | —60.2640 | 0.894 s (10) B~ 1 100.00 %
G n: 0.06 %
—>(|:| 0 )
WLa | 57 ] 90 0.0 (3/2+) | —66.6783 4.06 s (4) B~ : 100.00 %
G n:0.04%
—(00)
47Ce | 58 | 89 0.0 (5/2—) | —72.0138 56.4 s (10) £~ : 100.00 %
4pr | 59 | 88 0.0 (5/2+) | —75.4437 13.4 m (3) B~ 1 100.00 %
H4TNd | 60 | 87 0.0 5/2+ | —78.1460 10.98 d (1) £~ : 100.00 %
WTPm | 61 | 86 0.0 7/2+ | —79.0416 | 2.6234y (2) B~ 1 100.00 %
7Sm [ 62 | 85 | 0.0 7/2— | —79.2657 | 1.060E11 y (11) a : 100.00 %
(14.99 % (18)) stop
A =148
Z | N | E(level) | Jr A Ty /s Decay Modes
(MeV) (MeV)
148%e | 54 | 94 0.0 0+ >408ns | B7n: 100%(0 0)
e
148Cs | 55 | 93 0.0 —47.2944 | 146 ms (6) £~ : 100.00 %
—74.9% 0+ O
B n: 25.10 %
—00o0ooo
8Ba [ 56 [ 92 | 0.0 0+ | —57.5937 | 0.612's (17) B~ : 100.00 %
B n: 0.40 %
—@D0)
148La | 57 | 91 0.0 (2—) | —62.7087 | 1.26 s (8) B~ : 100.00 %
B n:0.15%
—(00)
148Ce | 58 | 90 0.0 0+ | —70.3982 56 s (1) B~ 1 100.00 %
—100% 1- O
148pr [ 59 | 89 0.0 1— | —72.5350 | 2.29 m (2) £~ : 100.00 %
0.0900 | (4) | —72.6250 | 2.01 m (7) 5~ : 100.00 %
148Nd | 60 | 88 0.0 0+ | —77.4068 | Abundance
5.756 % (21)
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A =149
Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
19¢Cs | 55 | 94 0.0 —43.8450 Syst | > 50 ms B7n: 100%(00)
5
149Ba | 56 | 93 0.0 —53.1700Syst | 0.344 s (7) £~ : 100.00 %
—99.57% (3/2—) 0 O
B n: 043 %
—-000ooo
978 | 57| 92 0.0 (3/2—) —60.2199 1.05 s (3) B~ 1 100.00 %
—98.57% (3/2—) O
B n: 143 %
—00oooo
49Ce | 58 | 91 0.0 (3/2—-) —66.6699 5.3 s (2) £~ : 100.00 %
149pr | 59 | 90 0.0 (5/2+) —71.0393 2.26 m (7) B~ 1 100.00 %
149Nd | 60 | 89 0.0 5/2— —74.3743 1.728 h (1) B~ : 100.00 %
149pm | 61 | 88 0.0 7/24 —76.0635 53.08 h (5) 4~ : 100.00 %
9Gm [ 62 | 87 | 0.0 7/2— —77.1350 Abundance
13.82 % (7)
A =150
Z | N | E(level) | Jm A T2 Decay Modes
(MeV) (MeV)
150Cs | 55 | 95 0.0 —38.9640 Syst > 50 ms B : 100%(00)
e
150Ba | 56 | 94 0.0 04+ | —50.3470 Syst 0.3s B
f7n: 100%(00)
150La | 57 | 93 0.0 (3+) | —56.5510 Syst 0.86 s (5) B~ : 100.00 %
—97.3% 0+ O
6 n:2.7%
—000000
150Ce | 58 | 92 0.0 0+ —64.8493 4.0 s (6) £~ : 100.00 %
150py | 59 | 91 0.0 (1)— —68.2995 6.19 s (16) 4~ : 100.00 %
15UNd | 60 | 90 0.0 0+ —173.6832 0.79E19 y (7)

(5.638 % (28)) stop
150Pm | 61 | 89 0.0 (1-) —73.5964 2.68 h (2) £~ : 100.00 %
150Sm | 62 | 88 0.0 0+ —77.0504 Abundance

7.38 % (1)
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A =151

Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
BICs | 55 | 96 0.0 —35.0610 Syst > 50 ms B7n: 100%(0 0)
pe
BIBa | 56 | 95 0.0 —45.5690 Syst > 300 ns f~n: 100%(00)
s
BlLa | 57 | 94 0.0 —53.8870 Syst >300ns | B n: 100%(00)
pe
51Ce | 58 | 93 0.0 (5/2+) —61.2250 1.76 s (6) B~ : 100.00 %
0.0 —61.2250 1.20 s (6) B~ 100%(00)
BTpr |59 | 92 0.0 (3/2—) —66.7804 18.90 s (7) B~ : 100.00 %
15INd | 60 | 91 0.0 3/2+ —70.9465 12.44 m (7) £~ : 100.00 %
151pm | 61 | 90 0.0 5/2+ —73.3887 28.40 h (4) £~ : 100.00 %
1519m | 62 | 89 0.0 5/2— —74.5755 90 y (8) B~ : 100.00 %
BlEu | 63 | 88 0.0 5/2+ —74.6517 >1.7E+18 y a
(47.81 % (3)) stop
A =152
Z | N | E(level) | Jrm A oy Decay Modes
(MeV) (MeV)
152Ba | 56 | 96 0.0 0+ | —42.3640 Syst >406ns | fn: 100%(00)
5
152Ta | 57 | 95 0.0 —49.7320 Syst > 150 ns B~ : 100.00 %
152Ce | 58 | 94 0.0 0+ | —59.3080 Syst 1.4 s (2) B~ : 100.00 %
152pr [ 59 | 93 0.0 (4+) —63.7580 3.57 s (18) £~ : 100.00 %
152Nd | 60 | 92 0.0 0+ —70.1516 11.4 m (2) B~ : 100.00 %
—100% 1+ O
152Ppm | 61 | 91 0.0 1+ —71.2558 4.12 m (8) £~ : 100.00 %
0.1500 | (8) —71.4058 13.8 m (2) 4~ : 100.00 %
IT > 0.00 %
0.1500 | 4— —71.4058 7.52 m (8) 4~ : 100.00 %
—(00)
1528m | 62 | 90 0.0 0+ —74.7622 Abundance
26.75 % (16) stop
2Eu | 63 | 89 0.0 3— —72.8871 13.528 y (14) €: 7210 %
B~ 1 27.90 %
0.0456 | 0— —72.9327 9.3116 h (13) B~ 1 72.00 %
e: 28.00 %
0.1479 | 8— —73.0350 96 m (1) IT : 100.00 %
152Gd | 64 | 88 0.0 0+ —74.7065 1.08E14 y (8) a : 100.00 %

(0.20 % (1))
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A =153

Z | N | E(level) Jr A Ty /o Decay Modes
(MeV) (MeV)
153La | 57 | 96 0.0 —46.5650 Syst | > 100ns | 8~ 0O 100%(00)
153Ce | 58 | 95 0.0 —55.2280 Syst | > 100 ns B~ 100%(00)
153pr | 59 | 94 0.0 —61.5815 4.28 s (11) B~ : 100.00 %
13Nd [ 60 ]93] 0.0 (3/2)— —67.3420 31.6 s (10) 5~ : 100.00 %
153Pm | 61 | 92 0.0 5/2— —170.6780 5.25 m (2) B~ : 100.00 %
—100% 3/2+ M
153Sm | 62 | 91 0.0 3/2+ —72.5593 46.284 h (4) | B~ : 100.00 %
0.0984 | 11/2— —72.6577 10.6 ms (3) IT :100.00 %
3Eu 63190 0.0 5/2+ —73.3661 Abundance
52.19 % (6)
A =154
Z | N | E(level) Jr A Iy Decay Modes
(MeV) (MeV)
BiLa [ 5797 0.0 —42.0380 Syst B~ 100%(00)
—0ooooo
Bice | 58 | 96 0.0 0+ —52.7320 Syst | > 100 ns B~ : 100.00 %
—000000
154py [ 59 | 95 0.0 (3+) —58.1947 2.3 s (1) £~ : 100.00 %
154Nd | 60 | 94 0.0 0+ —65.6847 25.9 s (2) B~ : 100.00 %
—100% (0—,1-) @
B4pm [ 6193 0.0 (3,4) —68.4917 2.68 m (7) B~ : 100.00 %
0.0 (0—,1-) —68.4917 1.73 m (10) £~ : 100.00 %
BASm | 62 | 92 0.0 0+ —72.4549 Abundance
22.75 % (29) stop
154Eu | 63 | 91 0.0 3— —71.7370 8.601 y (10) B~ 1 99.98 %
e: 0.02%
0.1453 8— —71.8822 46.3 m (4) IT : 100.00 %
154Gd | 64 | 90 0.0 0+ —73.7055 Abundance
2.18 % (3)
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decay_chain

#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#define M 30

#define BIGNUM 1.0e+300
#define BIGNUMO 1.0e+299

int nn; // the number of nuclei in the chain of mass number A
int mass_number([M]; // =A

int atomic_number[M]; // =Z

int state_id[M]; // =0 for ground state, =1,2,... for isomeric states
double lambda[M] [M]; // decay rate matrix

double n[M]; // population of each nuclei

double nO[M]; // initial population of nuclei

double c[M][M]; // coefficients used to express the solutions
double ca[M][M]; // analytic result for c

double halflife[M]; // halflife of each nuclei
enum{sec,min,hour,day,year};

int A_chain(int A, double tmin, double tmax, int ntime, FILE *fp_evo);
double time_in_sec(double time,int timeunit);

int solve_c();

double n_of_t(int i,double time);

int time_evolution(double tmin, double tmax, int ntime, FILE *fp_evo);
int check_sum_n(double tmin,double tmax,int ntime);

int check_derivative(double tmin,double tmax,int ntime);

int set_lambda(int A);

double halflife_to_decayrate(double halflife);
int set_halflife(int element, int A, int Z, int state, double T, int unit);
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int set_initial_state(int A);
// int set_initial_state_140();

int main(){

double tmin=1.0e-3; // 1ms ; -1.0 for automatic determination;
double tmax=1.0e+16; // 100years ; -1.0 for automatic determination;
int ntime=2000; // -1 for default value = 100;

int A;

FILE *fp_evo=NULL; // file to write time evolution

fp_evo=fopen("time_evolution.dat","wt");
if (fp_evo == NULL){
fprintf(stderr,"failed to open time evolution output file\n");
exit(1);
}
for (A=126;A<=154; A++){
A_chain(A,tmin,tmax,ntime,fp_evo);
}
if (fclose(fp_evo) !=0){
fprintf (stderr,"failed to close evolution output file\n");
}

return O;

int A_chain(int A, double tmin, double tmax, int ntime, FILE *fp_evo){
int i,j,k,1,ng,degeneracy;

set_lambda(A);

for(j=0;j<nn;j++){
printf (" [%2d] A=%3d Z=%3d state=%1d\n"
,j,mass_number[j],atomic_number[j],state_id[j]);
for(i=0;i<j;i++){ // check whether there is the same nuclei

if ( mass_number[il== mass_number[j] &&
atomic_number [i]==atomic_number[j] &&
state_id[i]== state_id[j] ){
printf ("Error: Entries no. %d and no. %d are the same\n",i,j);
}

}
}

printf ("\n lambdalO..%d][0..%d]=\n",nn-1,nn-1);
ng=0; // increased from zero if matrix lambda is not lower triangular
degeneracy=0; // changed to >0 if diagonal elements are equal
for (k=0;k<nn;k++){
for(1=0;1<nn;1++){

printf (" %15.7e",lambda[k] [1]);

if (1>k && lambdal[k] [1]!=0.0) ng++;

if(1!'=k &&

fabs (lambda [k] [k]-lambda[1] [1])/
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(fabs(lambda[k] [k])+fabs(lambda[1] [1])+1.0e-100)
<1.0e-13) degeneracy++;
}
printf ("\n");
}
if (ng>0){
printf("lambda is not lower triangular %d\n",ng);
exit(1);
}
if (degeneracy>0){
printf("eigen values of lambda is degenerated %d/2\n",degeneracy);
exit(1);
3

set_initial_state(A);

printf("\n n0[0..%d]=\n",nn-1);
for (k=0;k<nn;k++){
printf (" %12.5e",n0[k]);
+
printf("\n");

/*printf ("\n calil [j1=\n");
for(k=0;k<nn;k++){
for(1=0;1<nn;1++){
printf (" %15.7e",calk] [1]);
}
printf ("\n");
}x/

solve_c();

printf("\n c[0..%d][0..%d]=\n",nn-1,nn-1);
for (k=0;k<nn;k++){
for(1=0;1<nn;1++){
printf (" %15.7e",c[k][11);
}
printf("\n");
}

if (tmin < 0.0){
tmin=BIGNUM;
for(i=0;i<nn;i++){
if(halflife[i]>BIGNUMO) continue;
if (tmin>halflife[i]) tmin=halflifel[i];
}
tmin*=0.01;
}
if (tmax < 0.0){
tmax=0.0;
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for(i=0;i<nn;i++){
if (halflife[i]<BIGNUMO) tmax+=halflife[i];
}
tmax*=30.0;
}
if (tmin>tmax || tmin <= 0.0 || tmax > BIGNUMO){
fprintf (stderr,"error: tmin=Ye tmax=Je\n",tmin,tmax);
exit (0);
+
if (ntime<0) ntime=100;

time_evolution(tmin,tmax,ntime,fp_evo);
check_sum_n(tmin,tmax,ntime);
check_derivative(tmin,tmax,ntime) ;
return O;

double time_in_sec(double time,int timeunit){
switch(timeunit){
case sec :return time;break;
case min :return time*60.0;break;
case hour :return time*x3600.0;break;
case day :return timex*86400.0;break;
case year :return time*86400.0%365.0;break;
default :
fprintf(stderr,"time_in_sec:unknown time unit\n");
exit(1);
}
}

/*int analytic_c(){

ca[0] [0]=n0O[0];
cal[1] [1]1=n0[1]-(-1lambda[0] [0])/(-1lambda[1] [1]+1lambda[0] [0])*ca[0] [0];
ca[2] [2]=n0[2]-((-lambda[1] [1])/(-1lambda[2] [2]+1ambda[1] [1]))*ca[1] [1]

-((-lambda[1] [1])*(-1lambda[0] [0]))/((-lambda[2] [2]+1lambda [0] [0])

* (-lambda[1] [1]+lambda[0] [0]))*ca[0] [0];
cal[1]1[0]=1/(-1ambda[1] [1]+1lambda[0] [0])*1ambda[1] [0]*ca[0] [0];
cal[2] [0]=1/(-1lambda[2] [2]+lambda[0] [0])*(lambda[2] [0]*ca[0] [0]+lambda[2] [1]*cal[1][0]);
cal[2] [11=1/(-1ambda[2] [2]+1lambda[1] [1])*1lambda[2] [1]*cal[1][1];

}
x/
int solve_c(){
int i,j,k;
double cjk; //c_[3]1[k]
double laikckj; //1lambda_[i] [k]*c_[k] [j]

for(j=0;j<nn;j++){
if (§==00{
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c[j1[j1=n0[0];
}
else{
cjk=0;
for (k=0;k<=j-1;k++){
cjk+=c[j] [k];
}
c[j1[j1=n0[jl-cjk;
}
if (j<nn-1){
for(i=j+1;i<nn;i++){
laikckj=0;
for(k=j;k<=i-1;k++){
laikckj+=(lambdal[i] [k]*c[k] [j]1);

}
c[i] [j1=(1laikckj)/(-lambda[i] [i]+lambda[j] [j1);
}
+
}
return O;
}
double n_of_t(int i,double time){
int j;
double s=0;

for(j=0;j<=1i;j++){
s+=c[i] [j]*exp(lambdal[j] [j]l*time);
}

return s;

}

int time_evolution(double tmin, double tmax, int ntime, FILE *fp_evo){
int i,it;
double r,rr,t,bq;
r=pow (tmax/tmin,1.0/(ntime-1));
printf ("\n# time n[0..%d]\n",nn-1);

rr=1;
for(it=0; it<=ntime; it++){
if (it==0){
t=0;
+
else{

t=tmin*rr;
rr*=r;
}
printf("%11.5e",t);
for(i=0;i<nn;i++){
nlil=n_of_t(i,t);
bg=n[i] *fabs(lambdal[i] [i]); // becquerel= decays per second
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if (bg<1.0e-99) bq=0.0;
if (fabs(n[i])<1.0e-99) n[i]=0.0;
printf (" %12.5e",n[i]);
if (fp_evo !'= NULL){
fprintf (fp_evo,"%11.5e %12.5e %12.5e %3d %3d %1d %d \n"
,t,n[i] ,bq,mass_number[i],atomic_number[i],state_id[i],it);
}
}
printf (" :evo\n");
}
return O;

}

int check_sum_n(double tmin,double tmax,int ntime){
double s=0.0,s0=0.0,ds=0.0,maxerror=0.0,time=0.0;
double r,rr;
int i,itime=0;

for(i=0;i<=nn-1;i++){
s0+=n0[i];
}
r=pow(tmax/tmin,1.0/(ntime-1));
rr=1;
for(itime=1;itime<=ntime;itime++){
time=tmin*rr;
TTr*=r;
s=0.0;
for(i=0;i<nn;i++){
nlil=n_of_t(i,time);
if (n[i1>=0){
s+=n[i];
}
else if(n[il<-1.0e-16){
printf ("check_sum_n:error:negative n[%d]=%15.7e at t=%d\n"
,i,n[i],itime);
}
}
ds=fabs(s-s0);
if (ds>1.0e-9){
printf ("check_sum_n:warning:large error %.5e at time %.5e\n",ds,time);
}
if (maxerror<ds) maxerror=ds;
}
printf("\nSigma n’s max error =}%.7e, max relative error=j,.7e\n"
,maxerror ,maxerror/ (s0+1.0e-99));

return O;

¥

int check_derivative(double tmin,double tmax,int ntime){
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double sumn,dn,ds,dt,time,dtopt,r,rr;

double relative_error, max_relative_error=0.0, maxerror=0.0;
double ds1,ds2,ds3,ds4,ds5,dsmin;

int i,j,k,itime;

const int printlevel = 0;

r=pow(tmax/tmin,1.0/(ntime-1));

rr=1;
for(itime=0;itime<=ntime;itime++){ //ntime_partition
if (itime==0){
time=0;
}
else{

time=tmin*rr;

rr*=r;
}
if (printlevel>0) printf("%11.5e",time);
for(i=0;i<nn;i++){

nlil=n_of_t(i,time);

sumn=0.0;

for(j=0;j<nn; j++){

sumn+=lambda[i] [j1*n[j];
}

dsmin=ds1=ds2=ds3=ds4=ds5=BIGNUM;

dt=1.0e-12;

for (k=1;k<=200;k++){ // search dt which minimizes the error
dn=(- n_of_t(i,time+dt*2)+8*n_of_t(i,time+dt)

-8+n_of _t(i,time-dt) + n_of_t(i,time-dt*2))/(12%dt);
dsb=ds4; ds4=ds3; ds3=ds2; ds2=dsl; dsl=fabs(dn-sumn);
ds=(ds1+ds2+ds3+ds4+ds5)/5.0;
if (dsmin > ds) {dsmin=ds; dtopt=dt;}
dt=dt*1.77827941; // 10°(1/4)=1.778
if (dt>tmax) break;

}
ds=dsmin;
if (maxerror<ds) maxerror=ds;
relative_error=ds/(fabs(sumn)+1.0e-50);
if (printlevel==1) printf(" %12.5e",ds);
if (printlevel==2) printf(" %12.5e",relative_error);
if (printlevel==3) printf(" ¥%12.5e %12.5e",ds,dtopt);
if (printlevel>3) printf(" %12.5e %12.5e",relative_error,dtopt);
if (max_relative_error<relative_error) max_relative_error=relative_error;
}
if (printlevel>0)printf ("\n");
}
printf ("\ndn/dt’s max error=J,.7e, max relative error=j.7e\n"
,maxerror,max_relative_error);
return O;
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#include "set_lambda_140.c"

int set_lambda(int A){
nn=-1;
if (A==126) set_lambda_126(A);
if (A==127) set_lambda_127(A);
if (A==128) set_lambda_128(A);
if (A==129) set_lambda_129(A);
if (A==130) set_lambda_130(A);
if (A==131) set_lambda_131(A);
if (A==132) set_lambda_132(A);
if (A==133) set_lambda_133(A);
if (A==134) set_lambda_134(A);
if (A==135) set_lambda_135(4);
if (A==136) set_lambda_136(A);
if (A==137) set_lambda_137(4);
if (A==138) set_lambda_138(A);
if (A==139) set_lambda_139(4);
if (A==140) set_lambda_140(A);
if (A==141) set_lambda_141(A);
if (A==142) set_lambda_142(A);
if (A==143) set_lambda_143(A);
if (A==144) set_lambda_144(A);
if (A==145) set_lambda_145(A);
if (A==146) set_lambda_146(4A);
if (A==147) set_lambda_147(A);
if (A==148) set_lambda_148(A);
if (A==149) set_lambda_149(A);
if (A==150) set_lambda_150(4);
if (A==151) set_lambda_151(A);
if (A==152) set_lambda_152(A);
if (A==153) set_lambda_153(A);
if (A==154) set_lambda_154(A);
if (nn==-1){
fprintf(stderr,"set_lambda: A=%d is not implemented.\n",A);
exit(1);
}

return O;

double halflife_to_decayrate(double halflife){ // T_{1/2} -> lambda converter
const double 1n2=log(2.0);
static int zero_counter=0;
if (halflife>BIGNUMO) {
return (++zero_counter +10)*1.0e-31; // to avoid degeneracy of zero
}
return (1n2/(halflife));
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int set_halflife(int element, int A, int Z, int state, double T, int unit){
// element =0,1,...,nn-1 is the serial number to specify nucleus and state
// A is mass number
// Z is atomic number
// state is =0 for ground state, =1,2,.. for isomers
// T is half life
// unit is the unit of T to be chosen among enum{sec,min,hour,day,year}
mass_number [element]=A;
atomic_number[element]=Z;
state_id[element]=state;
halflifel[element]=time_in_sec(T,unit);
lambda[element] [element]=-halflife_to_decayrate(halflife[element]);
return O;

#tdefine ZMAX1 100
#tdefine NMAX1 150
#define ISMR1 3

double fission_yield[ZMAX1] [NMAX1] [ISMR1]; // [Z] [N] [iex]
// iex=0 for ground state, iex>=1 for isomers

int set_initial_state(int A){
FILE *fp;
char buff[1024];
int i1,i2,i3,i4,i,j,k,z,n; // NB) name collision of "n" with a global array
double ril,sum;
const int debug=1;

for (i=0;i<ZMAX1;i++){
for(j=0; j<NMAX1;j++){
for (k=0;k<ISMR1;k++){
fission_yield[i] [j] [k]=0.0;
}
}
}
i=0;
sum=0.0;
fp=fopen("235ut.dat","rt");
if (fp==NULL){
fprintf(stderr,"fission yield data file cannot be opened.\n");

exit(1);
}
while(fgets(buff,1024,fp) !'= NULL){
if (buff [0] == ’#’) {continue;} // regarded as a comment line

sscanf (buff,"%d %d %d %d %le",&il,&i2,&i3,&i4,&rl);
if(i1<0 || i2<0 || i3<0 || i1'=i2+i3 || i1>400 || i4<0 || i4>10 || r1<0.0){
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fprintf (stderr,"error in reading a line:\n%s",buff);
exit(1);
}
if (i2>=ZMAX1 || i3>=NMAX1 ||i4>=ISMR1){
fprintf(stderr,"to small array sizes for a data line:\n¥%s",buff);
exit(1);
}
r1*=0.01; // original data are for 100 fissions. Now, for 1 fission.
fission_yield[i2] [13] [i4]+=r1;
sum+=ri;
i++;
}
fclose(fp);
if (debug>0) printf("#fission yield data: number=Y%d sum=%.6f \n",i,sum);

// modifications for neutron emission
#include "set_initial_state_140.c"

for(j=0; j<nn;j++){
z=atomic_number[j];
n=mass_number[j]-z;
i=state_id[j];
if (z>=ZMAX1 || n>=NMAX1) exit(1);
n0[jl=fission_yield[z] [n] [i];

// check whether there are any decay products which are not taken into account
// in the decay chain of mass number A

for(z=0;z<ZMAX1;z++){

n=A-z;

if (n<0) continue;

for(i=0;i<ISMR1;i++){
if (fission_yield[z] [n] [i]1<=0.0) continue;
for(j=0;j<nn;j++){

if (mass_number [j]==A && atomic_number[jl==z && state_id[jl==i)goto L1;

}
printf ("Warning: A=)d Z=Yd state=Yd yield=ie is not considered in decay chain\n"
,ztn,z,i,fission_yield[z] [n] [i]);

Ll:;

}

return O;

}

set_intial_95
[/———————————— modifications for neutron emission : begin -------—---—--————-

fission_yield[42] [67] [0]+=fission_yield[41] [68] [0];
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fission_yield[41][68] [0]=0.0;

fission_yield[43] [66] [0]+=fission_yield[42] [67] [0]*0.987;
fission_yield[43] [65] [0]+=fission_yield[42] [67] [0]*0.013;

fission_yield[42] [67][0]=0.0;

fission_yield[45] [64] [0]+=fission_yield[45] [64] [1];

fission_yield[45] [64] [1]=0.0;

fission_yield[41] [67] [0]+=fission_yield[40] [68] [0];

fission_yield[40] [68] [0]=0.0;

fission_yield[42] [66] [0]+=fission_yield[41] [67] [0]*O0.
fission_yield[42] [65] [0]+=fission_yield[41][67] [0]*0.

fission_yield[41] [67][0]=0.0;

fission_yield[42] [65] [0]+=fission_yield[41] [66] [0]*O0.
fission_yield[42] [64] [0]+=fission_yield[41] [66] [0]*O0.

fission_yield[41] [66] [0]=0.0;

fission_yield[41] [65] [0]+=fission_yield[40] [66] [0]*O0.
fission_yield[41] [64] [0]+=fission_yield[40] [66] [0]*O0.

fission_yield[40] [66] [0]=0.0;

fission_yield[42] [64] [0]+=fission_yield[41] [65] [0]*0.
fission_yield[42] [63] [0]+=fission_yield[41] [65] [0]*O0.

fission_yield[41] [65] [0]=0.0;

fission_yield[41] [64] [0]+=fission_yield[40] [65] [0]*O0.
fission_yield[41] [63] [0]+=fission_yield[40] [65] [0]*O0.

fission_yield[40] [65] [0]=0.0;

fission_yield[42] [63] [0]+=fission_yield[41] [64] [0]*O0.
fission_yield[42] [62] [0]+=fission_yield[41] [64] [0]*0.

fission_yield[41] [64] [0]=0.0;

fission_yield[39] [65] [0]+=fission_yield[38] [66] [0];

fission_yield[38] [66] [0]=0.0;

fission_yield[40] [64] [0]+=fission_yield[39] [65] [0];

fission_yield[39] [65] [0]=0.0;

fission_yield[40] [63] [0]+=fission_yield[39] [64] [0]*O0.
fission_yield[40] [62] [0]+=fission_yield[39] [64] [0]*O0.

fission_yield[39] [64] [0]=0.0;

fission_yield[38] [64] [0]+=fission_yield[37][65] [0]*0.
fission_yield[38] [63] [0]+=fission_yield[37] [65] [0]*O0.

fission_yield[37] [65] [0]=0.0;
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fission_yield[39] [63] [0]+=fission_yield[38] [64] [0]*0.
fission_yield[39] [62] [0]+=fission_yield[38] [64] [0]*O0.

fission_yield[38] [64] [0]=0.0;

fission_yield[40] [62] [0]+=fission_yield[39] [63] [1]*O0.
fission_yield[40] [61] [0]+=fission_yield[39] [63] [1]*0.

fission_yield[39] [63][1]1=0.0;

fission_yield[40] [62] [0]+=fission_yield[39] [63] [0]*O0.
fission_yield[40] [61] [0]+=fission_yield[39] [63] [0]*O0.

fission_yield[39] [63][0]=0.0;

fission_yield[38] [63] [0]+=fission_yield[37] [64] [0]*0.
fission_yield[38] [62] [0]+=fission_yield[37] [64] [0]*O0.

fission_yield[37] [64] [0]=0.0;

fission_yield[39] [62] [0]+=fission_yield[38] [63] [0]*O0.
fission_yield[39] [61] [0]+=fission_yield[38] [63] [0]*O0.

fission_yield[38] [63] [0]1=0.0;

fission_yield[40] [61] [0]+=fission_yield[39] [62] [0]*O0.
fission_yield[40] [60] [0]+=fission_yield[39] [62] [0]*0.

fission_yield[39][62] [0]=0.0;

fission_yield[37] [63] [0]+=fission_yield[36] [64] [0];
fission_yield[36] [64] [0]=0.0;

fission_yield[38] [62] [0]+=fission_yield[37] [63] [0]*O0.
fission_yield[38] [61] [0]+=fission_yield[37] [63] [0]*O0.
fission_yield[38] [60] [0]+=fission_yield[37] [63] [0]*O0.

fission_yield[37] [63][0]=0.0;

fission_yield[39] [61] [0]+=fission_yield[38] [62] [0]*0.
fission_yield[39] [60] [0]+=fission_yield[38] [62] [0]*O0.

fission_yield[38] [62] [0]=0.0;

fission_yield[40] [60] [0]+=fission_yield[39] [61] [1];
fission_yield[39] [61][1]=0.0;

fission_yield[40] [60] [0]+=fission_yield[39] [61] [0]*O0.
fission_yield[40] [69] [0]+=fission_yield[39] [61] [0]*O0.

fission_yield[39] [61] [0]=0.0;

fission_yield[38] [61] [0]+=fission_yield[37][62] [0]*0.
fission_yield[38] [60] [0]+=fission_yield[37] [62] [0]*O0.

fission_yield[37][62] [0]=0.0;

fission_yield[39] [60] [0]+=fission_yield[38] [61] [0]*O0.
fission_yield[39] [69] [0]+=fission_yield[38] [61] [0]*O0.
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fission_yield[38] [61] [0]=0.0;

fission_yield[40] [69] [0]+=fission_yield[39] [60] [0]*0.
fission_yield[40] [568] [0]+=fission_yield[39] [60] [0]*O0.

fission_yield[39] [60] [0]=0.0;

fission_yield[37] [61] [0]+=fission_yield[36] [62] [0]*O0.
fission_yield[37] [60] [0]+=fission_yield[36] [62] [0]*O0.

fission_yield[36] [62] [0]1=0.0;

fission_yield[38] [60] [0]+=fission_yield[37][61] [1];
fission_yield[37][61][1]1=0.0;

fission_yield[38] [60] [0]+=fission_yield[37][61] [0]*0.
fission_yield[38] [69] [0]+=fission_yield[37] [61] [0]*O0.

fission_yield[37][61][0]=0.0;

fission_yield[39] [69] [0]+=fission_yield[38] [60] [0]*O0.
fission_yield[39] [68] [0]+=fission_yield[38] [60] [0]*O0.

fission_yield[38] [60] [0]=0.0;

fission_yield[40] [68] [0]+=fission_yield[39] [69] [1]*0.
fission_yield[40] [67] [0]+=fission_yield[39] [69] [1]*0.

fission_yield[39][569][1]=0.0;

fission_yield[40] [68] [0]+=fission_yield[39] [69] [0]*O0.
fission_yield[40] [67] [0]+=fission_yield[39] [69] [0]*O0.

fission_yield[39] [569] [0]=0.0;

fission_yield[37] [60] [0]+=fission_yield[36] [61] [0]*O0.
fission_yield[37] [69] [0]+=fission_yield[36] [61] [0]*O0.

fission_yield[36] [61] [0]=0.0;

fission_yield[38] [69] [0]+=fission_yield[37] [60] [0]*0.
fission_yield[38] [68] [0]+=fission_yield[37] [60] [0]*O0.

fission_yield[37][60] [0]=0.0;

fission_yield[35] [61] [0]+=fission_yield[34] [62] [0];
fission_yield[34] [62] [0]=0.0;

fission_yield[36] [60] [0]+=fission_yield[35] [61] [0]*O0.
fission_yield[36] [69] [0]+=fission_yield[35] [61] [0]*O0.

fission_yield[35] [61] [0]=0.0;

fission_yield[37] [69] [0]+=fission_yield[36] [60] [0]*0.
fission_yield[37] [68] [0]+=fission_yield[36] [60] [0]*O0.

fission_yield[36] [60] [0]=0.0;

fission_yield[38] [68] [0]+=fission_yield[37] [69] [0]*O0.
fission_yield[38] [67] [0]+=fission_yield[37] [69] [0]*O0.
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fission_yield[37] [59] [0]=0.0;

fission_yield[37] [68] [0]+=fission_yield[36] [69] [0]*0.
fission_yield[37] [67] [0]+=fission_yield[36] [69] [0]*O0.
fission_yield[36] [569] [0]=0.0;

fission_yield[38] [67] [0]+=fission_yield[37] [68] [0]*0.
fission_yield[38] [66] [0]+=fission_yield[37] [568] [0]*O0.
fission_yield[37] [58] [0]=0.0;

fission_yield[35] [69] [0]+=fission_yield[34] [60] [0];
fission_yield[34] [60] [0]=0.0;

fission_yield[36] [68] [0]+=fission_yield[35] [69] [0]*0.
fission_yield[36] [67] [0]+=fission_yield[35] [69] [0]*O0.
fission_yield[35] [569] [0]=0.0;

fission_yield[37] [67] [0]+=fission_yield[36] [68] [0]*0.
fission_yield[37] [66] [0]+=fission_yield[36] [568] [0]*O0.
fission_yield[36] [58] [0]1=0.0;

fission_yield[38] [66] [0]+=fission_yield[37] [67] [0]*O0.
fission_yield[38] [65] [0]+=fission_yield[37] [567] [0]*0.
fission_yield[37][567]1[0]=0.0;

fission_yield[36] [67] [0]+=fission_yield[35] [68] [0]*O0.
fission_yield[36] [66] [0]+=fission_yield[35] [68] [0]*O0.
fission_yield[35] [68] [0]=0.0;

fission_yield[37] [66] [0]+=fission_yield[36] [567] [0]*O0.
fission_yield[37] [65] [0]+=fission_yield[36] [67] [0]*O0.
fission_yield[36] [567][0]=0.0;

fission_yield[38] [65] [0]+=fission_yield[37] [66] [0]*0.
fission_yield[38] [64] [0]+=fission_yield[37] [66] [0]*O0.
fission_yield[37] [56] [0]=0.0;

fission_yield[35] [67] [0]+=fission_yield[34] [58] [0];
fission_yield[34] [568] [0]=0.0;

fission_yield[36] [66] [0]+=fission_yield[35] [567] [0]*O0.
fission_yield[36] [65] [0]+=fission_yield[35] [67] [0]*O0.
fission_yield[35] [567][0]=0.0;

fission_yield[35] [66] [0]+=fission_yield[34] [67] [0]*0.
fission_yield[35] [65] [0]+=fission_yield[34] [67] [0]*O0.
fission_yield[34] [57] [0]=0.0;

fission_yield[36] [65] [0]+=fission_yield[35] [66] [0]*O0.
fission_yield[36] [64] [0]+=fission_yield[35] [66] [0]*O0.
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fission_yield[35] [66] [0]=0.0;

fission_yield[35] [65] [0]+=fission_yield[34] [56] [0];
fission_yield[34] [566] [0]=0.0;

fission_yield[36] [64] [0]+=fission_yield[35] [65] [0]*O0.
fission_yield[36] [63] [0]+=fission_yield[35] [65] [0]*O0.

fission_yield[35] [565] [0]=0.0;

fission_yield[34] [65] [0]+=fission_yield[33] [56] [0];
fission_yield[33] [66][0]=0.0;

fission_yield[35] [64] [0]+=fission_yield[34] [65] [0]*O0.
fission_yield[35] [63] [0]+=fission_yield[34] [65] [0]*0.

fission_yield[34] [65] [0]=0.0;

fission_yield[36] [63] [0]+=fission_yield[35] [564] [0]*O0.
fission_yield[36] [62] [0]+=fission_yield[35] [64] [0]*O0.

fission_yield[35] [54] [0]=0.0;

fission_yield[33] [65] [0]+=fission_yield[32] [56] [0];
fission_yield[32] [66] [0]=0.0;

fission_yield[34] [64] [0]+=fission_yield[33] [565] [0];
fission_yield[33] [565] [0]=0.0;

fission_yield[35] [63] [0]+=fission_yield[34] [564] [0]*O0.
fission_yield[35] [62] [0]+=fission_yield[34] [564] [0]*O0.

fission_yield[34] [54] [0]=0.0;

fission_yield[36] [62] [0]+=fission_yield[35] [63] [0]*O0.
fission_yield[36] [61] [0]+=fission_yield[35] [563] [0]*O0.

fission_yield[35] [63] [0]=0.0;

fission_yield[33] [64] [0]+=fission_yield[32] [565] [0];
fission_yield[32] [65] [0]=0.0;

fission_yield[34] [63] [0]+=fission_yield[33] [564] [0]*O0.
fission_yield[34] [62] [0]+=fission_yield[33] [564] [0]*O0.

fission_yield[33] [64][0]=0.0;

fission_yield[35] [62] [0]+=fission_yield[34] [63] [0]*O0.
fission_yield[35] [61] [0]+=fission_yield[34] [563] [0]*O0.

fission_yield[34] [63] [0]=0.0;

fission_yield[36] [61] [0]+=fission_yield[35] [62] [0]*O0.
fission_yield[36] [60] [0]+=fission_yield[35] [62] [0]*0.

fission_yield[35] [62] [0]=0.0;

fission_yield[31] [65] [0]+=fission_yield[30] [56] [0];

86

748;
252;

922;
078;

862;
138;

9933;
0067;

9342;
0658;

846;
154;

998;
002;

974;
026;



fission_yield[30] [566] [0]=0.0;

fission_yield[32] [64] [0]+=fission_yield[31] [55] [0];
fission_yield[31] [65] [0]=0.0;

fission_yield[33] [63] [0]+=fission_yield[32] [54] [0];
fission_yield[32] [64] [0]=0.0;

fission_yield[34] [62] [0]+=fission_yield[33] [63] [0]*O0.
fission_yield[34] [561] [0]+=fission_yield[33] [563] [0]*O0.

fission_yield[33] [63] [0]=0.0;

fission_yield[35] [61] [0]+=fission_yield[34] [562] [0];
fission_yield[34] [52] [0]=0.0;

fission_yield[36] [60] [0]+=fission_yield[35] [61] [1]*O0.
fission_yield[36] [49] [0]+=fission_yield[35] [61] [1]*0.

fission_yield[35] [51][1]1=0.0;

fission_yield[32] [63] [0]+=fission_yield[31] [64] [0]*O0.
fission_yield[32] [62] [0]+=fission_yield[31] [54] [0]*O0.

fission_yield[31] [54] [0]=0.0;

fission_yield[33] [62] [0]+=fission_yield[32] [63] [0]*O0.
fission_yield[33] [61] [0]+=fission_yield[32] [63] [0]*0.

fission_yield[32] [63] [0]=0.0;

fission_yield[34] [61] [0]+=fission_yield[33] [562] [0]*O0.
fission_yield[34] [60] [0]+=fission_yield[33] [62] [0]*O0.

fission_yield[33] [52] [0]=0.0;

fission_yield[35] [60] [0]+=fission_yield[34] [51] [0];
fission_yield[34] [561] [0]=0.0;

fission_yield[35] [60] [0]+=fission_yield[34] [61] [1]*O0.
fission_yield[35] [49] [0]+=fission_yield[34] [61] [1]*0.

fission_yield[34] [51][1]=0.0;

fission_yield[31] [63] [0]+=fission_yield[30] [54] [0];
fission_yield[30] [64][0]=0.0;

fission_yield[32] [62] [0]+=fission_yield[31] [63] [0]*O0.
fission_yield[32] [61] [0]+=fission_yield[31] [563] [0]*O0.

fission_yield[31] [63] [0]=0.0;

fission_yield[33] [61] [0]+=fission_yield[32] [62] [0]*O0.
fission_yield[33] [60] [0]+=fission_yield[32] [62] [0]*0.

fission_yield[32] [62] [0]=0.0;

fission_yield[31] [62] [0]+=fission_yield[30] [53] [0];
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fission_yield[30] [563] [0]=0.0;

fission_yield[32] [61] [0]+=fission_yield[31] [62] [0]*0.372;
fission_yield[32] [60] [0]+=fission_yield[31] [562] [0]*0.628;
fission_yield[31] [62] [0]=0.0;

fission_yield[30] [62] [0]+=fission_yield[29] [53] [0];
fission_yield[29] [63] [0]=0.0;

fission_yield[31] [61] [0]+=fission_yield[30] [52] [0];
fission_yield[30] [62] [0]=0.0;

fission_yield[32] [60] [0]+=fission_yield[31] [61] [0]*0.802;
fission_yield[32] [49] [0]+=fission_yield[31][51] [0]*0.198;
fission_yield[31] [61][0]=0.0;

fission_yield[31] [60] [0]+=fission_yield[30] [51] [0]*0.925;
fission_yield[31] [49] [0]+=fission_yield[30] [61] [0]*0.075;
fission_yield[30] [51] [0]=0.0;

fission_yield[32] [49] [0]+=fission_yield[31] [50] [0]*0.881;
fission_yield[32] [48] [0]+=fission_yield[31] [60] [0]*0.119;
fission_yield[31] [50] [0]=0.0;

fission_yield[29] [61] [0]+=fission_yield[28] [52] [0];
fission_yield[28] [62] [0]=0.0;

fission_yield[30] [60] [0]+=fission_yield[29] [51] [0];
fission_yield[29] [61] [0]=0.0;

fission_yield[31][49] [0]+=fission_yield[30] [50] [0]*0.99;
fission_yield[31] [48] [0]+=fission_yield[30] [50] [0]*0.01;
fission_yield[30] [50] [0]=0.0;

fission_yield[32] [48] [0]+=fission_yield[31] [49] [0]*0.9914;
fission_yield[32] [47] [0]+=fission_yield[31] [49] [0]*0.0086;
fission_yield[31] [49] [0]=0.0;

fission_yield[30] [49] [0]+=fission_yield[29] [50] [0]*0.45;
fission_yield[30] [48] [0]+=fission_yield[29] [50] [0]*0.55;
fission_yield[29] [50] [0]=0.0;

fission_yield[31] [48] [0]+=fission_yield[30] [49] [0]*0.987;
fission_yield[31] [47] [0]+=fission_yield[30] [49] [0]*0.013;
fission_yield[30] [49] [0]=0.0;

[//————————— modifications for neutron emission : end ~——————————————————-
set_intial_140
/)= modifications for neutron emission : begin -------------------
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// A Z N el A Z N el raito

// 128 46 82 Pb -> 127 47 80 Ag 1
fission_yield[47][80] [0]+=fission_yield[46] [82] [0];
fission_yield[46] [82] [0]=0.0;

// 130 46 84 Pd -> 129 47 82 Ag 1
fission_yield[47] [82] [0]+=fission_yield[46] [84] [0];
fission_yield[46] [84] [0]=0.0;

// 129 47 82 Ag -> 129 48 81 Cd 1
fission_yield[48] [81] [0]+=fission_yield[47] [82] [0];
fission_yield[47][82] [0]=0.0;

// 130 47 83 Ag -> 129 48 81 Cd 1
fission_yield[48] [81] [0]+=fission_yield[47] [83][0];
fission_yield[47][83][0]=0.0;

// A Z Nel A Z N el ratio

// 129 48 81 Cd -> 129 49 80 In 1
fission_yield[49] [80] [0]+=fission_yield[48] [81] [0];
fission_yield[48] [81][0]=0.0;

// 129 49 80 Inl -> 128 50 78 Sn 0.025

// 129 49 80 Inl -> 129 50 79 Sn 0.975
fission_yield[50] [78] [0]+=fission_yield[49] [80] [1]*0.
fission_yield[50] [79] [0]+=fission_yield[49] [80] [1]*O0.
fission_yield[49] [80] [1]=0.0;

// A Z Nel A Z N el ratio

// 131 48 83 Cd -> 130 49 81 In 0.035

// 131 48 83 Cd -> 131 49 82 In 0.965
fission_yield[49] [81] [0]+=fission_yield[48] [83] [0]*0.
fission_yield[49] [82] [0]+=fission_yield[48] [83] [0]*O0.
fission_yield[48] [83][0]=0.0;

// 130 48 82 Cd -> 130 49 81 In 0.965

// 130 48 82 Cd -> 129 49 80 In 0.035
fission_yield[49] [81] [0]+=fission_yield[48] [82] [0]*O0.
fission_yield[49] [80] [0]+=fission_yield[48] [82] [0]*0.
fission_yield[48] [82] [0]=0.0;

// 130 49 81 In -> 130 50 80 Sm 0.9907

// 130 49 81 In -> 129 50 79 Sn 0.0093
fission_yield[50] [80] [0]+=fission_yield[49] [81] [0]*O0.
fission_yield[50] [79] [0]+=fission_yield[49] [81] [0]*0.
fission_yield[49] [81][0]=0.0;

// 130 49 81 Inl -> 130 50 80 Sn 0.9835

// 130 49 81 Inl -> 129 50 79 Sn 0.0165
fission_yield[50] [80] [0]+=fission_yield[49] [81] [1]*0.
fission_yield[50] [79] [0]+=fission_yield[49] [81] [1]*O0.
fission_yield[49] [81][1]=0.0;

// 130 49 81 In2 -> 130 50 80 Smn 0.9835

// 130 49 81 In2 -> 129 50 79 Sn 0.0165
fission_yield[50] [80] [0]+=fission_yield[49] [81] [2]*0.
fission_yield[50] [79] [0]+=fission_yield[49] [81] [2]*O0.
fission_yield[49] [81][2]=0.0;
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// A Z N el A Z N el ratio
// 131 49 82 In -> 131 50 81 Sn 0.98
// 131 49 82 In -> 130 50 80 Sn 0.02

fission_yield[50] [81] [0]+=fission_yield[49] [82] [0]*O0.
fission_yield[50] [80] [0]+=fission_yield[49] [82] [0]*O0.

fission_yield[49] [82] [0]=0.0;

// A Z Nel A yA N el ratio
// 132 49 83 In -> 132 50 82 Sn 0.937
// 132 49 83 In -> 131 50 81 Sn 0.063

fission_yield[50] [82] [0]+=fission_yield[49] [83] [0]*0.
fission_yield[50] [81] [0]+=fission_yield[49] [83] [0]*0.

fission_yield[49] [83][0]=0.0;

// A Z Nel A Z N el ratio

// 134 48 86 Cd -> 133 49 84 In 1.0
fission_yield[49] [84] [0]+=fission_yield[48] [86] [0];
fission_yield[48] [86] [0]=0.0;

// 133 49 84 In -> 133 50 83 Sn 0.15

// 133 49 84 In -> 132 50 82 Sn 0.85

fission_yield[50] [83] [0]+=fission_yield[49] [84] [0]*O0.
fission_yield[50] [82] [0]+=fission_yield[49] [84] [0]*O0.

fission_yield[49] [84] [0]=0.0;

// A Z N el A Z N el ratio
// 134 49 85 In -> 134 50 84 Sn 0.35
// 134 49 85 In -> 133 50 83 Sn 0.65

fission_yield[50] [84] [0]+=fission_yield[49] [85] [0]*O0.
fission_yield[50] [83] [0]+=fission_yield[49] [85] [0]*O0.

fission_yield[49] [85] [0]=0.0;
// 134 50 84 Sn -> 134 51 83 Sb 0.83
// 134 50 84 Sn -> 133 51 82 Sb 0.17

fission_yield[51] [83] [0]+=fission_yield[50] [84] [0]*O0.
fission_yield[51] [82] [0]+=fission_yield[50] [84] [0]*0.

fission_yield[50] [84] [0]=0.0;

// A Z Nel A yA N el ratio
// 136 49 87 In -> 136 50 86 Sn 0.5
// 136 49 87 In -> 135 50 85 Sn 0.5

fission_yield[50] [86] [0]+=fission_yield[49] [87] [0]*O0.
fission_yield[50] [85] [0]+=fission_yield[49] [87] [0]*O0.

fission_yield[49] [87] [0]=0.0;
// 136 50 86 Sn -> 135 51 84 Sb 0.3
// 136 50 86 Sn -> 136 51 85 Sb 0.7

fission_yield[51] [84] [0]+=fission_yield[50] [86] [0]*0.
fission_yield[51] [85] [0]+=fission_yield[50] [86] [0]*O0.

fission_yield[50] [86] [0]=0.0;
// 135 50 85 Sn -> 135 51 84 Sb 0.79
// 135 50 85 Sn -> 134 51 83 Sb 0.21

fission_yield[51] [84] [0]+=fission_yield[50] [85] [0]*O0.
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fission_yield[51] [83] [0]+=fission_yield[50] [85] [0]*0.21;
fission_yield[50] [85] [0]=0.0;

// 135 51 84 Sb -> 135 52 83 Te 0.78

// 135 51 84 Sb -> 134 52 82 Te 0.22
fission_yield[52] [83] [0]+=fission_yield[51] [84] [0]*0.78;
fission_yield[52] [82] [0]+=fission_yield[51] [84] [0]*0.22;
fission_yield[51] [84] [0]=0.0;

// A Z N el A Z N el ratio

// 138 50 88 Sn -> 137 51 86 Sb 1.0
fission_yield[51] [86] [0]+=fission_yield[50] [88] [0];
fission_yield[50] [88] [0]=0.0;

// 137 50 87 Sn -> 136 51 85 Sb 0.58

// 137 50 87 Sn -> 137 51 86 Sb 0.42
fission_yield[51] [85] [0]+=fission_yield[50] [87] [0]*0.58;
fission_yield[51] [86] [0]+=fission_yield[50] [87] [0]*0.42;
fission_yield[50] [87] [0]=0.0;

// 137 51 86 Sb -> 136 52 84 Te 0.49

// 137 51 86 Sb -> 137 52 85 Te 0.51
fission_yield[52] [84] [0]+=fission_yield[51] [86] [0]*0.49;
fission_yield[52] [85] [0]+=fission_yield[51] [86] [0]*0.51;
fission_yield[51] [86] [0]=0.0;

// 136 51 85 Sb -> 136 52 84 Te 0.837

// 136 51 85 Sb -> 135 52 83 Te 0.163
fission_yield[52] [84] [0]+=fission_yield[51] [85] [0]*0.837;
fission_yield[52] [83] [0]+=fission_yield[51] [85] [0]*0.163;
fission_yield[51][85] [0]=0.0;

// 136 52 84 Te -> 136 53 83 I 0.9869

// 136 52 84 Te -> 135 53 82 I 0.0131
fission_yield[563] [83] [0]+=fission_yield[52] [84] [0]*0.9869;
fission_yield[53] [82] [0]+=fission_yield[52] [84] [0]*0.0131;
fission_yield[52] [84] [0]=0.0;

// A Z Nel A Z N el ratio

// 138 51 87 Sb -> 138 52 86 Te 0.28

// 138 51 87 Sb -> 137 52 85 Te 0.72
fission_yield[52] [86] [0]+=fission_yield[51] [87] [0]*0.28;
fission_yield[52] [85] [0]+=fission_yield[51] [87] [0]*0.72;
fission_yield[51][87][0]=0.0;

// 139 51 88 Sb -> 139 52 87 Te 0.1

// 139 51 88 Sb —-> 138 52 86 Te 0.9
fission_yield[52] [87] [0]+=fission_yield[51] [88] [0]*0.9;
fission_yield[52] [86] [0]+=fission_yield[51][88] [0]*0.1;
fission_yield[51][88] [0]=0.0;

// 138 52 86 Te -> 138 53 84 I 0.063

// 138 52 86 Te -> 138 53 85 I 0.937
fission_yield[53] [84] [0]+=fission_yield[52] [86] [0]*0.063;
fission_yield[53] [85] [0]+=fission_yield[52] [86] [0]*0.937;
fission_yield[52] [86] [0]=0.0;
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// 137 52 85 Te -> 137 53 84 I 0.9701

// 137 52 85 Te -> 136 53 83 I 0.0299
fission_yield[53] [84] [0]+=fission_yield[52] [85] [0]*0.9701;
fission_yield[53] [83] [0]+=fission_yield[52] [85] [0]*0.0299;
fission_yield[52] [85] [0]=0.0;

// 137 53 84 I -> 137 54 83 Xe 0.9286

// 137 53 84 I -> 136 54 82 Xe 0.0714
fission_yield[54] [83] [0]+=fission_yield[53] [84] [0]*0.9286;
fission_yield[54] [82] [0]+=fission_yield[53] [84] [0]*0.0714;
fission_yield[53] [84] [0]=0.0;

// A Z Nel A Z N el ratio

// 139 52 87 Te -> 138 53 851 1.0
fission_yield[53] [85] [0]+=fission_yield[52] [87] [0];
fission_yield[52] [87] [0]=0.0;

// 138 53 85 I -> 138 54 84 Xe 0.9444

// 138 53 85 I -> 137 54 83 Xe 0.0556
fission_yield[54] [84] [0]+=fission_yield[53] [85] [0]*0.9444;
fission_yield[54] [83] [0]+=fission_yield[53] [85] [0]*0.0556;
fission_yield[53] [85] [0]=0.0;

// A Z N el A Z N el ratio

// 140 52 88 Te -> 139 53 86 I 1.0
fission_yield[53] [86] [0]+=fission_yield[52] [88] [0];
fission_yield[52] [88] [0]=0.0;

// 139 53 86 I —> 139 54 85 Xe 0.9

// 139 53 86 I -> 138 54 84 Xe 0.1
fission_yield[54] [85] [0]+=fission_yield[53] [86] [0]*0.
fission_yield[54] [84] [0]+=fission_yield[53] [86] [0]*O0.
fission_yield[53] [86] [0]1=0.0;

= O

// A Z Nel A Z N el ratio

// 140 53 87 I —> 140 54 86 Xe 0.907

// 140 53 87 I —> 139 54 85 Xe 0.093
fission_yield[54] [86] [0]+=fission_yield[53] [87] [0]*0.907;
fission_yield[54] [85] [0]+=fission_yield[53] [87] [0]*0.093;
fission_yield[53] [87][0]=0.0;

// A Z N el A Z N el ratio

// 141 53 88 I -> 141 54 87 Xe 0.788

// 141 53 88 I —> 140 54 86 Xe 0.212
fission_yield[54] [87] [0]+=fission_yield[53] [88] [0]*0.788;
fission_yield[54] [86] [0]+=fission_yield[53] [88] [0]*0.212;
fission_yield[53] [88] [0]=0.0;

// A Z N el A Z N el ratio

// 142 52 90 Te -> 142 53 89 I 1.0
fission_yield[53] [89] [0]+=fission_yield[52] [90] [0];
fission_yield[52] [90] [0]=0.0;
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// A Z Nel A Z N el ratio

// 144 54 90 Xe -> 143 55 88 Cs 0.03

// 144 54 90 Xe -> 144 55 89 Cs 0.97
fission_yield[55] [88] [0]+=fission_yield[54] [90] [0]*0.03;
fission_yield[55] [89] [0]+=fission_yield[54] [90] [0]*0.97;
fission_yield[54] [90] [0]=0.0;

// 143 54 89 Xe -> 143 55 88 Cs 0.99

// 143 54 89 Xe -> 142 55 87 Cs 0.01
fission_yield[55] [88] [0]+=fission_yield[54] [89] [0]*0.99;
fission_yield[55] [87] [0]+=fission_yield[54] [89] [0]*0.01;
fission_yield[54] [89] [0]=0.0;

// 143 55 88 Cs -> 143 56 87 Ba 0.9836

// 143 55 88 Cs -> 142 56 86 Ba 0.0164
fission_yield[56] [87] [0]+=fission_yield[55] [88] [0]*0.9836;
fission_yield[56] [86] [0]+=fission_yield[55] [88] [0]*0.0164;
fission_yield[55] [88] [0]=0.0;

// A Z Nel A Z N el ratio

// 146 54 92 Xe -> 145 55 90 Cs 0.069

// 146 54 92 Xe -> 146 55 91 Cs 0.931
fission_yield[565] [90] [0]+=fission_yield[54] [92] [0]*0.069;
fission_yield[55] [91] [0]+=fission_yield[54] [92] [0]*0.931;
fission_yield[54][92] [0]=0.0;

// 145 54 91 Xe -> 144 55 89 Cs 0.05

// 145 54 91 Xe -> 145 55 90 Cs 0.95
fission_yield[55] [89] [0]+=fission_yield[54] [91] [0]*0.05;
fission_yield[55] [90] [0]+=fission_yield[54] [91] [0]*0.95;
fission_yield[54][91][0]=0.0;

// 145 55 90 Cs -> 144 56 88 Ba 0.147

// 145 55 90 Cs -> 145 56 89 Ba 0.853
fission_yield[56] [88] [0]+=fission_yield[55] [90] [0]*0.147;
fission_yield[566] [89] [0]+=fission_yield[55] [90] [0]*0.853;
fission_yield[55] [90] [0]=0.0;

// 144 55 89 Cs -> 144 56 88 Ba 0.9697

// 144 55 89 Cs -> 143 56 87 Ba 0.0303
fission_yield[56] [88] [0]+=fission_yield[55] [89] [0]*0.9697;
fission_yield[56] [87] [0]+=fission_yield[55] [89] [0]*0.0303;
fission_yield[55] [89] [0]=0.0;

// 144 56 88 Ba -> 144 57 87 La 0.964

// 144 56 88 Ba -> 143 57 86 La 0.036
fission_yield[57] [87] [0]+=fission_yield[56] [88] [0]*0.964;
fission_yield[57] [86] [0]+=fission_yield[56] [88] [0]*0.036;
fission_yield[56] [88] [0]=0.0;

// A Z N el A Z N el ratio
// 146 55 91 Cs -> 146 56 90 Ba 0.858
// 146 55 91 Cs -> 145 56 89 Ba 0.142
fission_yield[56] [90] [0]+=fission_yield[55] [91] [0]*0.858;
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fission_yield[56] [89] [0]+=fission_yield[55] [91] [0]*0.142;
fission_yield[55][91]1[0]=0.0;

// A Z Nel A Z N el ratio

// 148 54 94 Xe -> 147 55 92 Cs 1
fission_yield[55] [92] [0]+=fission_yield[54] [94] [0];
fission_yield[54] [94] [0]=0.0;

// 147 55 92 Cs -> 147 56 91 Ba 0.715

// 147 55 92 Cs -> 146 56 90 Ba 0.285
fission_yield[56] [91] [0]+=fission_yield[55] [92] [0]*0.715;
fission_yield[56] [90] [0]+=fission_yield[55] [92] [0]*0.285;
fission_yield[55] [92] [0]=0.0;

// A Z N el A Z N el ratio

// 148 55 93 Cs -> 148 56 92 Ba 0.749

// 148 55 93 Cs -> 147 56 91 Ba 0.251
fission_yield[56] [92] [0]+=fission_yield[55] [93] [0]*0.749;
fission_yield[56] [91] [0]+=fission_yield[55] [93] [0]*0.251;
fission_yield[55] [93] [0]1=0.0;

// A Z Nel A Z N el ratio

// 150 55 95 Cs -> 149 56 93 Ba 1.0
fission_yield[56] [93] [0]+=fission_yield[55] [95] [0]*1.
fission_yield[55] [95] [0]=0.0;

// 149 55 94 Cs -> 148 56 92 Ba 1.0
fission_yield[56] [92] [0]+=fission_yield[55] [94] [0]*1.
fission_yield[55] [94] [0]=0.0;

// 149 56 93 Ba -> 149 57 92 La 0.9957

// 149 56 93 Ba -> 148 57 91 La 0.0043
fission_yield[57] [92] [0]+=fission_yield[56] [93] [0]*0.9957;
fission_yield[57][91] [0]+=fission_yield[56] [93] [0]*0.0043;
fission_yield[566] [93] [0]=0.0;

// 149 57 92 La -> 149 58 91 Ce 0.9857

// 149 57 92 La -> 148 58 90 Ce 0.0143
fission_yield[58] [91] [0]+=fission_yield[57][92] [0]*0.9857;
fission_yield[58] [90] [0]+=fission_yield[57] [92] [0]*0.0143;
fission_yield[57][92] [0]=0.0;

o

o

// A Z Nel A Z N el ratio

// 151 55 96 Cs -> 150 56 94 Ba 1.0
fission_yield[56] [94] [0]+=fission_yield[55] [96] [0]*1.
fission_yield[55] [96] [0]=0.0;

// 151 56 95 Ba -> 150 57 93 La 1.0
fission_yield[57][93] [0]+=fission_yield[56] [95] [0]*1.
fission_yield[56] [95] [0]=0.0;

// 150 56 94 Ba -> 149 57 93 La 1.0
fission_yield[57][93] [0]+=fission_yield[56] [94] [0]*1.
fission_yield[56] [94] [0]=0.0;

o

o

o
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// 150 57 93 La -> 150 58 92 Ce 0.973

// 150 57 93 La -> 149 58 91 Ce 0.027
fission_yield[58] [92] [0]+=fission_yield[57][93] [0]*0.973;
fission_yield[58] [91] [0]+=fission_yield[57] [93] [0]*0.027;
fission_yield[57][93][0]1=0.0;

// A Z N el A Z N el ratio

// 152 56 96 Ba -> 151 57 94 Ba 1.0
fission_yield[57] [94] [0]+=fission_yield[56] [96] [0]*1.0;
fission_yield[56] [96] [0]=0.0;

// 151 57 94 La -> 150 58 92 Ce 1.0
fission_yield[58] [92] [0]+=fission_yield[57] [94] [0]*1.0;
fission_yield[57][94] [0]1=0.0;

// A Z N el A Z N el ratio

// 154 57 97 La -> 1564 58 96 Ce 1.0
fission_yield[58] [96] [0]+=fission_yield[57] [97] [0]*1.0;
fission_yield[57][97]1[0]=0.0;

// 154 58 96 La -> 164 59 95 Pr 1.0
fission_yield[59] [95] [0]+=fission_yield[58] [96] [0]*1.0;
fission_yield[58] [96] [0]=0.0;

[//—————————— modifications for neutron emission : end

#include "set_lambda_95.c"

int set_lambda_79(int A){
const int AO=79;
enum{Ga,Gel,Ge,As,Sel,Se,Brl,Br,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=Yd\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j1=0;}

set_halflife(Ga, A, 31, 0, 2.847,sec);
set_halflife(Gel, A, 32, 1, 39.0,sec);
set_halflife(Ge, A, 32, 0, 18.98,sec);
set_halflife(As, A, 33, 0, 9.01,min);
set_halflife(Sel, A, 34, 1, 3.92,min);
set_halflife(Se, A, 34, 0, 2.95e+5,year);
set_halflife(Brl, A, 35, 1, 5.1,sec);
set_halflife(Br, A, 35, 0, BIGNUM,sec);

lambda[Ge] [Ga]l=-lambda[Ga] [Ga] ;
lambda[Ge] [Gel]l=-1ambda[Gel] [Ge1]*0.04;
lambda[As] [Gel]=-1lambda[Gel] [Gel]*0.96;
lambda[As] [Ge]=-1ambda[Ge] [Ge];
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lambda[Se] [As]=-1lambda[As] [As]*0.021;
lambda[Sel] [As]=-1lambda[As] [As]*0.979;
lambda[Se] [Sel]=-1ambda[Sel] [Sel]*0.9994;
lambda[Br] [Sel]=-1lambda[Sel] [Sel1]*0.0006;
lambda [Br] [Se]=-1lambda[Se] [Se];
lambda[Br] [Bri]=-lambda[Bri] [Bri];

return O;

int set_lambda_80(int A){
const int A0=80;
enum{Ge,As,Br1,Br,Se,Kr,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdal[i] [j]1=0;}

set_halflife(Ge, A, 32, 0, 29.5,sec);
set_halflife(As, A, 33, 0, 15.2,sec);
set_halflife(Se, A, 34, 0, BIGNUM,sec);
set_halflife(Brl, A, 35, 1, 4.4205,hour);
set_halflife(Br, A, 35, 0, 17.68,min);
set_halflife(Kr, A, 36, 0, BIGNUM,sec);

lambda[As] [Ge]=-1lambda[Ge] [Ge];
lambda[Se] [As]=-1ambda[As] [As];
lambda[Br] [Bri]=-lambda[Bri] [Bri];
lambda[Se] [Br]=-lambda [Br] [Br]*0.083;
lambda [Kr] [Br]=-lambda[Br] [Br]*0.917;

return O;

int set_lambda_81(int A){
const int A0=81;
enum{Gel,Ge,As,Sel,Se,Br,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j]1=0;}

set_halflife(Gel, A, 32, 1, 7.61,sec);
set_halflife(Ge, A, 32, 0, 7.6,sec);
set_halflife(As, A, 33, 0, 33.3,sec);
set_halflife(Sel, A, 34, 1, 57.28,min);
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set_halflife(Se, A, 34, 0, 18.45,min);
set_halflife(Br, A, 35, 0, BIGNUM,sec);

lambda[As] [Gel]=-1lambda[Gel] [Gel];
lambda[As] [Ge]=-1lambda[Ge] [Ge];
lambda[Se] [As]=-1lambda[As] [As]*0.911;
lambda[Sel] [As]=-1lambda[As] [As]*0.089;
lambda[Se] [Sel]l=-1lambda[Sel] [Sel1]*0.9995;
lambda[Br] [Sel]=-1lambda[Sel] [Se1]*0.0005;
lambda[Br] [Se]=-lambda[Se] [Se];

return O;

int set_lambda_82(int A){
const int A0=82;
enum{Ge,As1,As,Se,Br1,Br,Kr,END};
int 1i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j]1=0;}

set_halflife(Ge, A, 32, 0, 4.56,sec);
set_halflife(Asl, A, 33, 1, 13.6,sec);
set_halflife(As, A, 33, 0, 19.1,sec);
set_halflife(Se, A, 34, 0, BIGNUM,sec);
set_halflife(Brl, A, 35, 1, 6.13,min);
set_halflife(Br, A, 35, 0, 35.282,hour);
set_halflife(Kr, A, 36, 0, BIGNUM,sec);

lambda[As] [Ge]=-1ambda[Ge] [Ge];
lambda[As] [As1]=-lambda[As1] [As1];
lambda[Se] [As]=-1lambdal[As] [As];
lambda[Br] [Bri]=-lambda[Bri] [Br1]*0.976;
lambda [Kr] [Bri]=-lambda[Bri] [Br1]*0.024;
lambda [Kr] [Br]=-lambda[Br] [Br];

return O;

int set_lambda_83(int A){
const int A0=83;
enum{Ge,As,Sel,Se,Br,Krl,Kr,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
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for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j]1=0;}

set_halflife(Ge, A, 32, 0, 1.85,sec);
set_halflife(As, A, 33, 0, 13.4,sec);
set_halflife(Sel, A, 34, 1, 70.1,sec);
set_halflife(Se, A, 34, 0, 22.3,min);
set_halflife(Br, A, 35, 0, 2.40,hour);
set_halflife(Krl, A, 36, 1, 1.85,hour);
set_halflife(Kr, A, 36, 0, BIGNUM,sec);

lambda[As] [Ge]=-1ambda[Ge] [Ge];
lambda[Se] [As]=-1lambda[As] [As]*0.366;
lambda[Sel] [As]=-1ambda[As] [As]*0.634;
lambda[Br] [Sel]=-lambda[Sel] [Sel];
lambda [Br] [Se]=-1lambda[Se] [Se];

lambda [Kr] [Br]=-lambda[Br] [Br]*0.0002;
lambda[Kr1] [Br]=-lambda[Br] [Br]*0.9998;
lambda [Kr] [Kri1]=-lambda[Kri] [Kri];

return O;

int set_lambda_84(int A){
const int A0=84;
enum{As,Se,Bri1,Br,Kr ,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdali] [jI1=0;}

set_halflife(As, A, 33, 0, 4.2,sec);
set_halflife(Se, A, 34, 0, 3.26,min);
set_halflife(Brl, A, 35, 1, 6.0,min);
set_halflife(Br, A, 35, 0, 31.76,min);
set_halflife(Kr, A, 36, 0, BIGNUM,sec);

lambda[Se] [As]=-1ambda[As] [As];
lambda[Br] [Se]=-1lambda[Se] [Se];
lambda [Kr] [Bri]=-lambda[Bri] [Bri];
lambda [Kr] [Br]=-lambda[Br] [Br];

return O;

int set_lambda_85(int A){
const int A0=85;
enum{Br,Kr1,Kr,Rb,END};
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int i,j;

nn=END;

printf ("set_lambda: A=%d nn=%d\n",A,nn);

if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdal[i] [jI1=0;}

set_halflife(Br, A, 35, 0, 2.90,min);

set_halflife(Krl, A, 36, 1, 4.480,hour);
set_halflife(Kr, A, 36, 0, 10.752,year);
set_halflife(Rb, A, 37, O, BIGNUM,sec);

lambda[Kr] [Br]=-lambda[Br] [Br]*0.9982;
lambda[Kr1] [Br]=-lambda[Br] [Br]*0.0018;
lambda [Kr] [Kri1]=-lambda[Kri] [Kri];
lambda [Rb] [Kr]=-1lambda [Kr] [Kr];

return O;

int set_lambda_86(int A){
const int AO0=86;
enum{Br,Rb1,Rb,Kr,Sr,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Br, A, 35, 0, 55.1,sec);

set_halflife(Kr, A, 36, 0, BIGNUM,sec);
set_halflife(Rbl, A, 37, 1, 1.017,min);
set_halflife(Rb, A, 37, 0, 18.642,day);
set_halflife(Sr, A, 38, 0, BIGNUM,sec);

lambda [Kr] [Br]=-lambda[Br] [Br];
lambda [Rb] [Rb1]=-1lambda[Rb1] [Rbl];
lambda[Sr] [Rb]=-1lambda[Rb] [Rb];

return O;

int set_lambda_87(int A){
const int AO=87;
enum{Kr,Sr1,Rb,Sr,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
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for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j]1=0;}

set_halflife(Kr, A, 36, 0, 76.3,min);
set_halflife(Rb, A, 37, 0, 4.8le+10,year);
set_halflife(Sr1, A, 38, 1, 2.815,hour);
set_halflife(Sr, A, 38, 0, BIGNUM,sec);

lambda[Rb] [Kr]=-1lambda [Kr] [Kr];
lambda[Sr] [Rb]=-1lambda [Rb] [Rb] ;
lambda[Rb] [Sri1]=-lambda[Sr1] [Sr1]*0.003;
lambda[Sr] [Sr1]=-1lambda[Sr1] [Sr1]*0.997;

return O;

int set_lambda_88(int A){
const int A0=88;
enum{Kr,Rb,Sr,END};
int 1i,j;
nn=END;
printf ("set_lambda: A=%d nn=Yd\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdal[i] [j]1=0;}

set_halflife(Xr, A, 36, 0, 2.84,hour);
set_halflife(Rb, A, 37, 0, 17.773,min);
set_halflife(Sr, A, 38, 0, BIGNUM,sec);

lambda [Rb] [Kr]=-lambda [Kr] [Kr];
lambda [Sr] [Rb]=-1lambda [Rb] [Rb] ;

return O;

int set_lambda_89(int A){
const int A0=89;
enum{Kr,Rb,Sr,Y1,Y,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j1=0;}

set_halflife(Kr, A, 36, 0, 3.15,min);

set_halflife(Rb, A, 37, 0, 15.15,min);
set_halflife(Sr, A, 38, 0, 50.53,day);
set_halflife(Y1, A, 39, 1, 15.663,sec);
set_halflife(Y, A, 39, O, BIGNUM,sec);
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lambda [Rb] [Kr]=-lambda [Kr] [Kr];
lambda [Sr] [Rb]=-1lambda [Rb] [Rb] ;
lambdalY] [Sr]=-1lambda[Sr] [Sr]*0.99985;
lambda[Y1] [Sr]=-1lambda[Sr] [Sr]*0.00015;
lambdal[Y] [Y1]=-1lambda[Y1] [Y1];

return O;

int set_lambda_90(int A){
const int A0=90;
enum{Kr,Rb1,Rb,Sr,Y1,Y,Zr1,Zr ,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Kr, A, 36, 0, 32.32,sec);
set_halflife(Rbl, A, 37, 1, 258,sec);
set_halflife(Rb, A, 37, 0, 158,sec);
set_halflife(Sr, A, 38, 0, 28.90,year);
set_halflife(Y1, A, 39, 1, 3.19,hour);
set_halflife(Y, A, 39, 0, 64.053,hour);
set_halflife(Zrl, A, 40, 1, 809.2e-3,sec);
set_halflife(Zr, A, 40, O, BIGNUM,sec);

lambda[Rb] [Kr]=-1lambda [Kr] [Kxr]*0.878;
lambda[Rb1] [Kr]=-lambda [Kr] [Kr]*0.122;
lambda[Rb] [Rbl1]=-lambda[Rb1] [Rb1]*0.026;
lambda[Sr] [Rbl]=-1lambda[Rb1] [Rb1]*0.974;
lambda[Sr] [Rb]=-1lambda [Rb] [Rb] ;
lambda[Y] [Sr]=-lambda[Sr] [Sr];

lambda[Y] [Y1]=-1lambda[Y1] [Y1];
lambda[Zr] [Y]=-1lambda[Y] [Y];

lambda[Zr] [Zri]=-lambda[Zr1] [Zri];

return O;

int set_lambda_91(int A){
const int A0=91;
enum{Kr,Rb,Sr,Y1,Y,Zr,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
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for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j]1=0;}

set_halflife(Kr, A, 36, 0, 8.57,sec);
set_halflife(Rb, A, 37, 0, 58.4,sec);
set_halflife(Sr, A, 38, 0, 9.63,hour);
set_halflife(Y1, A, 39, 1, 49.71,min);
set_halflife(Y, A, 39, 0, 58.51,day);
set_halflife(Zr, A, 40, O, BIGNUM,sec);

lambda[Rb] [Kr]=-lambda[Kr] [Kr];
lambda [Sr] [Rb]=-1lambda[Rb] [Rb] ;
lambdal[Y] [Sr]=-1lambda[Sr] [Sr]*0.11;
lambdal[Y1] [Sr]=-1lambda[Sr] [Sr]*0.89;
lambda[Y] [Y1]=-lambda[Y1] [Y1];
lambda[Zr] [Y]=-1lambda[Y] [Y];

return O;

int set_lambda_92(int A){
const int A0=92;
enum{Kr,Rb,Sr,Y,Zr,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Xr, A, 36, 0, 1.840,sec);
set_halflife(Rb, A, 37, 0, 4.492,sec);
set_halflife(Sr, A, 38, 0, 2.66,hour);
set_halflife(Y, A, 39, 0, 3.54,hour);

set_halflife(Zr, A, 40, 0, BIGNUM,sec);

lambda[Rb] [Kr]=-lambda[Kr] [Kr];
lambda[Sr] [Rb]=-1lambda [Rb] [Rb] ;
lambdal[Y] [Sr]=-1lambda[Sr] [Sr];
lambda[Zr] [Y]=-1lambdal[Y] [Y];

return O;

int set_lambda_93(int A){
const int A0=93;
enum{Sr,Y1,Y,Zr,Nb1,Nb,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
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if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Sr, A, 38, 0, 7.43,min);
set_halflife(Y1, A, 39, 1, 0.82,sec);
set_halflife(Y, A, 39, 0, 10.18,hour);
set_halflife(Zr, A, 40, 0, 1.6le+6,year);
set_halflife(Nbl, A, 41, 1, 16.12,hour);
set_halflife(Nb, A, 41, O, BIGNUM,sec);

lambdal[Y] [Sr]=-1lambda[Sr] [Sr];
lambda[Y] [Y1]=-1lambdal[Y1] [Y1];
lambda[Zr] [Y]=-1lambdal[Y] [Y];
lambda[Nb] [Zr]=-1lambda[Zr] [Zr] *0.05;
lambda[Nbil] [Zr]=-1lambda[Zr] [Zr]*0.95;
lambda [Nb] [Nbi1]=-1lambda [Nbi] [Nbi];

return O;

int set_lambda_94(int A){
const int A0=94;
enum{Sr,Y,Zr,Nbl,Nb,Mo,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Sr, A, 38, 0, 75.3,sec);
set_halflife(Y, A, 39, 0, 18.7,min);
set_halflife(Zr, A, 40, O, BIGNUM,sec);
set_halflife(Nbil, A, 41, 1, 6.263,min);
set_halflife(Nb, A, 41, 0, 2.03e+4,year);
set_halflife(Mo, A, 42, 0, BIGNUM,sec);

lambdal[Y] [Sr]=-1lambda[Sr] [Sr];
lambda[Zr] [Y]=-1lambda[Y] [Y];

lambda[Nb] [Nbil]=-1lambda[Nb1] [Nb1]*0.995;
lambda[Mo] [Nbi1]=-1lambda[Nbi] [Nb1]*0.005;
lambda [Mo] [Nb]=-1lambda [Nb] [Nb] ;

return O;

int set_lambda_95(int A){
const int A0=95;
enum{Sr,Y,Zr,Nbl,Nb,Mo,END};
int i,j;
nn=END;
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printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j1=0;}

set_halflife(Sr, A, 38, 0, 23.90,sec);
set_halflife(Y, A, 39, 0, 10.3,min);

set_halflife(Zr, A, 40, 0, 64.032,day);
set_halflife(Nbl, A, 41, 1, 3.61,day);
set_halflife(Nb, A, 41, 0, 34.991,day);
set_halflife(Mo, A, 42, 0, BIGNUM,sec);

lambda[Y] [Sr]=-1lambda[Sr] [Sr];
lambda[Zr] [Y]=-lambdal[Y] [Y];

lambda[Nb] [Zr]=-1lambda[Zr] [Zr] *0.991;
lambda[Nb1] [Zr]=-lambda[Zr] [Zr]*0.009;
lambda[Nb] [Nbl]=-1lambda[Nb1] [Nb1]*0.944;
lambda[Mo] [Nbi1]=-1lambda[Nbi] [Nb1]*0.056;
lambda [Mo] [Nb]=-1lambda [Nb] [Nb] ;

return O;

int set_lambda_96(int A){
const int A0=96;
enum{Sr,Y1,Y,Zr ,Nb,Mo,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdali] [jI1=0;}

set_halflife(Sr, A, 38, 0, 1.07,sec);
set_halflife(Y1, A, 39, 1, 9.6,sec);
set_halflife(Y, A, 39, 0, 5.34,sec);
set_halflife(Zr, A, 40, 0, 2.35e+19,year);
set_halflife(Nb, A, 41, 0, 23.35,hour);
set_halflife(Mo, A, 42, 0, BIGNUM,sec);

lambda[Y] [Sr]=-1lambda[Sr] [Sr];
lambda[Zr] [Y1]=-1lambdal[Y1] [Y1];
lambda[Zr] [Y]=-lambda[Y] [Y];

lambda[Mo] [Nb]=-1lambda [Nb] [Nb] ;

return O;

int set_lambda_97(int A){
const int A0=97;
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enum{Sr,Y2,Y1,Y,Zr,Nb1,Nb,Mo,END};

int i,j;

nn=END;

printf ("set_lambda: A=Yd nn=%d\n",A,nn);

if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Sr, A, 38, 0, 429e-3,sec);
set_halflife(Y2, A, 39, 2, 142e-3,sec);
set_halflife(Y1, A, 39, 1, 1.17,sec);
set_halflife(Y, A, 39, 0, 3.75,sec);
set_halflife(Zr, A, 40, 0, 16.749,year);
set_halflife(Nbl, A, 41, 1, 58.7,sec);
set_halflife(Nb, A, 41, 0, 72.1,min);
set_halflife(Mo, A, 42, 0, BIGNUM,sec);

lambda[Y] [Sr]=-1lambda[Sr] [Sr];
lambdal[Y] [Y2]=-1lambda[Y2] [Y2]*0.984;
lambda[Zr] [Y2]=-1lambda[Y2] [Y2]*0.016;
lambda[Zr] [Y1]=-1lambda[Y1] [Y1];
lambda[Zr] [Y]=-1lambdal[Y] [Y];
lambda[Nb] [Zr]=-1lambda[Zr] [Zr] *0.05;
lambda[Nb1] [Zr]=-1lambda[Zr] [Zr]*0.95;
lambda [Nb] [Nb1]=-1lambda[Nbi] [Nbi];
lambda [Mo] [Nb]=-lambda [Nb] [Nb] ;

return O;

int set_lambda_98(int A){
const int A0=98;
enum{Zr,Nb1,Nb,Mo,Tc,Ru,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdal[i] [j]1=0;}

set_halflife(Zr, A, 40, 0, 30.7,sec);
set_halflife(Nbl, A, 41, 1, 51.3,min);
set_halflife(Nb, A, 41, 0, 2.86,sec);
set_halflife(Mo, A, 42, 0, BIGNUM,sec);
set_halflife(Tc, A, 43, 0, 4.2e+6,year);
set_halflife(Ru, A, 44, 0, BIGNUM,sec);

lambda[Nb] [Zr]=-lambda[Zr] [Zr];
lambda[Mo] [Nb1]=-1lambda[Nb1] [Nb1];
lambda [Mo] [Nb]=-lambda [Nb] [Nb] ;
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lambda[Ru] [Tc]=-lambda[Tc] [Tc];

return O;

¥

int set_lambda_99(int A){
const int A0=99;
enum{Zr ,Nb1,Nb,Mo,Tcl,Tc,Ru,END};
int 1i,j;
nn=END;
printf ("set_lambda: A=%d nn=Yd\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Zr, A, 40, 0, 2.1,sec);
set_halflife(Nbl, A, 41, 1, 2.5,min);
set_halflife(Nb, A, 41, 0, 15.0,sec);
set_halflife(Mo, A, 42, 0, 69.976,hour);
set_halflife(Tcl, A, 43, 1, 6.0067,year);
set_halflife(Tc, A, 43, 0, 2.11le+5,year);
set_halflife(Ru, A, 44, 0, BIGNUM,sec);

lambda[Nb] [Zr]=-1lambda[Zr] [Zr] *0.64;
lambda[Nbl] [Zr]=-1lambda[Zr] [Zr]*0.36;
lambda[Nb] [Nbil]=-1lambda[Nb1] [Nb1]*0.038;
lambda[Mo] [Nbi1]=-1lambda[Nbi] [Nb1]*0.962;
lambda [Mo] [Nb]=-1lambda [Nb] [Nb] ;
lambda[Tc] [Mo]=-1ambda [Mo] [Mo]*0.13;
lambda[Tc1] [Mo]=-1lambda[Mo] [Mo]*0.87;
lambda[Tc] [Tcl1]=-lambda[Tc1] [Tc1];
lambda[Ru] [Tc]=-lambda[Tc] [Tc];

return O;

int set_lambda_100(int A){
const int AO=100;
enum{Zr ,Nb1,Nb,Tc,Mo,Ru,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j1=0;}

set_halflife(Zr, A, 40, 0, 7.1,sec);
set_halflife(Nbl, A, 41, 1, 2.99,sec);
set_halflife(Nb, A, 41, 0, 1.5,sec);
set_halflife(Mo, A, 42, 0, 7.3e+18,hour);
set_halflife(Tc, A, 43, 0, 15.46,sec);
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set_halflife(Ru, A, 44, 0, BIGNUM,sec);

lambda[Nb] [Zr]=-1lambda[Zr] [Zr] *0.98;
lambda[Nbi1] [Zr]=-1lambda[Zr] [Zr] *0.02;
lambda[Mo] [Nb1]=-1lambda[Nb1] [Nb1];
lambda[Mo] [Nb]=-1lambda [Nb] [Nb] ;
lambda[Ru] [Mo]=-1lambda[Mo] [Mo];
lambda[Ru] [Tc]=-lambda[Tc] [Tc];

return O;

int set_lambda_101(int A){
const int AO0=101;
enum{Zr,Nb,Mo,Tc,Rh1,Rh,Ru,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdal[i] [j]1=0;}

set_halflife(Zr, A, 40, 0, 2.3,sec);
set_halflife(Nb, A, 41, 0, 7.1,sec);
set_halflife(Mo, A, 42, 0, 14.61,min);
set_halflife(Tc, A, 43, 0, 14.02,min);
set_halflife(Ru, A, 44, 0, BIGNUM,sec);
set_halflife(Rh1l, A, 45, 1, 4.34,day);
set_halflife(Rh, A, 45, 0, 3.3,year);

lambda[Nb] [Zr]=-lambda[Zr] [Zr];
lambda[Mo] [Nb]=-1lambda [Nb] [Nb] ;
lambda [Tc] [Mo]=-1ambda [Mo] [Mo] ;
lambda[Ru] [Tc]=-1lambda[Tc] [Tc];
lambda[Ru] [Rhi]=-1lambda[Rh1] [Rh1]*0.928;
lambda[Rh] [Rhi1]=-1lambda[Rh1] [Rh1]*0.072;
lambda[Ru] [Rh]=-1ambda[Rh] [Rh] ;

return O;

int set_lambda_102(int A){
const int AO0=102;
enum{Zr,Nb1,Nb,Mo,Tc1,Tc,Rh1,Rh,Pd,Ru,END};
int 1i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}
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set_halflife(Zr, A, 40, 0, 2.9,sec);
set_halflife(Nbl, A, 41, 1, 1.3,sec);
set_halflife(Nb, A, 41, 0, 4.3,sec);
set_halflife(Mo, A, 42, 0, 11.3,min);
set_halflife(Tcl, A, 43, 1, 4.35,min);
set_halflife(Tc, A, 43, 0, 5.28,sec);
set_halflife(Ru, A, 44, 0, BIGNUM,sec);
set_halflife(Rh1l, A, 45, 1, 3.742,year)
set_halflife(Rh, A, 45, 0, 207.3,day);
set_halflife(Pd, A, 46, 0, BIGNUM,sec);

lambda [Nb] [Zr]=-1lambdal[Zr] [Zr];

lambda [Mo] [Nb1]=-1lambda[Nb1] [Nb1];
lambda[Mo] [Nb]=-1lambda [Nb] [Nb] ;
lambda[Tc] [Mo]=-1lambda[Mo] [Mo];
lambda[Tc] [Tc1]=-lambda[Tc1] [Tc1]*0.02;
lambda[Ru] [Tc1]=-lambda[Tc1] [Tc1]*0.98;
lambda[Ru] [Tc]=-lambda[Tc] [Tc];
lambda[Ru] [Rh1]=-1lambda[Rh1] [Rh1]*0.9977;
lambda[Rh] [Rhi1]=-lambda[Rh1] [Rh1]*0.0023;
lambda[Ru] [Rh]=-1lambda[Rh] [Rh]*0.78;
lambda[Pd] [Rh]=-1lambda[Rh] [Rh]*0.22;

return O;

int set_lambda_103(int A){
const int A0=103;
enum{Zr,Nb,Mo,Tc,Ru,Rh1,Rh,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j1=0;}

set_halflife(Zr, A, 40, 0, 1.32,sec);
set_halflife(Nb, A, 41, 0, 1.5,sec);
set_halflife(Mo, A, 42, 0, 67.5,sec);
set_halflife(Tc, A, 43, 0, 54.2,sec);
set_halflife(Ru, A, 44, 0, 39.247,day);
set_halflife(Rh1l, A, 45, 1, 56.114,min);
set_halflife(Rh, A, 45, 0, BIGNUM,sec);

lambda [Nb] [Zr]=-1lambda[Zr] [Zr];
lambda [Mo] [Nb]=-1lambda [Nb] [Nb] ;
lambda[Tc] [Mo]=-1lambda [Mo] [Mo] ;
lambda[Ru] [Tc]=-lambda[Tc] [Tc];
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lambda[Rh] [Ru]=-1lambda[Ru] [Ru] *0.0025;
lambda[Rh1] [Ru]=-1lambda[Ru] [Ru] *0.9975;
lambda[Rh] [Rhi1]=-lambda[Rh1] [Rhi];

return O;

int set_lambda_104(int A){
const int A0=104;
enum{Zr,Nb1,Nb,Mo,Tc,Rh1,Rh,Ru,Pd,END};
int i,5;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Zr, A, 40, 0, 0.87,sec);
set_halflife(Nbl, A, 41, 1, 0.94,sec);
set_halflife(Nb, A, 41, 0, 4.9,sec);
set_halflife(Mo, A, 42, 0, 60,sec);
set_halflife(Tc, A, 43, 0, 18.3,min);
set_halflife(Ru, A, 44, 0, BIGNUM,sec);
set_halflife(Rh1, A, 45, 1, 4.34,min);
set_halflife(Rh, A, 45, 0, 42.3,sec);
set_halflife(Pd, A, 46, 0, BIGNUM,sec);

lambda[Nb] [Zr]=-lambda[Zr] [Zr];
lambda[Mo] [Nbi1]=-1lambda[Nbi] [Nbi];

lambda [Mo] [Nb]=-1lambda [Nb] [Nb] ;
lambda[Tc] [Mo]=-1lambda[Mo] [Mo];
lambda[Ru] [Tc]=-lambda[Tc] [Tc];
lambda[Rh] [Rhi]=-lambda[Rh1] [Rh1]*0.9987;
lambda[Pd] [Rh1]=-1lambda[Rh1] [Rh1]*0.0013;
lambda[Ru] [Rh]=-1lambda[Rh] [Rh]*0.0045;
lambda[Pd] [Rh]=-1ambda[Rh] [Rh]*0.9955;

return O;

int set_lambda_105(int A){
const int AO=105;
enum{Mo,Tc,Ru,Rh1,Rh,Pd,END};
int 1i,j;
nn=END;
printf ("set_lambda: A=%d nn=Yd\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Mo, A, 42, 0, 35.6,sec);
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set_halflife(Tc, A, 43, 0, 7.6,min);

set_halflife(Ru, A, 44, 0, 4.44,hour);
set_halflife(Rhl, A, 45, 1, 42.9,sec);
set_halflife(Rh, A, 45, 0, 35.36,hour);
set_halflife(Pd, A, 46, 0, BIGNUM,sec);

lambda[Tc] [Mo]=-1lambda[Mo] [Mo];
lambda[Ru] [Tc]=-lambda[Tc] [Tc];
lambda[Rh] [Ru]=-lambda[Ru] [Ru] *0.715;
lambda[Rh1] [Ru]=-lambda[Ru] [Ru] *0.285;
lambda[Rh] [Rh1]=-1ambda[Rh1] [Rh1];
lambda[Pd] [Rh]=-1ambda [Rh] [Rh] ;

return O;

int set_lambda_106(int A){
const int AO=106;
enum{Mo,Tc,Ru,Rh1,Rh,Pd,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j1=0;}

set_halflife(Mo, A, 42, 0, 8.73,sec);
set_halflife(Tc, A, 43, 0, 35.6,sec);
set_halflife(Ru, A, 44, 0, 371.8,day);
set_halflife(Rhl, A, 45, 1, 131,min);
set_halflife(Rh, A, 45, 0, 30.07,sec);
set_halflife(Pd, A, 46, 0, BIGNUM,sec);

lambda[Tc] [Mo]=-1lambda[Mo] [Mo];
lambda [Ru] [Tc]=-lambdal[Tc] [Tc];
lambda[Rh] [Ru]=-lambda[Ru] [Ru] ;
lambda[Pd] [Rh1]=-lambda[Rh1] [Rh1];
lambda [Pd] [Rh]=-1ambda [Rh] [Rh] ;

return O;

int set_lambda_107(int A){
const int AO=107;
enum{Mo,Tc,Ru,Rh,Pdl,Pd,Agl,Ag,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
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for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j]1=0;}

set_halflife(Mo, A, 42, 0, 3.5,sec);
set_halflife(Tc, A, 43, 0, 21.2,sec);
set_halflife(Ru, A, 44, 0, 3.75,min);
set_halflife(Rh, A, 45, 0, 21.7,min);
set_halflife(Pdl, A, 46, 1, 21.3,sec);
set_halflife(Pd, A, 46, 0, 6.5e+6,year);
set_halflife(Agl, A, 47, 1, 44.3,sec);
set_halflife(Ag, A, 47, 0, BIGNUM,sec);

lambda[Tc] [Mo]=-1lambda[Mo] [Mo];
lambda [Ru] [Tc]=-lambdal[Tc] [Tc];
lambda[Rh] [Ru]=-1lambda[Ru] [Ru] ;
lambda[Pd] [Rh]=-1ambda[Rh] [Rh] ;
lambda[Pd] [Pd1]=-1lambda[Pd1] [Pd1];
lambda[Ag] [Pd]=-1lambda[Pd] [Pd] ;
lambda[Ag] [Agl]=-1lambda[Agl] [Agl];

return O;

int set_lambda_108(int A){
const int A0=108;
enum{Mo,Tc,Ru,Rh1,Rh,Agl,Ag,Cd,Pd,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdali] [jI1=0;}

set_halflife(Mo, A, 42, 0, 1.09,sec);
set_halflife(Tc, A, 43, 0, 5.17,sec);
set_halflife(Ru, A, 44, 0, 4.55,min);
set_halflife(Rhl, A, 45, 1, 6.0,min);
set_halflife(Rh, A, 45, 0, 16.8,sec);
set_halflife(Pd, A, 46, 0, BIGNUM,sec);
set_halflife(Agl, A, 47, 1, 438,year);
set_halflife(Ag, A, 47, 0, 2.382,min);
set_halflife(Cd, A, 48, 0, 1.9e+18,year);

lambda [Tc] [Mo]=-1ambda [Mo] [Mo] ;
lambda[Ru] [Tc]=-1lambda[Tc] [Tc];

lambda [Rh] [Ru]=-1ambda[Ru] [Ru] ;
lambda[Pd] [Rh1]=-1lambda[Rh1] [Rh1];
lambda[Pd] [Rh]=-1ambda [Rh] [Rh] ;

lambda [Pd] [Agl]=-1lambda[Ag1] [Ag1]%0.913;
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lambda[Ag] [Agl]l=-1lambda[Ag1] [Ag1]*0.087;
lambda [Pd] [Ag]=-lambda [Ag] [Ag] *0.0285;
lambda [Cd] [Ag]l=-1lambda[Ag] [Ag] *0.9715;

return O;

int set_lambda_109(int A){
const int A0=109;
enum{Tc,Ru,Rh,Pd1,Pd,Agl,Ag ,END};
int i,5;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Tc, A, 43, 0, 0.86,sec);
set_halflife(Ru, A, 44, 0, 34.5,sec);
set_halflife(Rh, A, 45, 0, 80,sec);
set_halflife(Pdl, A, 46, 1, 4.696,min);
set_halflife(Pd, A, 46, 0, 13.7012,hour);
set_halflife(Agl, A, 47, 1, 39.6,sec);
set_halflife(Ag, A, 47, 0, BIGNUM,sec);

lambda[Ru] [Tc]=-lambda[Tc] [Tc];

lambda [Rh] [Ru] =-1lambda [Ru] [Ru] ;
lambda[Pd] [Rh]=-1ambda [Rh] [Rh] ;
lambda[Pd] [Pd1]=-1ambda[Pd1] [Pd1];
lambda[Ag] [Pd]=-lambda [Pd] [Pd]*0.0005;
lambda[Agl] [Pd]=-1lambda[Pd] [Pd]*0.9995;
lambda[Ag] [Agl]=-1lambda[Agl] [Agl];

return O;

set_lambda_140

int set_lambda_126(int A){
const int AO=126;
enum{Ag,Cd,Inl,In,Sn,Sbl,Sb,I,Te,Xe,END};
int 1,3;
nn=END;
printf ("set_lambda: A=Yd nn=Yd\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdal[i] [j]1=0;}

set_halflife(Ag, A, 47, 0, 0.107,sec);

set_halflife(Cd, A, 48, 0, 0.515,sec);
set_halflife(Inl,A, 49, 1, 1.64,sec);
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set_halflife(In, A, 49, 0, 1.53,sec);
set_halflife(Sn, A, 50, 0, 2.30e+5,year);

set_halflife(Sb, A, 51, 0, 12.35,day);
set_halflife(Sbl,A, 51, 1, 19.15,min);
set_halflife(Te, A, 52, 0, BIGNUM,sec);
set_halflife( I, A, 53, 0, 12.93,day);
set_halflife(Xe, A, 54, 0, BIGNUM,sec);

lambda[Cd] [Ag]=-1lambda[Ag] [Ag];
lambda[In] [Cd]=-1ambda[Cd] [Cd] ;
lambda[Sn] [In]=-lambda[In] [In];
lambda[Sn] [Ini1]=-lambda[Ini1] [In1];
lambda[Sb] [Sn]=-1lambda[Sn] [Sn];
lambda[Te] [Sb]=-1ambda[Sb] [Sb];
lambda[Te] [Sbl]=-1lambda[Sb1] [Sb1]*0.86;
lambda[Sb] [Sb1]=-1lambda[Sb1] [Sb1]*0.14;
lambda[Te] [I]=-lambda[I] [I]*0.527;
lambda[Xe] [I]=-1lambda[I] [I]*0.473;

return O;

int set_lambda_127(int A){
const int A0=127;
enum{Ag,Cd,In2,In1,In,Sn1,Sn,Sb,Tel,Te,I,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Ag, A, 47, 0, 0.109,sec);
set_halflife(Cd, A, 48, 0, 0.37,sec);
set_halflife(In, A, 49, 0, 1.09,sec);
set_halflife(Ini,A, 49, 1, 3.67,sec);
set_halflife(In2,A, 49, 2, 1.04,sec);
set_halflife(Sn, A, 50, 0, 2.10,hour);
set_halflife(Sni,A, 50, 1, 4.13,min);
set_halflife(Sb, A, 51, 0, 3.85,day);
set_halflife(Te, A, 52, 0, 9.35,hour);
set_halflife(Tel,A, 52, 1, 106.1,day);
set_halflife(I , A, 53, 0, BIGNUM,sec);

lambda[Cd] [Ag]l=-1ambda[Ag] [Ag];
lambda[In] [Cd]=-1ambdal[Cd] [Cd];
lambda[Sn] [In]=-lambda[In] [In]*0.5;
lambda[Sn1] [In]=-1lambda[In] [In]*0.5;
lambda[Sn] [Ini1]=-lambda[Ini1] [In1]*0.48;
lambda[Sni1] [Inl1]=-lambda[In1] [In1]*0.52;
lambda[Sn] [In2]=-lambda[In2] [In2];
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lambda [Sb] [Sn]=-1lambda[Sn] [Sn];
lambda[Sb] [Sn1]=-1lambda[Sn1] [Sni];
lambda[Te] [Sb]=-1ambda[Sb] [Sb]*0.98;
lambda[Tel] [Sb]l=-1ambda[Sb] [Sb]*0.02;
lambda[Te] [Tel]=-lambda[Tel] [Te1]*0.976;
lambdal[I] [Tel]=-lambda[Tel] [Tel1]*0.024;
lambda[I] [Te]l=-1lambdal[Te] [Te];

return O;

int set_lambda_128(int A){
const int A0=128;
enum{Ag,Cd,Inl1,In,Sn1,Sn,Sbl,Sb,I,Te,Xe,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Ag, A, 47, 0, 0.058,sec);
set_halflife(Cd, A, 48, 0, 0.28,sec);
set_halflife(In, A, 49, 0, 0.84,sec);
set_halflife(Ini,A, 49, 1, 0.72,sec);
set_halflife(Sn, A, 50, 0, 59.07,min);
set_halflife(Sn1,A, 50, 1, 6.5,sec);
set_halflife(Sb, A, 51, 0, 9.01,hour);
set_halflife(Sbl,A, 51, 1, 10.4,min);
set_halflife(Te, A, 52, O, BIGNUM,sec); //MUG
set_halflife(I, A, 53, 0, 24.99,min);
set_halflife(Xe, A, 54, 0, BIGNUM,sec);

lambda[Cd] [Ag]l=-1ambda[Ag] [Ag];
lambda[In] [Cd]=-1ambdal[Cd] [Cd];
lambda[Sn] [In]=-1lambda[In] [In];
lambda[Sn] [Inl]=-1lambda[Ini] [In1]*0.68;
lambda[Sni] [In1]=-lambda[Ini] [In1]*0.32;
lambda[Sn] [Sni1]=-1lambda[Sni] [Sni];
lambda[Sb] [Sn]=-1lambda[Sn] [Sn];
lambda[Sb] [Sbi1]=-1ambda[Sb1] [Sb1]*0.036;
lambda[Te] [Sbl]=-1lambda[Sb1] [Sb1]*0.964;
lambda[Te] [Sb]l=-1lambda[Sb] [Sb];
lambda[Te] [I]=-1lambda[I] [I]*0.069;
lambda[Xe] [I]=-1lambda[I] [I]*0.931;

return O;

int set_lambda_129(int A){
const int A0=129;
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enum{In2,In,Sn1,Sn,Sb1,Sb,Tel,Te,I,Xel,Xe,END};

int i,j;

nn=END;

printf ("set_lambda: A=Yd nn=%d\n",A,nn);

if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(In, A, 49,
set_halflife(In2,A, 49,
set_halflife(Sn, A, 50,
set_halflife(Sni1,A, 50, 6.9,min) ;

set_halflife(Sb, A, 51, 4.40,hour) ;

0, 0.61,sec);
2,
0,
1,
0,
set_halflife(Sbi,A, 51, 1, 17.7,min);
0,
1,
0,
0,
1,

0.67,sec);
2.23,min) ;

set_halflife(Te, A, 52, 69.6,min) ;

set_halflife(Tel,A, 52, 33.6,day) ;

set_halflife( I, A, 53, BIGNUM,sec);//MUG1.57e+7 U U worningJ [0 [
set_halflife(Xe, A, 54, BIGNUM, sec);

set_halflife(Xel,A, 54, 8.88,day) ;

lambda[Sn] [In2]=-1lambda[In2] [In2];
lambda[Sn] [In]=-lambda[In] [In]*0.97;
lambda[Sni] [In]=-lambda[In] [In]*0.03;
lambda[Sb] [Sn1]=-1lambda[Sni] [Sn1]*0.95;
lambda[Sb1] [Sn1]=-1lambda[Sn1] [Sn1]*0.05;
lambda [Sb] [Sn]=-1lambda[Sn] [Sn];
lambda[Sb] [Sbl]=-1lambda[Sb1] [Sb1]*0.15;
lambda[Te] [Sbl]=-1lambda[Sb1] [Sb1]*0.85;
lambda[Te] [Sb]=-1lambda[Sb] [Sb]*0.894;
lambdal[Te1] [Sb]=-1lambda[Sb] [Sb]*0.106;
lambda[I] [Te]l=-1lambda[Te] [Tel;
lambda[Te] [Tel]=-lambda[Tel] [Tel]*0.63;
lambda[I] [Tel]=-1lambda[Tel] [Tel]*0.37;
/*lambda[Xe] [I]=-1lambda[I] [I];x*/
lambda[Xe] [Xel]=-1lambda[Xel] [Xel];

return O;

int set_lambda_130(int A){
const int AO=130;
enum{Sn1,Sn,Sb1,Sb,I1,I,Te,Xe,END};
int 1i,j;
nn=END;
printf ("set_lambda: A=%d nn=Yd\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Sn, A, 50, 0, 3.72,min);

set_halflife(Snil,A, 50, 1, 1.7,min);
set_halflife(Sb, A, 51, 0, 39.5,min);
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set_halflife(Sbl,A, 51, 1, 6.3,min);
set_halflife(Te, A, 52, 0, BIGNUM,sec);
set_halflife( I, A, 53, 0, 12.36,hour);
set_halflife(I1, A, 53, 1, 8.84,min);
set_halflife(Xe, A, 54, 0, BIGNUM,sec);

lambda[Sb] [Sni1]=-1lambda[Sn1] [Sn1]*0.5;
lambda[Sbi] [Sn1]=-1lambda[Sni] [Sn1]*0.5;
lambda[Sb] [Sn]=-1lambda[Sn] [Sn];

lambda [Te] [Sb1]=-1lambda[Sb1] [Sbi];
lambda[Te] [Sb]l=-1lambda[Sb] [Sb];
lambda[Xe] [I]=-lambdal[I] [I];

lambda[I] [I1]=-1lambda[I1] [I1]*0.84;
lambda[Xe] [I1]=-1ambda[I1] [I1]*0.16;

return O;

int set_lambda_131(int A){
const int AO0=131;
enum{Sn,Sb,Tel,Te,I,Xel,Xe,END};
int 1i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Sn, A, 50, 0, 56.0,sec);
set_halflife(Sb, A, 51, 0, 23.03,min);
set_halflife(Te, A, 52, 0, 25.0,min);
set_halflife(Tel,A, 52, 1, 33.25,hour);
set_halflife( I, A, 53, 0, 8.0252,day);
set_halflife(Xe, A, 54, 0, BIGNUM,sec);
1

set_halflife(Xel,A, 54, 1, 11.84,day);

lambda [Sb] [Sn]=-1ambda[Sn] [Sn];
lambda[Te] [Sb]=-1lambda[Sb] [Sb]*0.935;
lambdal[Te1] [Sb]=-1lambda[Sb] [Sb]*0.065;
lambdal[I] [Te]l=-1lambda[Te] [Tel;
lambda[Te] [Tel]=-lambda[Tel] [Te1]*0.259;
lambda[I] [Tel]=-lambda[Tel] [Tel1]*0.741;
lambda[Xe] [I]=-1lambda[I] [I];

lambda[Xe] [Xel]=-lambda[Xel] [Xel];

return O;

int set_lambda_132(int A){
const int A0=132;
enum{Sn,Sb1,Sb,Te,I1,I,Cs,Ba,Xel,Xe,END};
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int i,j;

nn=END;

printf ("set_lambda: A=%d nn=%d\n",A,nn);

if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdal[i] [jI1=0;}

set_halflife(Sn, A, 50, 0, 39.7,sec);
set_halflife(Sb, A, 51, 0, 2.79,min);
set_halflife(Sb1,A, 51, 1, 4.10,min);
set_halflife(Te, A, 52, 0, 3.204,day);
set_halflife( I, A, 53, 0, 2.295,hour);
set_halflife(I1, A, 53, 1, 1.387,hour);
set_halflife(Xe, A, 54, 0, BIGNUM,sec);

set_halflife(Xel,A, 54, 1, 0.00839,sec);
set_halflife(Cs, A, 55, 0, 6.480,day);
set_halflife(Ba, A, 56, 0, BIGNUM,sec);

lambda[Sb] [Sn]l=-1ambda[Sn] [Sn];
lambda[Te] [Sb]=-1ambda [Sb] [Sb] ;
lambda[Te] [Sb1]=-1lambda[Sbi1] [Sb1];
lambdal[I] [Te]l=-1lambda[Te] [Tel;
lambda[Xe] [I]=-1lambdal[I] [I];
lambda[Xe] [I1]=-1lambda[I1] [I1]*0.14;
lambda[I] [I1]=-1lambda[I1] [I1]*0.86;
lambda[Xe] [Cs]=—1ambda[Cs] [Cs]*0.9813;
lambda[Ba] [Cs]=-1lambda[Cs] [Cs]*0.0187;

return O;

int set_lambda_133(int A){
const int A0=133;
enum{Sn,Sb,Tel,Te,I,Xel,Xe,Cs,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j1=0;}

set_halflife(Sn, A, 50, 0, 1.46,sec);
set_halflife(Sb, A, 51, 0, 2.34,min);
set_halflife(Te, A, 52, 0, 12.5,min);
set_halflife(Tel,A, 52, 1, 55.4,min);
set_halflife( I, A, 53, 0, 20.83,hour);
set_halflife(Xe, A, 54, 0, 5.2475,day);
set_halflife(Xel,A, 54, 1, 2.198,day);
set_halflife(Cs, A, 55, 0, BIGNUM,sec);

lambda[Sb] [Sn]=-1lambda[Sn] [Sn];
lambda[Te] [Sb]=-1lambda[Sb] [Sb];
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lambda[Te] [Tel]l=-1lambda[Tel] [Te1]*0.165;
lambda[I] [Tel]=-1lambda[Tel] [Te1]*0.835;
lambda[I] [Te]=-lambdal[Te] [Te];
lambda[Xe] [I]=-1lambda[I] [I]*0.9892;
lambda[Xe1] [I]=-1lambda[I] [I]*0.0108;
lambda[Xe] [Xel]=-1lambda[Xel] [Xel];
lambda[Cs] [Xe]l=-1ambda[Xe] [Xe];

return O;

int set_lambda_134(int A){
const int AO0=134;
enum{Sb,Te,I1,I,Xel,Xe,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Sb, A, 51, 0, 0.78,sec);
set_halflife(Te, A, 52, 0, 41.8,min);
set_halflife( I, A, 53, 0, 52.5,min);
set_halflife(I1, A, 53, 1, 3.52,min);
set_halflife(Xe, A, 54, 0, BIGNUM,sec);
set_halflife(Xel,A, 54, 1, 0.290,sec);

lambda[Te] [Sb]=-1lambda[Sb] [Sb];
lambda[I] [Te]l=-1lambdal[Te] [Te];
lambda[Xe] [I]=-lambda[I] [I];

lambda[I] [I1]=-1lambda[I1][I1]%*0.977;
lambda[Xe1] [I1]=-1lambda[I1] [I1]*0.023;
lambda[Xe] [Xel]=-1lambda[Xel] [Xel];

return O;

int set_lambda_135(int A){
const int AO0=135;
enum{Te,I,Xel,Xe,Cs,Bal,Ba,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j]1=0;}

set_halflife(Te, A, 52, 0, 19.0,sec);
set_halflife( I, A, 53, 0, 6.58,hour);
set_halflife(Xe, A, 54, 0, 9.14,hour);
set_halflife(Xel,A, 54, 1, 15.29,min);
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set_halflife(Cs, A, 55, 0, BIGNUM,sec); //2.3e+6 year [0 error
set_halflife(Ba, A, 56, 0, BIGNUM,sec);
set_halflife(Bal,A, 56, 1, 28.7,hour);

lambda[I] [Te]l=-1lambdal[Te] [Te];
lambda[Xe] [I]=-1lambda[I] [I]*0.981;
lambda[Xel] [I]=-1lambda[I] [I]*0.019;
lambda[Cs] [Xe]=-1lambda[Xe] [Xe];
lambda[Xe] [Xel]l=-1lambda[Xel] [Xel]*0.994;
lambda[Cs] [Xel]=-lambda[Xel] [Xel1]*0.006;
/*lambda[Ba] [Cs]=-1lambdal[Cs] [Cs] ;*/
lambda[Ba] [Bal]=-lambda[Ba1] [Bal];

return O;

int set_lambda_136(int A){
const int AO=136;
enum{I1,I,Cs,Xe,Ba,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j1=0;}

set_halflife( I, A, 53, 0, 83.4,sec);
set_halflife(I1, A, 53, 1, 46.9,sec);
set_halflife(Xe, A, 54, 0, BIGNUM,sec);
set_halflife(Cs, A, 55, 0, 13.04,day);
set_halflife(Ba, A, 56, 0, BIGNUM,sec);

lambda[Xe] [I]=-lambdal[I][I];
lambda[Xe] [I1]=-1lambda[I1][I1];
lambda[Ba] [Cs]=-lambda[Cs] [Cs];

return O;

int set_lambda_137(int A){
const int AO=137;
enum{Xe,Cs,Bal,Ba,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdal[i] [j1=0;}

set_halflife(Xe, A, 54, 0, 3.818,min);
set_halflife(Cs, A, 55, 0, 30.08,year);
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set_halflife(Ba, A, 56, 0, BIGNUM,sec);
set_halflife(Bal,A, 56, 1, 2.552,min);

lambda[Cs] [Xe]=-1lambda[Xe] [Xe];
lambda[Ba] [Cs]=-1lambda[Cs] [Cs]*0.053;
lambda[Bal] [Cs]=-1lambda[Cs] [Cs]*0.947;
lambda[Ba] [Bal]l=-lambda[Bail] [Bal];

return O;

int set_lambda_138(int A){
const int A0=138;
enum{Xe,Cs1,Cs,La,Ce,Ba,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Xe, A, 54, 0, 14.08,min);
set_halflife(Cs, A, 55, 0, 33.41,min);
set_halflife(Cs1,A, 55, 1, 2.91,min);
set_halflife(Ba, A, 56, 0, BIGNUM,sec);
set_halflife(La, A, 57, 0, 1.02e+11,year);
set_halflife(Ce, A, 58, 0, BIGNUM,sec);

lambda[Cs] [Xe]=-1lambda[Xe] [Xe];
lambda[Cs] [Cs1]=-lambda[Cs1] [Cs1]%*0.81;
lambda[Ba] [Cs1]=-lambda[Cs1] [Cs1]*0.19;
lambda[Ba] [Cs]=-lambda[Cs] [Cs];
lambda[Ba] [La]=-lambda[La] [La] *0.656;
lambda[Ce] [La]=-lambda[La] [La] *0.344;

return O;

int set_lambda_139(int A){
const int A0=139;
enum{Xe,Cs,Ba,Cel,Ce,La,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j]1=0;}

set_halflife(Xe,
set_halflife(Cs,
set_halflife(Ba,
set_halflife(La,

, 54, 0, 39.68,sec);
55, 0, 9.27,min);

, 56, 0, 83.06,min);
, b7, 0, BIGNUM,sec);

= e = >
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set_halflife(Cel,A, 58, 1, 54.8,sec);
set_halflife(Ce, A, 58, 0, 137.641,day);

lambda[Cs] [Xe]=-1lambda[Xe] [Xe];
lambda[Ba] [Cs]=-1lambda[Cs] [Cs];
lambda[La] [Ba]=-lambda[Ba] [Ba];
lambda[Ce] [Cel]=-1ambda[Cel] [Cel];
lambda[La] [Ce]=-1lambda[Ce] [Ce];

return O;

int set_lambda_140(int A){
const int A0=140;
enum{Xe,Cs,Ba,La,Ce,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdali] [j]1=0;}

set_halflife(Xe,
set_halflife(Cs,
set_halflife(Ba,
set_halflife(La,
set_halflife(Ce,

54, 0, 13.60,sec);
, 55, 0, 63.7,sec);
56, 0, 12.7527,day);
, 57, 0, 1.67855,day);
58, 0, BIGNUM,sec);

== e e

-

lambda[Cs] [Xe]=-1lambda[Xe] [Xe];
lambda[Ba] [Cs]=-1lambda[Cs] [Cs];
lambda[La] [Ba]=-lambda[Ba] [Ba];
lambda[Ce] [Lal=-lambda[La] [La];

return O;

int set_lambda_141(int A){
const int AO=141;
enum{Xe,Cs,Ba,La,Ce,Pr,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdal[i] [j]1=0;}

set_halflife(Xe,
set_halflife(Cs,
set_halflife(Ba,
set_halflife(La,
set_halflife(Ce,
set_halflife(Pr,

54, 0, 1.73,sec);

55, 0, 24.84,sec);
56, 0, 18.27,min);
, b7, 0, 3.92,hour);
, 58, 0, 32.508,day);
59, 0, BIGNUM,sec);

- -

i

-
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lambda[Cs] [Xe]=-1lambda [Xe] [Xe];
lambda[Ba] [Cs]=-1ambda[Cs] [Cs];
lambda[La] [Ba]=-lambda[Ba] [Ba];
lambdal[Ce] [Lal=-1lambda[La] [La];
lambda[Pr] [Ce]=-1lambda[Ce] [Ce];

return O;

int set_lambda_142(int A){
const int A0=142;
enum{I,Xe,Cs,Ba,La,Pr,Ce,Nd,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdal[i] [j]1=0;}

set_halflife( I,
set_halflife(Xe, 54,
set_halflife(Cs, 55, 1.684,sec);

A, 53, 0,
A, 0,
A, 0,
set_halflife(Ba, A, 56, 0, 10.6,min);
A, 0,
A, 0,
A, 0,
A, 0,

0.00222,sec) ;
1.23,sec);

set_halflife(La, 57, 91.1,min) ;

set_halflife(Ce, 58, BIGNUM, sec);
set_halflife(Pr, 59, 19.12,hour) ;
set_halflife(Nd, 60, BIGNUM, sec);

lambda[Xe] [I]=-1lambda[I] [I];
lambda[Cs] [Xe]=-1lambda[Xe] [Xe];
lambda[Ba] [Cs]=-lambda[Cs] [Cs];
lambda[La] [Ba]=-lambda[Ba] [Ba];
lambda[Ce] [La]=-lambda[La] [La];
lambda[Ce] [Pr]=-1lambda[Pr] [Pr]*0.0002;
lambda[Nd] [Pr]=-1lambda[Pr] [Pr]*0.9998;

return O;

int set_lambda_143(int A){
const int A0=143;
enum{Ba,La,Ce,Pr,Nd,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j1=0;}

set_halflife(Ba, A, 56, 0, 14.5,sec);
set_halflife(La, A, 57, 0, 14.2,min);
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set_halflife(Ce, A, 58, 0, 33.039,hour);
set_halflife(Pr, A, 59, O, 13.57,day) ;
set_halflife(Nd, A, 60, O, BIGNUM,sec);

lambda[La] [Ba]l=-1lambda[Ba] [Ba];
lambda[Ce] [La]=-lambda[La] [La];
lambda [Pr] [Ce]=-1lambda[Ce] [Ce];
lambda[Nd] [Pr]=-lambda[Pr] [Pr];

return O;

int set_lambda_144(int A){
const int AO=144;
enum{La,Ce,Pri,Pr,Nd,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdali] [j]1=0;}

set_halflife(La, A, 57, 0, 40.8,sec);
set_halflife(Ce, A, 58, 0, 284.91,day);
set_halflife(Pr, A, 59, 0, 17.28,min);
set_halflife(Pr1,A, 59, 1, 7.2,min);
set_halflife(Nd, A, 60, 0, BIGNUM,sec);

lambda[Ce] [La]=-lambda[La] [La];
lambda [Pr] [Ce]=-1lambda[Ce] [Ce];
lambda[Pr] [Pri]=-lambda[Pri1] [Pr1]*0.9993;
lambda[Nd] [Pri]l=-1lambda[Pr1] [Pr1]*0.0007;
lambda[Nd] [Pr]=-lambda[Pr] [Pr];

return O;

int set_lambda_145(int A){
const int AO=145;
enum{Ba,La,Ce,Pr,Nd,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j1=0;}

set_halflife(Ba,
set_halflife(La,
set_halflife(Ce,
set_halflife(Pr,
set_halflife(Nd,

56, 0, 4.31,sec);
, B7, 0, 24.8,sec);
58, 0, 3.01,min);
, 59, 0, 5.984,hour);
60, 0, BIGNUM,sec);

e

-
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lambda[La] [Ba]=-lambda[Ba] [Ba];
lambda[Ce] [La]=-1lambdal[La] [La];
lambda[Pr] [Ce]=-1lambda[Ce] [Ce];
lambda [Nd] [Pr]=-1lambda[Pr] [Pr];

return O;

int set_lambda_146(int A){
const int AO=146;
enum{Ba,Lal,La,Ce,Pr,Pm,Nd,Sm,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Ba, A, 56, 0, 2.22,sec);
set_halflife(La, A, 57, 0, 6.27,sec);

set_halflife(Lal,A, 57, 1, 10.0,sec);

set_halflife(Ce, A, 58, 0, 13.52,min);
set_halflife(Pr, A, 59, 0, 24.15,min);
set_halflife(Nd, A, 60, 0, BIGNUM,sec);
set_halflife(Pm, A, 61, 0, 5.53,year);
set_halflife(Sm, A, 62, 0, BIGNUM,sec);

lambda[La] [Ba]=-lambda[Ba] [Ba];
lambda[Ce] [Lal=-1lambda[La] [La];
lambda[Ce] [Lal]=-lambda[Lal] [Lal];
lambda[Pr] [Ce]=-1lambda[Ce] [Ce];
lambda[Nd] [Pr]=-lambda[Pr] [Pr];
lambda [Nd] [Pm]=-1lambda[Pm] [Pm] *0.66;
lambda[Sm] [Pm]=-1lambda [Pm] [Pm] *0.34;

return O;

int set_lambda_147(int A){
const int AO0=147;
enum{Ba,La,Ce,Pr,Nd,Pm,Sm,END};
int 1,j;
nn=END;
printf ("set_lambda: A=Yd nn=Yd\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdal[i] [j]1=0;}

set_halflife(Ba, A, 56, 0, 0.894,sec);

set_halflife(La, A, 57, 0, 4.06,sec);
set_halflife(Ce, A, 58, 0, 56.4,sec);
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set_halflife(Pr,
set_halflife(Nd,
set_halflife(Pm,
set_halflife(Sm,

, 59, 0, 13.4,min);
60, 0, 10.98,day);

, 61, 0, 2.6234,year);
, 62, 0, BIGNUM,sec);

i

lambda[La] [Ba]=-lambda[Ba] [Ba];
lambda[Ce] [Lal=-1lambda[La] [La];
lambda[Pr] [Ce]=-1lambda[Ce] [Ce];
lambda[Nd] [Pr]=-1lambda[Pr] [Pr];
lambda [Pm] [Nd]=-1ambda [Nd] [Nd] ;
lambda[Sm] [Pm]=-lambda[Pm] [Pm] ;

return O;

int set_lambda_148(int A){
const int A0=148;
enum{Ba,La,Ce,Prl1,Pr,Nd,END};
int 1i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0; j<nn;j++)lambdali] [j]1=0;}

set_halflife(Ba, A, 56, 0, 0.612,sec);
set_halflife(lLa, A, 57, 0, 1.26,sec);
set_halflife(Ce, A, 58, 0, 56.0,sec);
set_halflife(Pr, A, 59, 0, 2.29,min);
set_halflife(Prl,A, 59, 1, 2.01,min);
set_halflife(Nd, A, 60, 0, BIGNUM,sec);

lambda[La] [Ba]=-lambda[Ba] [Ba];
lambda[Ce] [La]=-lambda[La] [La];
lambda [Pr] [Ce]=-1ambda[Ce] [Ce];
lambda[Nd] [Pr]=-lambda[Pr] [Pr];
lambda [Nd] [Pri]=-1lambda[Pr1] [Pri];

return O;

int set_lambda_149(int A){
const int A0=149;
enum{Ce,Pr,Nd,Pm,Sm,END};
int 1i,j;
nn=END;
printf ("set_lambda: A=%d nn=Yd\n",A,nn);
if (A!=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j]1=0;}

set_halflife(Ce, A, 58, 0, 5.3,sec);
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set_halflife(Pr,
set_halflife(Nd,
set_halflife(Pm,
set_halflife(Sm,

, 59, 0, 2.26,min);

, 60, 0, 1.728,hour);
, 61, 0, 53.08,hour);
, 62, 0, BIGNUM,sec);

i

lambda[Pr] [Ce]=-1lambda[Ce] [Ce];
lambda[Nd] [Pr]=-1lambda[Pr] [Pr];
lambda [Pm] [Nd]=-1ambda [Nd] [Nd] ;
lambda[Sm] [Pm]=-1ambda [Pm] [Pm] ;

return O;

int set_lambda_150(int A){
const int AO=150;
enum{Ce,Pr,Nd,Pm,Sm,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdal[i] [j]1=0;}

set_halflife(Ce,
set_halflife(Pr,
set_halflife(Nd,
set_halflife(Pm,
set_halflife(Sm,

58, 0, 4.0,sec);
59, 0, 6.19,sec);
60, 0, BIGNUM,sec);
, 61, 0, 2.68,hour);
62, 0, BIGNUM,sec);

-

-

== e >

-

lambda [Pr] [Ce]=-1lambda[Ce] [Ce];
lambda[Nd] [Pr]=-lambda[Pr] [Pr];
lambda[Pm] [Nd]=-1ambda [Nd] [Nd] ;
lambda[Sm] [Pm]=-1lambda[Pm] [Pm] ;

return O;

int set_lambda_151(int A){
const int AO=151;
enum{Cel,Ce,Pr,Nd,Pm,Sm,Eu,END};
int i,j;
nn=END;
printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A1=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn; j++)lambdali] [j1=0;}

set_halflife(Ce, A, 58, 0, 1.76,sec);

set_halflife(Cel,A, 58, 1, 1.20,sec);

set_halflife(Pr, A, 59, 0, 18.90,sec);
set_halflife(Nd, A, 60, O, 12.44,min);
set_halflife(Pm, A, 61, 0, 28.40,hour);
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set_halflife(Sm, A, 62, 0, 90.0,year);
set_halflife(Eu, A, 63, 0, BIGNUM,sec);

lambda[Pr] [Ce]=-1lambda[Ce] [Ce];
lambda [Pr] [Cel]=-1lambda[Cel] [Cel];
lambda[Nd] [Pr]=-lambda[Pr] [Pr];
lambda [Pm] [Nd]=-1ambda [Nd] [Nd] ;
lambda[Sm] [Pm]=-lambda[Pm] [Pm] ;
lambda[Eu] [Sm]=-1lambda [Sm] [Sm] ;

return O;

int set_lambda_152(int A){
const int AO=152;
enum{La,Ce,Pr,Nd,Pml1,Pm,Eu2,Eul,Eu,Gd,Sm,END};
int i,j;
nn=END;
printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdal[i] [j]1=0;}

set_halflife(La, A, 57, 0, 0.000000150,sec);
set_halflife(Ce, A, 58, 0, 1.4,sec);
set_halflife(Pr, A, 59, 0, 3.57,sec);
set_halflife(Nd, A, 60, 11.4,min);
set_halflife(Pm, A, 61, 4.12,min) ;
set_halflife(Pml,A, 61, 13.8,min) ;
set_halflife(Sm, A, 62, BIGNUM, sec);
set_halflife(Eu, A, 63, 13.528,year);
set_halflife(Eul,A, 63, 9.3116,hour) ;
set_halflife(Eu2,A, 63, 96.0,min) ;
set_halflife(Gd, A, 64, BIGNUM, sec);

- -

-

- - -

ONHFP»H OO OO

-

lambda[Ce] [La]=-1lambda[La] [La];

lambda [Pr] [Ce]=-1ambda[Ce] [Ce];
lambda[Nd] [Pr]=-lambda[Pr] [Pr];

lambda [Pm] [Nd]=-1ambda [Nd] [Nd] ;
lambda[Sm] [Pm]=-1lambda[Pm] [Pm] ;
lambda[Sm] [Pm1]=-1ambda [Pmi] [Pm1];
lambda [Eu] [Eu2]=-lambda [Eu2] [Eu2] ;
lambda[Sm] [Eul]l=-lambda[Eul] [Eul]*0.28;
lambda[Gd] [Eul]=-lambda[Eul] [Eul]*0.72;
lambda[Sm] [Eu] =—lambda[Eu] [Eu] *0.721;
lambda[Gd] [Eu]l=-1lambda [Eu] [Eu] *0.279;

return O;

int set_lambda_153(int A){
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const int AO=153;

enum{La,Ce,Pr,Nd,Pm,Smi1,Sm,Eu,END};

int i,j;
nn=END;

printf ("set_lambda: A=Yd nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdali] [j]1=0;}

set_halflife(La,
set_halflife(Ce,
set_halflife(Pr,
set_halflife(Nd,
set_halflife(Pm, A,
set_halflife(Sm, A,
set_halflife(Smi,A,
set_halflife(Eu, A,

>

b

b

b

= e e e e

57,
58,
59,
60,
61,
62,
62,
63,

0.00000011,sec);//MUG I OOO
0.0000001,sec) ;
4.28,sec);

31.6,sec);

0, 5.25,min);

0, 46.284,hour) ;

1, 0.0106,sec);

0, BIGNUM,sec);

0,
0,
0,
0,

lambda[Ce] [Lal=-1lambda[La] [La];
lambda[Pr] [Ce]=-1lambda[Ce] [Ce];
lambda[Nd] [Pr]=-lambda[Pr] [Pr];
lambda [Pm] [Nd]=-1lambda [Nd] [Nd] ;
lambda[Sm] [Pm]=-lambda[Pm] [Pm] ;
lambda[Sm] [Sm1]=-1ambda[Sm1] [Sm1];
lambda[Eu] [Sm]=-1lambda [Sm] [Sm] ;

return O;

int set_lambda_154(int A){

const int AO=154;

enum{Pr,Nd,Pm1,Pm,EFul,Eu,Sm,Gd,END};

int i,j;
nn=END;

printf ("set_lambda: A=%d nn=%d\n",A,nn);
if (A'=A0 || M<nn) exit(1);
for(i=0;i<nn;i++){for(j=0;j<nn;j++)lambdali] [j1=0;}

set_halflife(Pr, A,
set_halflife(Nd, A,
set_halflife(Pm, A,
set_halflife(Pmi,A,
set_halflife(Sm, A,
set_halflife(Eu, A,
set_halflife(Eul,A,
set_halflife(Gd, A,

59,
60,
61,
61,
62,
63,
63,
64,

0, 2.3,sec);

0, 25.9,sec);
0, 2.68,min);
1, 1.73,min);
0, BIGNUM,sec);
0, 8.601,year);
1, 46.3,min);
0, BIGNUM,sec);

lambda [Nd] [Pr]=-1lambda[Pr] [Pr];
lambda [Pm] [Nd]=-1ambda [Nd] [Nd] ;
lambda [Sm] [Pm]=-1ambda [Pm] [Pm] ;
lambda[Sm] [Pm1]=-lambda[Pm1] [Pm1];
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lambda[Sm] [Eu] =-1lambda[Eu] [Eu] *0.0002;
lambda[Gd] [Eu]=-1lambda[Eu] [Eu] *0.9998;
lambda[Eu] [Eul]l=-1lambda[Eul] [Eul];

return O;
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